FREE % LLAR G AR R AT RIS v

Jingxian Huatai Hydraulic Rubber Products Co., Ltd.

R T P NN

T

| MANAGEMENT SUSTEM CLRTITIC AT

M1 VSE I i T AR K

Company Proflle /Ej

SELFAFESBEHRERATAMTEEEENEERE. REEHZzS—
LA REERAEEX, £/, 08, HET —EOREEELL, AFTHRA
BERE. ITZig&x#. RUFEFE. FRAEFE, TLEFREREE:L.
AEEWMEEL, FiEREL. BUKEEL, RELHS, FRlTZEATIENM.
RE . RAVHE. AR hEESIAEENRESEE. SAMNEH RS,

AFEEIETF19874, MAERI2005A, &1t &H30000FE 7%,

ARBEARNEEE, BELHENESRNIZE, NERTEIHRER, T
B, MEY., BEVKEFI0RE, REETREREL10007HEFTEES., #
RPN BRSWN. BEXRERNIEE, HEFERENTRIBHERT RN
R R FE

2 AIEE TCE, 1ISO001EREINEGER, MERERALETREELER.

NFBRLERA "ARBE" HEE, BlGERaE, BOEEE, FREE
HOBR. 2., &, T, FEISITERMMBEK, MERFKR, RITGSHREHRR.
RE. RTBWEES, HHETERELZBRME )

Jingxian Huatai Hydraulic Rubber Products Co.,Ltd, which located in the economic development area of Jingxian
Hebei province-the hometown of hydraulic hose fitting, is a scientific research, manufacturing and sales of hi-tech
enterprise. The company owns strong technical force, advanced technological equipment, complete detection means
and reliable product quality. The main products include hydraulic hose fitting, stainless steel fitting, adapter, flange,
mining K-type fitting and hose assembly etc.. The products are widely used on hydraulic connection, power and
control system of construction machinery, mining machinery, agriculture machinery, metallurgical equipment, wind
power and etc..

HT Hydraulics is founded in 1987. Around 200 employee, 30,000 square meter.

With solid technical capability, there are over 400 units of the advanced equipment in HT Hydraulics for production
and inspection, such as precise automatic CNC machine, bending machine, crimp machine, hot forging machine. The
annual production capacity has achieved 10 million pieces of hydraulic fitting. The inspection equipment such as
projector for size, carbon sulfur analyzer and salt-spray test equipment provide credible monitoring for high quality
performance.

HT Hydraulics has got CE and 1SO9001certification and is in the rapid development together with excellent
customers.

HT Hydraulics sticks to the core ideology “People Sincere, Quality Real” , endeavours to build the brand and
devote all attention to make success. Export business mainly conduct with more than 30 countries and area in
Europe, American, Australia, Asia and Africa. In the future, HT Hydraulics will fully enhance the capability on quality
and velocity. Struggling to facilitate development!



7 1 fnE#HN BERAMINE  BRAHFN TEH W mERRH
Punching Machine Projector Crimp Machine Precision Deep Carbon Sulfur Analyzer Bending Machine Sclerometer Projector Salt-spray Test Machine
Gun Drilling Machine




Sy

FERRULE

£ FERRULE

SAE 100R7/R8IXEER
Ferrule For SAE 100 R7/R8 Hose

. B i HOSE BORE Jis DIMENSIONS
PART NO. AWWDN | =% DASH L D
ﬁ Y00018-02 4 02 25 13.5
e 1o Y00018-03 5 03 27 15
I:"<"<" Y00018-04 6 04 30 18
Y00018-04A 6 04 29 14
Y00018-05 8 05 30 18.8
Y00018-06 10 06 34 21
Y00018-08 13 08 34 25.5
Y00018-08A 13 08 34 27.2
Y00018-10 16 10 37 31.5
Y00018-10A 16 10 37 28.6
Y¥00018-12 19 12 43 33
GB 3863 1%, DIN 20022 1ST,SAE 100 RIAKEER
Y00100 For GB3863 1Type, DIN 20022 1ST,SAE 100 R1A Hose Ferrule
L = 4 % HOSE BORE JUsf DIMENSIONS
PART NO. A# M DN b5 % DASH L D
Y00100-04 6 04 30 20
Y00100-05 8 05 31 21
Y00100-06 10 06 32 23
Y00100-08 13 08 34 285
Y00100-10 16 10 37 32
Y00100-12 19 12 42 36
Y00100-16 25 16 50 43
Y00100-20 32 20 59 50.5
Y00100-24 38 24 72 57
/' Y00100-32 51 32 74 70
GB 3863 22, DIN 20022 25T,SAE 100 RZAGREER
Y00200 For Gb3863 2 Type,DIN 20022 2ST,SAE 100 R2A Hose Ferrule
. e ¥ ¥ HOSE BORE JLsF DIMENSIONS
PART NO. AfiM e DN 155 DASH L D
g ’ y00200-04 6 04 30 21
) i I la ¥00200-05 8 05 3l 225
Y00200-06 10 06 32 24
Y00200-08 13 08 34 28.7
Y00200-10 16 10 37 31.8
Y00200-12 19 12 43 36
Y00200-16 25 16 50 44
Y00200-20 32 20 59 545
Y00200-24 38 24 74 62
Y00200-32 51 32 78 75

|01

YO0110A

Ui B SAE 100RIAT/DIN 20022 ISNXEERF

Ferrule For SAE 100RIAT/DIN 20022 SN Hose

n s i HOSE BORE Ji+F DIMENSIONS
PART NO. AF A DN 17 % DASH L D
_ﬂ 1 Y00110-04A 6 04 30 21
_ﬂl]]]ﬂ. o Y00110-05A 8 05 31 218
Y00110-06A 10 06 32 243
Y00110-08A 13 08 34 28.4
Y00110-10A 16 10 37 32
Y00110-12A 19 12 43 35.5
Y00110-16A 25 16 50 44
Y00110-20A 32 20 59 53
Y00110-24A 38 24 74 59.3
Y00110-32A Ll 32 78 73.5
SAE 100RIAT/DIN 20022 1SN EERF
Y00110 Ferrule For SAE 100RIAT/DIN 20022 SN Hose
L v % ¥ HOSE BORE Ji<f DIMENSIONS
PART NO. M DN {r % DASH L D
W Y00110-04 6 04 30 20.6
" ¥00110-05 8 05 31 208
¥00110-06 10 06 32 23.3
¥00110-08 13 08 34 27
Y00110-10 16 10 37 32
Y00110-12 19 5 43 34
Y00110-16 25 16 50 42.6
Y00110-20 32 20 59 52
Y¥00110-24 38 24 74 58
Y¥00110-32 51 32 78 72
GB 3863 23, DIN 20022 2ST,SAE 100 RZATEREE
Y00210 For Gb3863 2 Type,DIN 20022 25T,SAE 100 R2AT Hose Ferrule
5 % HOSE BORE JL<i DIMENSIONS
L PART NO. AW DN | b5 % DASH ¥ D
7 y00210-04 6 04 30 223
f[ﬂ]_l]f ¥00210-05 3 05 31 23
S B ¥00210-06 10 06 32 25
¥00210-08 13 08 34 287
¥00210-10 16 10 37 3L5
¥00210-12 19 12 43 35.5
Y00210-16 25 16 50 45
¥00210-20 32 20 59 55
y00210-24 38 24 74 62.5
¥00210-32 51 32 78 75.5

v AEEH F TR,

Don'trecommend for engineering machine.

02



£ FERRULE

£ FERRULE

SAE R2AT DIN 20022 2SN #EER

Y03310 Ferrule For SAER2AT DIN 20022 25N Hose
re # HOSE BORE < DIMENSIONS
L PARTNO. 2 H A 7 DN i % DASH L D
Y03310-04 6 04 30 23.2
m ¥03310-05 8 05 30 24
- 1o ¥03310-06 10 06 32 26.3
y03310-08 13 08 34 29.9
= Y03310-10 16 10 36 33.2
Y03310-12 19 12 42 37.8
Y03310-16 25 16 50 46.9
Y¥03310-20 32 20 59 59
Y03310-24 38 24 72 67
Y03310-32 51 32 75 80
EFF—ER4RNAREER
Y01100 Ferrule For China Standard 1-steel Wire Braid Hose
fou # % HOSE BORE Ji<} DIMENSIONS
k PART NO. A WA DN t7 % DASH T D
r Y01100-04 6 04 30 19
:ﬂﬂ]]]m:[[ra ¥01100-05 8 05 32 21
¥01100-06 10 06 32 23
Y¥01100-08 13 08 34 28
Y01100-10 16 10 37 31
¥01100-12 19 12 43 34
¥01100-16 25 16 50 41
Y01100-20 32 20 59 49
¥01100-24 38 24 74 55
EF_ER4RANEER
Y01200 Ferrule For China Standard 2-steel Wire Braid Hose
0 e # ¥ HOSE BORE S} DIMENSIONS
PART NO. 2 ¥ 4§ DN 5 % DASH (il D
Y 01200-04 6 04 30 21
o Y 01200-05 8 05 31 23
Y 01200-06 10 06 32 25
Y 01200-08 13 08 34 31
Y 01200-10 16 10 39 34
Y 01200-12 19 12 43 37
Y 01200-16 25 16 50 43
Y 01200-20 B 20 59 51
Y 01200-24 38 24 74 57

|03

EF=ERLEAREER

Y01300 Ferrule For China Standard 3-steel Wire Braid Hose
L e ¥t HOSE BORE L DIMENSIONS
— PART NO. L WP i DN i %5 DASH L D
ﬂj]jmﬂ_ ¥01300-05 8 05 32 25.5
] o Y¥01300-08 13 08 34 33
Y01300-10 16 10 39 36
Y01300-12 19 12 43 39
Y01300-16 25 16 50 45
Y01300-20 32 20 59 53
Y01300-24 38 24 74 59
¥01300-32 51 32 78 72
SAE 100 R12/20-24 GB 10544 58 IEER
Y01400 Ferrule For SAE 100 R12/20-24 GB 10544 5Type Hose
" e ¥ HOSE BORE J5 DIMENSIONS
PART NO. AW Wi DN #5 5 DASH L D
Y01400-06 10 06 39 27.5
A Y01400-08 13 08 41 315
¥01400-10 16 10 43 34
¥01400-12 19 12 51 39
¥01400-16 25 16 615 46.5
Y01400-20 32 20 67.5 55.5
Y01400-24 38 24 75 63.5
Y01400-32 51 32 79 78
SAE 100 R12/06-16 GB 10544 384/20-32,DIN 20023-4P,45H/10-16 STEER
Y00400 Ferrule For SAE 100 R12/06-16 ,GB 10544 3 Type/20-32,DIN 20023-4P4SH/10-16 Hose
£ %4 HOSE BORE J DIMENSIONS
L PART NO. AfHiE DN 5% DASH L D
= - Y00400-04 6 04 37.5 22
*‘|'m— o Y00400-06 10 06 39 25.5
= Y00400-08 13 08 41 29
”l ¥00400-10 16 10 43 34
Y00400-12 19 12 51 37
Y00400-16 25 16 615 46.5
Y00400-20 32 20 67.5 57
Y00400-24 38 24 75 65
¥00400-32 51 32 79 79

04|



H°

£ 1] FERRULE

DIN 20023-4SH IEER
Y00401 Ferrule For DIN 20023-4SH Hose
L ®e # % HOSE BORE Jis+ DIMENSIONS
PARTNO. AW AR DN #7% DASH L D
T IIIIIE Y00401-20 32 20 67.5 53
ol Y00401-24 38 24 75 61
Y00401-32 51 32 79 77
Y00621 SAE 100 R13/R15 4SH/12-16 ERRIRER
Interlock Ferrule For SAE 100 R13/R15 4SH/12-16 Hose
(5 & HOSE BORE Jisf DIMENSIONS
k PART NO. AF A DN = % DASH L D
Y00621-12 19 12 53 395
-l " I m o Y¥00621-16 25 15 66 48.5
Y00621-20 32 20 88 59
Y¥00621-24 38 24 102 69.3
Y00621-32 51 32 106 84.45

RE X

Hydraulic Hose Fitting

I'OS



®
P

R
% % /% ﬁu HOSE FITTING  onePiece Fitting

Y10411-RW

p S =
ﬁﬁ?ﬁ%%ﬁ” HOSE FITTING  one Piece Fitting

REISMEL24°WEEE RS
Metric Male 24° Cone Seat L.T.ISO 12151-2 -DIN3861

5 BT #4 HOSE BORE R S5 DIMENSIONS
PART NO. THREAD T | 2 #N42DN | #55 DASH | TUBE 0.D 1 D 1
Y10411-12-04RW M12X1.5 6 04 6 13.5| 6 14
Y10411-14-04RW M14X1.5 6 04 8 13.5| 8 17
Y104 11-14-06RW M14X1.5 8 05 8 14.5| 8 17
Y10411-16-04RW M16X1.5 6 04 10 16.5| 10 17
Y10411-16-05RW M16X1.5 8 05 10 16.5| 10 17
Y10411-16-06RW M16X1.5 10 06 10 16.5| 10 17
Y10411-18-05RW M18X1.5 8 05 12 16.5| 12 19
Y10411-18-06RW M18X1.5 10 06 12 16.5| 12 19
Y10411-22-06RW M22X1.5 10 06 15 17.5| 15 24
Y10411-22-08RW M22X1.5 13 08 15 18 | 15 24
Y10411-26-08RW M26X1.5 13 08 18 19 | 18 27:
Y10411-26-10RW M26X1.5 16 10 18 19.5| 18 2%
Y10411-30-10RW M30X2 16 10 22 22.5| 22 32
Y10411-30-12RW M30X2 19 12 22 22.5| 22 32
Y¥10411-36-16RW M36X2 25 16 28 25.5| 28 41
Y10411-45-20RW M45X2 32 20 35 27.5| 35 46
¥10411-52-24RW M52X2 38 24 42 27.5| 42 55

1L HPUS T RAEE . 20 e U5 20k Y10412-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis ¥10412-XX-XXRW.

DHIRRE24ETHORE RS

Y20411-TRW Metric Female 24°Cone O-ring L.T.ISO 12151-2-DIN3865
% [y #% HOSE BORE ETHR JUs DIMENSIONS

PARTNO.  [THREADT | Z#/A%DN | }i* DASH | TUBEQE. | L | s1

Y20411-12-04WRW | M12X1.5 6 04 6 26 17

E l E |_j Y 20411-14-04TRW | M14X1.5 6 04 8 235| 17

Y 20411-16-04TRW | M16X1.5 6 04 10 205| 19

"I 7 | ¥20411-1605TRW | Mi6X1.5 8 05 10 255 19

M Y 20411-18-05TRW | M18X1.5 8 05 12 235( 22

L Y 20411-18-06TRW | M18X1.5 10 06 12 265| 22

Y 20411-22-08TRW | M22X1.5 13 08 15 285| 27

Y 20411-26-08TRW | M26X1.5 13 08 18 30 32

Y 20411-26-10TRW | M26X1.5 16 10 18 32 32

Y 20411-30-10TRW M30X2 16 10 22 325| 36

F Y 20411-30-12TRW M30X2 19 12 22 335| 36

Y20411.36-12TRW | M36X2 19 B 28 35 | 41

Y 20411-36-16TRW M36X2 25 16 28 36 41

Y 20411-45-16TRW M45X2 25 16 35 34 50

Y20411-45-20TRW M45X2 32 20 35 35 50

Y 20411-52-20TRW M52X2 32 20 42 38 60

Y20411-52 24TRW | _M52X2 s 20 42 38 | 60

| 07

e 1. R USRI FEAEAT. 20 TR H AT L D 80U Y20412-XX-XXTRW
Note:1.For use with braided hoses.
2 If use with spiral hoses,hose fitting series number is  ¥20412-XX-XXTRW.

Y20441-TRW

5 %
T

Y20491-TRW

AS° B FIIMRO24° HHORE RS
45°Metric Female 24°Cone O-ring L.T.ISO 12151-2-DIN3865

15 BRET #1 HOSE BORE BrER JLs} DIMENSIONS

PART NO. THREADT | 248k %EDN | §+5 DASH | TUBE O.E. L H S1
Y20441-14-04TRW | M14X1.5 6 04 8 398 | 16 17
Y20441-16-04TRW | M16X1.5 6 04 10 408 | 17 19
Y20441-16-05TRW | M16X1.5 8 05 10 40.7 | 17 19
Y20441-18-05TRW | M18X1.5 8 05 12 422|185 22
Y20441-18-06TRW | M18X1.5 10 06 12 445|185 22
Y20441-22-08TRW | M22X1.5 13 08 15 50.8 | 19.5 27
Y20441-26-08TRW M26X1.5 13 08 18 548|235 32
Y20441-26-10TRW | M26X1.5 16 10 18 62.7 | 23.5 32
Y20441-30-10TRW M30X2 16 10 22 64.7 [ 25.5 36
Y¥20441-30-12TRW M30X2 18 12 22 682(255 36
Y20441-36-12TRW M36X2 19 12 28 747 | 32 41
Y20441-36-16TRW M36X2 25 16 28 814 | 32 Rl
Y20411-45-16TRW M45X2 25 16 35 874 | 38 50
Y20411-45-20TRW M45X2 32 20 35 98.8| 38 50
Y20441-52-20TRW M52X2 32 20 42 105.3|44.5 60
Y20441-52-24TRW M52X2 38 24 42 115.6/44.5 60
P 1, RS FESWGT. 2. W H TSR 0T S0 Y20441-XX-XXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis  Y20441-XX-XXTRW.

90" BAFIMREL24 HEHORZ KT
90°Metric Female 24°Cone O-ring L.T.ISO 12151-2-DIN3865

i BaT BTHR th DIMENSIONS
'PART NO.. THREAD T TUBE O.E. H St
Y20491-14-04TRW| M14X1.5 8 32 30.5 17
)49 | M16X1.6 10 S20|E a3 19
M16X1.5 10 325| 33 19
MiBX15 12 |%25 B
M18X1.5 12 36.5| 36 22
; [RW| M22X1.5 15 445|405 27
Y20491 26-08TRW | _M26X1.5 18 445|515 32
¥20491-26-10TRW| M26X1.5 18 55 | 51.6 :
v20491 30-10TRW| _ M30X2 22 55 | 56 36
-1 ‘M30x2 22 62 | 56 36
Y20491-36- 12TRW M36X2 28 62 | 68.5 1 41
¥20491-36-16TRW|  M36X2 28 74 | 685 My
Y20491-45- 16TRW Md45X2 35 74 | 785 50
) i MasX2 35 |915]785 50
M52X2 42 91.5| 95 60
; 42 108 | 95
H®: 1. &'T'fL‘J #H*“jm VAT 20 I T 45680 105 250k Y20492-XX-XXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Y20492-XX-XXTRW.

08|



®
o

$ 3. £ %] HOSE FITTING

T
One Piece Fitting

L7

>

i

Nl

$2 3. £ %] HOSE FITTING

One Piece Fitting

DEISMEL24° IR E RS
Y10511-RW Metric Male 24° Cone Seat H.T.ISO 12151-2 -DIN3861
£ BRAT 4% HOSE BORE EFHE s DIMENSIONS
PART NO. THREAD T | A ¥/~ 2DN | #7 % DASH| TUBE 0.D. I8 D S1
3 ¥10511-14-04RW | M14X1.5 6 04 6 24 6 14
Y10511-16-04RW | M16X1.5 6 04 8 26.5 8 17
i CL Y10511-18-04RW | M18X1.5 6 04 10 26.5 10 19
Y10511-18-06RW | M18X1.5 10 06 10 27 10 19
L Y10511-20-05RW | M20X1.5 8 05 12 28 12 22
Y10511-20-06RW | M20X1.5 10 06 12 28 12 22
Y10511-22-06RW | M22X1.5 10 06 14 28.5 14 24
Y10511-24-08RW | M24X1.5 13 08 16 32 16 27
L Y10511-30-10RW M30x2 16 10 20 36 20 32
¥10511-30-12RW | M30X2 19 12 20 36 20 32
Y10511-36-12RW M36X2 19 12 25 40 25 41
Y10511-36-16RW M36X2 25 16 25 41 25 41
Y10511-42-16RW M42Xx2 25 16 30 43 30 46
Y10511-52-20RW M52X2 32 20 38 48 38 55

e 1 RPICSH PSSR . 2. Wi HFASHE S MO Y10512-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Y10512-XX-XXRW.

LR NBR24° EFORERS

Y20511-TRW Metric Female 24°Cone O-Ring H.T.ISO 12151-2-DIN3865
fiv saT #4% HOSE BORE BTHE JUst DIMENSIONS
PART NO. THREADT | ZA#A#DN | bi% DASH | TUBEOE. | L s1
Y20511-16-04 TRW M16X1.5 6 04 8 24 19
:‘ﬂ Y20511-18-04TRW | M18X1.5 6 04 10 25 22
,_l Y20511-18-05TRW | M18X1.5 8 05 10 25 22
! | ! | I Y¥20511-18-06TRW | M18X1.5 10 06 10 25 22
L Y20511-20-05TRW | M20X1.5 8 05 12 25.5 24
Y20511-20-06TRW | M20X1.5 10 06 12 255 24
Y20511-22-06TRW | M22X1.5 10 06 14 25.5 27
Y20511-24-08TRW | M24X1.5 13 08 16 30 30
Y20511-30-10TRW | M30X2 16 10 20 34 36
Y20511-30-12TRW | M30X2 19 12 20 35
Y20511-36-12TRW | M36X2 19 12 25 32 46
Y20511-36-16TRW | M36X2 25 16 25 355 46
Y20511-42-16TRW | M42x2 25 16 30 36 50
Y20511-52-20TRW | M52x2 32 20 38 36 60

|09

i 1. PG H MO . 2. W TSR0 U S SO Y20512-XCXXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20512-XX-XXTRW.

Y20541-TRW

Y20591-TRW

=

AS°AHIRIRG24°H DRBERT
45°Metric Female 24°Cone O-Ring H.T.ISO 12151-2-DIN3865

e BT %% HOSE BORE BWFHE J{<+ DIMENSIONS

PART NO. THREADT | A#MfDN | 55 DASH | TUBEO.E. | L H S1
Y20541-16-04TRW | M16X1.5 6 04 8 40.8 | 17 19
Y20541-18-04TRW | M18X1.5 6 04 10 40.8 | 17 22
Y20541-18-05TRW | M18X1.5 8 05 10 41.7| 18 22
Y20541-18-06TRW | M18X1.5 10 06 10 445185 22
Y20541-20-05TRW | M20X1.5 8 05 12 41.7| 18 24
Y¥20541-20-06TRW | M20X1.5 10 06 12 44.5/18.5 24
Y20541-22-06TRW | M22X1.5 10 06 14 48.9 229 27
Y20541-24-08TRW | M24X1.5 13 08 16 523| 21
Y¥20541-30-10TRW | M30X2 16 10 20 64.2| 25 36
Y¥20541-30-12TRW |  M30X2 19 12 20 73.2|305
Y20541-36-12TRW | M36X2 19 12 25 73.2|30.5 46
Y20541-36-16TRW | M36X2 25 16 25 84.9|355 46
Y20541-42-16TRW | M42x2 25 16 30 84.9|35.5 50
Y20541-52-20TRW | M52X2 32 20 38 02.75 42 60
A 1 TS FREURE. 2. W THSEE LS B0h Y20642-XX-XXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y20542-XX-XXTRW.

90°BAFIRRE24° BEERT
90°Metric Female 24°Cone O-Ring H.T.ISO 12151-2-DIN3865

55 L #H HOSE BORE ErHE JL:] DIMENSIONS

PART NO. THREADT |AF:/#EDN | 4% DASH | TUBE Q.E. L H S1
Y20591-16-04TRW | M16X1.5 6 04 8 32 | 32 19
Y20591-18-04TRW | M18X1.5 6 04 10 32 | 32 22
Y20591-18-05TRW | M18X1.5 8 05 10 325 34 22
Y20591-18-06TRW | M18X1.5 10 06 10 365|355 22
¥20591-20-05TRW | M20X1.5 8 05 12 325| 34 24
Y¥20591-20-06TRW | M20X1.5 10 06 12 365|355 24
Y20591-22-06TRW | M22X1.5 10 06 14 36.5| 43 27
Y¥20591-24-08TRW | M24X1.5 13 08 16 445 | 43
Y20591-30-10TRW |  M30X2 16 10 20 55 |49.5 36
Y20591-30-12TRW M30X2 19 12 20 62 | 59
Y20591-36-12TRW |  M36X2 19 12 25 62 | 59 46
Y20591-36-16TRW | M36X2 25 16 25 74 | 70 46
Y20591-42-16TRW M42X2 25 16 30 74 | 70 50
Y¥20591-52-20TRW | M52X2 32 20 38 915]| 87 60
ke 1, RS H PR, 2. W H TSRS SO Y20592-XX-XXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is  Y20592-XX-XXTRW.

1ﬂ|



® — st —#
St 3 Faren N
?Xﬁ%ﬁ%%ﬂ HOSE FITTING  one Piece Fitting ﬁﬁ%i’: %ﬁ” HOSE FITTING  one Piece Fitting
HEIMENC0 HER S AREES BB AREL 45° 60°
Y12611A-RW BSP Male Double Use For 60°Cone Seat Or Bonded Seal ISO 121516 Y22641-RW 45°BSP Female eoi%?en;s% 12?12%%
e We T #/t HOSE BORE J&J' DIMENSIONS R {2y 4% HOSE BORE i} DIMENSIONS
s1 PART NO. THREADT | AFRAFEDN | b5 DASH L 51 PART NO. THREADT | AF5P4EDN | I35 DASH L s1
Y12611A-04-04RW G1I4'—'X19 3] 04 255 19 Y22641-04-04RW | G1/4"X19 6 04 388| 15 19
YAZB1TAZ06 DREW| BEERRT 8 05 27.5 22 Y22641-04-05RW | G1/4"X19 8 05 417] 18 19
Y12611A-06-06RW G31’8'X19 10 06 26 22 ¥22641-06-04RW | G3/8"'X19 6 04 39.8| 16 22
Y12611A-06-08RW G3/87X19 13 08 28 22 Y22641-06-05RW | G3/8"X19 8 05 41.7| 18 22
Y12611A-08-06RW G11'2”X14 10 06 32 27 Y22641-06-06WR | G3/8"X19 10 06 44 | 18 22
Y12611A-08-08RW m/zgm 13 08 33 27 Y22641-06-08RW | G3/8"X19 13 08 543| 23 22
Y12611A-08-10RW GHZ—XM 16 10 34 27 Y22641-08-08RW | G1/2"X14 13 08 513| 20 27
YA2BIAAD-DERWH RSB 13 08 36 30 Y22641-10-08RW | G5/8°X14 13 08 54.3] 23 30
Y12611A-10-10RW GS:‘B—XM 16 10 37 30 ¥22641-10-10RW | G5/8°X14 16 10 64.2| 25 30
Y12611A-12-08RW | Ga/a 14 13 08 35 32 ¥22641-12-10RW | G3/4"X14 16 10 67.2| 28 32
Y12611A-12-10RW | G3/4'X14 16 10 36 32 " [Y22641-12-12RW | Ga/ax14 19 12 717 29 32
Y12611A-12-12RW | G3/4"X14 19 12 37 32 Y22641-16-16RW | G1"X11 25 16 844 35 41
A ImmmmE; T K e e
Y¥12611A-20-16RW | G1. 1/4°X11 25 16 45 50 Y22641-24. 2400 | G142 = - e -
Y12611A-20-20RW | G1. 1/4"X11 32 20 45 50 Y2641 32330 |1 - % e 0
A ik 1, RS TR . 2, AT ASEEAT{US O Y22642-XX-XXRW  Note:1.For use with
z: ;Zl:ﬁ;::;g:w g: :/;_;:1 2: 22 :g ;: braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22642-XX-XXRW.
Y12611A-32-32RW | G2°X11 51 32 54.5 70
i 1. ZPRTH FRAHGT. 2. WHEH LT IS 20 Y12612-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Y12612-XX-XXRW.

HERBN60° R 90°EERIRLNE0°HMEE
Y22611-RW BSP Female 60° Cone ISO 12151-6 Y22691-RW 90°BSP Female 60° Cone ISO 12151-6

%4 HaT 47 HOSE BORE Js) DIMENSIONS %= AT ¥4 HOSE BORE Jis D MENSIONS
- PART NO. THREADT | #Fk#4EDN | 'y DASH £ S1 PART NO. THREADT | A#A4EDN | #i% DASH I H S1
—% Y¥22611-02-04RW | G1/8"X28 6 04 15 14 L ¥22691-02-04RW G1/8"X28 6 04 32 | 27 14
Y22611-04-04RW | G1/4'X19 6 04 19 19 ;ﬁl’_l-. Y¥22691-04-04RW | _G1/4'X19 6 04 32 | 28 19
- 1 Y22611-04-05RW | G1/4"X19 8 05 19 19 / ¥22691-04-05RW | G1/4"X19 8 05 32.5(315 19
- > Y22611-04-06RW | G1/4"X19 10 06 19 19 T ¥22691-04-06RW G1/4"X19 10 06 365 34 19
L Y22611-06-04RW | G3/8"X19 6 04 19.5 22 - ¥22691-06-04RW | G3/8"X19 6 04 32 | A 22
Y¥22611-06-05RW | G3/8"X19 8 05 19 22 4 ¥22691-06-05RW | G3/8"X19 8 05 325 34 22
Y¥22611-06-06RW | G3/8"X19 10 06 19.5 22 T ¥22691-06-06RW | G3/8"X19 10 06 365 34 22
Y¥22611-06-08RW | G3/8"X19 13 08 20 22 Y¥22691-08-08RW | G1/2"X14 13 08 445 41 27
Y22611-08-08RW | G1/2"X14 13 08 21.5 27 ¥22691-10-08RW | G5/8"X14 13 08 44.5| 45 30
Y¥22611-10-08RW | G5/8"X14 13 08 22.5 30 o ¥22691-10-10RW G5/8"X14 16 10 55 | 51 30
Y22611-10-10RW | G5/8"X14 16 10 23 30 ¥22691-12-10RW | G3/4"X14 16 10 55 | 56 32
4 Y¥22611-12-10RW | G3/4"X14 16 10 24 32 Y¥22691-12-12RW | G3/4"X14 19 12 62 | 58 32
— Y22611-12-12RW | G3/4'X14 19 12 24 32 ¥22691-16-16RW G1'X11 25 16 74 | 70 41
Y¥22611-16-14RW | G1"X11 22 14 26 41 ¥22691-20-20RW | G1.1/4"X11 32 20 915| 85 50
Y22611-16-16RW G1"X11 25 16 27 41 Y22691-24-24RW | G1.1/2"X11 38 24 108 | 100 55
¥22611-20-20RW | G1.1/4"X11 32 20 30.5 50 ¥22691-32-32RW G2'X11 51 32 133.8/ 140 70

Y22611-24-24RW | G1.1/2'X11 34 24 81.5 55 VE: 1, Bt AUIFROURAT. 2, W07 FFARLE4R 1% U0 Y22692-XX-XXRW. Note:1.For use with

¥22611-32-32RW | G2'X11 51 32 34 70 braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22692-XX-XXRW.
i 1 BPACTHFRAEAT. 20 WEEH LU O Y 22612-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22612-XX-XXRW.

|11 12|



®

—{&= —Az
> P >
BE Sk R %] HOSEFITTING  One Piece Fitting B8 3k R %] HOSE FITTING  One Piece Fitting
SEHDICHMRET A SMEE 2| ICHMBET 4° R
Y16711-RW JIC Male 74° Cone ISO 12151-5 -SAE J514 Y26711-RW JIC Female 74° Cone Seat ISO 12151-5 -SAE J514
&5 AT 4% HOSE BORE < DIMENSIONS R BT #4F HOSE BORE /45 DIMENSIONS
PART NO. THREAD T | AFA44DN | #5% DASH L st PART NO. THREAD T | 4 ##4i?DN | 4% DASH L 51
Y16711-04-04RW | 7/16'X20 6 04 265 12 Y26711-04-04RW | 7/16°X20 6 04 15 14
51 Y16711-05-04RW 1/2"X20 6 04 26.5 14 Y¥26711-05-05RW 1/2"X20 8 05 15,5 T
Y16711-05-05RW | 1/2"X20 8 05 265 14 Y26711-06-05RW | 9/16°X18 8 05 15.5 19
'_m Y16711-05-06RW | 1/2°X20 10 06 26,5 17 Y26711-06-06RW | 9/16'X18 10 06 155 19
— Y16711-06-04RW | 9/16"X18 6 04 26.5 17 Y26711-06-08RW | 9/16"X18 13 08 16 19
OO Y16711-06-05RW | 9/76°X18 8 05 265 7 Y26711-08-06RW | _3/4'X16 10 06 175 22
Y16711-06-06RW 9/16"X18 10 06 26.5 17 Y26711-08-08RW 3/4"X16 13 08 18 22
k Y16711-08-06RW | 3/4"X16 10 06 31 22 Y26711-10-08RW | 7/8'X14 13 08 18.5 77
Y16711-08-08RW | 3/4"X16 13 08 315 22 Y26711-10-10RW | 7/8"X14 16 10 20 27
~ Y16711-10-06RW | 7/8"X14 10 06 32 24 ¥26711-10-12RW | 7/8'X14 19 12 20 27
a Y16711-10-08RW | 7/8"X14 13 08 345 24 Y26711-12-10RW | 1.1/16°X12 16 10 215 32
4 Y16711-10-10RW | 7/8"X14 16 10 355 24 Y26711-12-12RW | 1.1/16'X12 19 12 215 32
R Y16711-12-08RW | 1.1/16'X12 13 08 39 27 Y26711-14-12RW | 1.3/16°X12 19 12 215 36
Y16711-12-10RW | 1.1/16'X12 16 10 40 27 Y26711-16-16RW | 1.5/16'X12 25 16 23 41
Y16711-12-12RW | 1.1/16°X12 19 12 40 27 Y26711-20-20RW | 1.5/8"X12 32 20 26 50
Y16711-12-16RW | 1.1/16"X12 25 16 4 30 Y26711-24-24RW | 1.7/8'X12 38 24 26.5 60
Y16711-14-10RW | 1.3/16"X12 16 10 40 32 Y26711-32-32RW | 2.1/2'X12 51 32 27 75
Y16711-14-12RW | 1.316'X12 19 12 405 i Vs A, B CS I TR 2. M T WSS A0k Y26712-XX-XXRW  Note:1.For use with
Y16711-16-12RW | 1.5/16°X12 19 12 42.5 36 braided hoses. 2.If use with spiral hoses, hose fitting series number is - Y26712-XX-XXRW.
Y16711-16-16RW | 1.5/16'X12 25 16 435 36
Y16711-20-16RW | 1.5/8"X12 25 16 46 46
Y16711-20-20RW | 1.5/8'X12 32 20 475 46
Y16711-24-20RW | 1.7/8"X12 a2 20 53.5 50
Y16711-24-24RW | 1.7/8°X12 38 24 53 50 45°EHICRIRET 4° HEE
Y16711-32-32RW | 2.1/2'X12 5 » 64 & Y26741-RW 45°JIC Female 74° Cone Seat1SO 12151-5 -SAE J514
T 1. RPIEHFRAKE . 2. 76 A TS S SO Y1BT12-XX-XXRW  Note:1.For use with %5 gaT 44 HOSE BORE Ji<f DIMENSIONS
braided hoses. 2.If use with spiral hoses, hose fitting series number is Y 16712-XX-XXRW. PART NO. THREAD T | ZARM4ZDN | ¥5% DASH L|H s1
Y26741-04-04RW | 7/16°X20 6 04 33.8] 10 14
Y26741-05-05RW | 1/2'X20 8 05 33.7| 10 17
Y26741-06-05RW | 9/16'X18 8 05 34.7] 11 19
Y26741-06-06RW | 9/16'X18 10 06 37 | 1 19
Y26741-06-08RW 9/16"X18 12 08 46.3| 15 19
Y26741-08-06RW | 3/4'X16 10 06 41 | 15 5
Y26741-08-08RW |  3/4"X16 13 08 463 15 22
Y26741-10-08RW | 7/8'X14 13 08 473| 16 27
Y26741-10-10RW | 7/8'X14 16 10 55.2| 16 27
Y26741-10-12RW | 7/8'X14 20 12 637| 21 27
Y26741-12-10RW | 1.1/16°X12 16 10 60.2| 21 32
Y26741-12-12RW | 1.1/16°X12 19 12 637 21 32
Y26741-14-12RW | 1.3/16"X12 19 12 735 31 36
Y26741-16-16RW | 1.5/16°X12 25 16 734| 24 41
Y26741-20-20RW | 1.5/8"X12 32 20 92.8| 32 50
Y26741-24-24RW | 1.7/8'X12 38 24 113.1] 42 80
Y26741-32-32RW | 2.1/2'X12 51 32 136.5| 51.5 75
e 1. BV FHREEE. 2. WF N TASRAEILS SO Y26742-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is Y26742-XX-XXRW.

113 14]



®
\ —&x s > =
‘ ’ | s B SL 2% HOSEFITTING  One Piece Fitting WA 3L &%) HOSEFITTING  One Piece Fitting

Y26791-RW " 90 SR ICHIRET 4" A i ¥24211-RW EHORFSHELFEE
90°JIC Female 74° Cone Seat ISO 12151-5 -SAE J514 Y24211-TRW ORES eFnale Seal ISO 12151-1-SAE J516
i BT # % HOSE BORE JUs} DIMENSIONS
PART NO. THREADT | 4/ 2DN | #7% DASH L |H 51 ik BaT ## HOSE BORE Jisf DIMENSIONS
L Y26791-04-04RW | 7/16"X20 6 04 32 | 32 14 PART NO. THREAD T | AFKH2DN | %5 DASH L s1
m ¥26791-05-05RW | _1/2'X20 8 05 325 a2 17 s Y24211-04-04RW | 9/16 " X18 5 04 225 17
/ Y26791-06-05RW | 9/16°'X18 8 05 325/ 38 19 :]H_f{ |~| ¥24211-04-05RW | 9/16 " X18 8 05 225 17
= Y26791-06-06RW | 9/16'X18 10 06 365 38 19 '"l ¥24211-04-06RW | 9/16 " X18 10 06 225 17
Y26791-06-08RW | 9/16'X18 13 08 445 41 19 : Y24211-06-04TRW| 11/16 " X16 6 04 235 22
B8 Y26791-08-06RW | 3/4'X16 10 06 365 41 22 - L ¥24211-06-05TRW| 11/16 " X16 8 05 235 22
E Y26791-08-08RW |  3/4°X16 13 08 445 41 22 ¥24211-06-06RW | 11/16 " X16 10 06 255 22
Y26791-10-08RW |  7/8'X14 13 08 445 | 47 27 . ¥24211-08-06RW | 11/16 " X16 13 08 26 22
Y26791-10-10RW | 7/8°X14 16 10 55 | 47 27 LW Y24211-08-08TRW| 13/16 " X16 8 05 25 o7
Y26791-10-12RW |  7/8°X14 19 12 62 | 58 27 :l_ﬁ/_l_l Y24211-08-06TRW| 13/16 " X16 10 06 25 24
Y26791-12-10RW | 1.1/16"X12 16 10 55 | 58 32 ._l — ¥24211-08-08RW | 13/16 " X16 13 08 28 24
Y26791-12-12RW | 1.1/16'X12 19 12 62 | 58 32 = - Y24211-08-10RW | 13/16 " X16 16 10 29 24
Y26791-14-12RW | 1.3/16'X12 19 12 64 | 635 36 L ¥24211-10-08TRW| 1" X14 18 08 295 30
Y26791-16-16RW | 1.5/16'X12 25 16 74 | 7 41 Y24211-10-10RW 1" X14 16 10 33 30
Y26791-20-20RW | 1.5/8"X12 32 20 915/ 78 50 ¥24211-10-12RW 17 X14 19 12 335 30
Y26791-24-24RW | 1.7/8'X12 38 24 108 | 86 60 = ¥24211-12-08TRW| 1.3/16 " X12 13 08 305 36
Y26791-32-32RW | 2.1/2"X12 51 32 133.8] 140 75 , Y24211-12-10TRW| 1.3/16 " X12 16 10 315 36
P 1, R AT 2, i AR UL V26T XCXXRW.  Note: For use with Y2A1212RW LT 3HE-X12 LD 12 3 36
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y26792-XX-XXRW. Y24211-12-16RW 11!;12 - :12 22 :g :g‘ 36
¥24211-16-12TRW| 1.7/16 " X1 1 1
Y¥24211-16-14TRW/| 1.7/16 " X12 22 14 35 41
¥24211-16-16TRW| 1.7/16 " X12 25 16 35 41
Y24211-16-20RW | 1.7/16 " X12 32 20 39.5 41
¥24211-20-16TRW| 1.11/16 * X12 25 16 35 50
Y14211-RW ORFS Male O-Rin %ﬂﬁggsﬁ?ﬁﬁ??ﬁ?g Y24211-24-20TRW| 2" X12 = 0 £2 £l
- 9 ¥24211-24-24TRW| 2" X12 38 24 36 60
I Reaa . [ DMENSIENS. Fo 1, U RO, 2, W TSI 00 Y24212-XXXXTRW. Note:1 For use with
. braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y24212-XX-XXTRW.
¥14211-04-04RW | 9/16 " X18 6 04 225 17
¥14211-06-04RW | 11/16 " X16 6 04 24 19
¥14211-06-06RW | 11/16 " X16 10 06 24 19
Y14211-08-06RW | 13/16 ' X16 10 06 275 22
¥14211-08-08RW | 13/16 ' X16 13 08 28.5 22
Y14211-08-10RW | 13/16 " X16 16 10 28.5 22
¥14211-10-08RW | 1" X14 13 08 325 27
¥14211-10-10RW | 1" X14 16 10 335 27
¥14211-12-08RW | 1.3/16 " X12 13 08 35.5 32
¥14211-12-10RW | 1.3/16 " X12 16 10 36 32
Y14211-12-12RW | 1.3/16 * X12 19 12 36.5 32
Y14211-16-12RW | 1.7/16 * X12 19 12 37 41
¥14211-16-16RW | 1.7/16 " X12 25 16 38.5 41
¥14211-20-20RW [1.11/16 " X12 32 20 415 46
¥14211-24-24RW | 2" X12 38 24 43 55
e 1. RAPUSHFREURT. 2. WM FSET S E00 Y14211-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y14211-XX-XXRW.

|15 16|



‘ ’ ®
Sy > —=
WA B3k £ %) HOSEFITTING  One Piece Fitting

oy X {5
M3k &%) HOSEFITTING  One piece Fitting

Y24241-RW 45 T H|ORF SRR FE
Y24241-TRW 45°EIbow ORFS Female Seal ISO 12151-1-SAE J516
e AT % HOSE BORE JUs} DIMENSIONS

PART NO. THREAD T | 410N | #i'y DASH L | H s1

C Y24211-04-04RW | 9/16"'X18 6 04 338] 10 17
Y24241-04-05RW | 9/16"X18 8 05 337| 10 17

¥24241-04-06RW | 9/16"X18 10 06 37 [ N 17

E ¥24241-06-04TRW| 11/16"X16 6 04 348 1 2
¥24241-06-05TRW| 11/16"X16 8 05 7| 1 22

o) Y24241-06-06RW | 11/16"X16 10 06 37 [ n 2
¥24241-08-06TRW| 13/16"X16 10 06 41 | 15 24

L ¥24241-08-08RW | 13/16"X16 13 08 463| 15 24
¥24241-08-10RW | 13/16"X16 16 10 552 | 16 24

a Y24241-10-08TRW|  1'X14 13 08 473] 16 30
5 ¥24241-10-10RW 1"X14 10 10 552 | 16 30
Y24241-12-08TRW| 1.3/16"X12 13 08 523| 2 36

Y24241-12-10TRW| 1.3/16"X12 16 10 602 | 21 36

¥24241-12-12RW | 1.3/16"X12 19 12 63.7 | 21 36

d ¥24241-12-16RW | 1.3/16"X12 25 16 734 24 36
¥24241-16-12TRW| 1.7/16"X12 19 12 66.7 | 24 41

¥24241-16-14TRW| 1.7/16"X12 22 14 66.7 | 24 41

- ¥24241-16-16TRW| 1.7/16"X12 25 16 734 24 41
¥24241-20-16TRW/| 1.11/16"X12 25 16 814 /| 32 50

¥24241-24-20TRW|  2'X12 32 20 102.8| 42 60

Y24241-24-24TRW|  2'X12 38 24 113.1] 42 60

Y¥24291-RW 90" BHRHORFSPRLLT
Y24291-TRW 90°Elbow ORFS Female Seal 1SO 12151-1-SAE J516
L s L2 % HOSE BORE Jis} DIMENSIONS

ﬂ_fT I PART NO. THREAD T [ Z#k/42DN | 7% DASH L|[H S1

/ Y24291-04-04RW | 9/16 " X18 6 04 30 | 41 19
¥24291-04-05RW | 9/16 " X18 8 05 33 | 44 19

7 || ¥24291-06-05TRW/| 11/16 " X16 8 05 33 |37.5 22
[ ¥24291-06-06RW | 11/16 " X16 10 06 353|493 22
Pasi ¥24291-06-08RW | 11/16" X16 13 08 41 | 55 22
U ! Y¥24291-08-06TRW| 13/16" X16 10 06 35.3/39.8 27
Y24291-08-08RW | 13/16" X16 13 08 41 | 575 27

m Y¥24291-08-10RW | 13/16" X16 16 10 56.5[61.5 27
¥24291-10-08TRW 1" X14 13 08 41 | 46 30

¥24291-10-10RW 1" X14 16 10 56 | 66 30
¥24291-10-12TRW 1" X14 13 12 65.575.5 30 |

Y¥24291-12-10TRW| 1.3/16" X12 16 10 59 |51.5 36

¥24291-12-12RW | 1.3/16 " X12 19 12 65.5| 77 36

¥24291-12-16RW | 1.3/16" X12 25 16 76.7(83.5 36

Y24291-16-12TRW| 1.7/16" X12 19 12 65.5 63 M

¥24291-16-14TRW| 1.7/16" X12 22 14 71.2] 63 M

Y24291-16-16TRW/| 1.7/16 " X12 25 16 76.9|67.5 4

¥24291-20-16TRW| 1.11/16" X12 25 16 76.7|67.5 50

¥24291-24-20TRW 2 %12 32 20 91.5/78.5 50

¥24291-24-24TRW 2" X12 38 24 109.4 92 60

117

i 1, BASH TSRS, 2. Wl TAESe AU o Y24292-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y24292-XX-XXRW.

SAE ;.= 3000 PSI
Y87311-RW SAE Flange 3000PSI1SO 12151-3 -SAE J518
fte EEME #% HOSE BORE JU5 DIMENSIONS
PART NO. FLANGE SIZE| A#4f:DN | f5% DASH I D Li
Y87311-08-08RW 1/2" 13 08 46 30.2 | 6.73
Y87311-12-08RW 3/4" 13 08 47 38.1|6.73
Y87311-12-10RW 3/4" 16 10 48 38.1|6.73
Y87311-12-12RW 3/4" 19 12 48 38.1|6.73
o, Y87311-12-16RW 3/4" 25 16 49 38.1|6.73
Y87311-16-12RW 1" 19 12 51 44| 8
Y87311-16-16RW 1" 25 16 52 44| 8
Y87311-16-20RW il 32 20 53 444| 8
Y¥87311-20-16RW 1.1/4" 25 16 57 508 | 8
Y87311-20-20RW 1.1/4" 32 20 58 508| 8
Y¥87311-24-20RW 1.1/2" 32 20 68 603 | 8
Y87311-24-24RW 12 38 24 68 603 | 8
Y87311-32-24RW 2 38 24 66 71.4 | 9.53
Y87311-32-32RW 2 51 32 66 714953
ik 1 BTSRRI, 2. W TESPAEUT BUN YBT312-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y87312-XX-XXRW.

Y87341-RW

45°%5 SAE j£= 3000 PSI

45° SAE Flange 3000PSI ISO 12151-3 -SAE J518
s HEMg ¥ HOSE BORE J&:|' D MENSIONS
PART NO. FLANGE SIZE A#FPA2DN | #i's DASH L H | B | Ef
Y87341-08-08RW 1/2" 13 08 50.3| 19 |30.2 |6.73
Y87341-12-08RW 3/4" 13 08 57.3| 26 [ 38.1]|6.73
Y87341-12-10RW 3/4" 16 10 65.2 | 26 | 38.1|6.73
Y87341-12-12RW 3/4" 19 12 68.7 | 26 |[38.1]|6.73
Y87341-12-16RW 3/4" 25 16 794 30 |38.1/6.73
Y87341-16-12RW 1" 19 12 747 | 32 |444| B8
Y87341-16-16RW 1" 25 16 814 | 32 [444| 8
Y87341-16-20RW 1" 32 20 958 | 35 [444| 8
Y87341-20-16RW 1.1/4" 25 16 874 38 |50.8| 8
Y87341-20-20RW 1.1/4" 32 20 988 | 38 |508| 8
Y87341-24-20RW 1.1/2" 32 20 10475 44 | 603 | 8
Y87341-24-24RW 1.1/2" 38 24 115.1| 44 [60.3| 8
Y87341-32-24RW 2" 38 24 1271 56 [ 71.4|9.53
Y87341-32-32RW 2" 51 32 141 | 56 | 71.4 | 9.53
e 1, RS H PSS, 2, W TSRS U0 YBT342-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is Y87342-XX-XXRW.

18|



®

W B3k &%) HOSE FITTING

— BT
One Piece Fitting

W 3k &%) HOSE FITTING

*
One Piece Fitting

Y87391-RW
S~

=

Y87611-RW

119

90°% SAE ? = 3000 PSI
90° SAE Flange 3000PSI 1SO 12151-3 -SAE J518

fieH B %t HOSE BORE J2s} D MENSIONS
PART NO. FLANGE SIZE| 2#¢ /A {#DN | #i* DASH LI{H]|D]|WL
Y87391-08-08RW 1/2" 13 08 445 40 | 30.2|6.73
Y87391-12-08RW 3/4" 13 08 445| 58 | 38.16.73
Y87391-12-10RW 3/4" 16 10 55 | 58 | 38.1]6.73
Y¥87391-12-12RW 3/4" 19 12 62 | 58 | 38.1|6.73
Y87391-12-16RW 34" 25 16 74 | 68 | 38.1/6.73
Y87391-16-12RW L 19 12 62 | 70 |444| B8
Y87391-16-16RW 1" 25 16 74 | 70 |444| 8
Y87391-16-20RW 1 32 20 91.5)| 82 [444| 8
Y87391-20-16RW 1.1/4" 25 16 74 | 90 |50.8| 8
Y87391-20-20RW 1.1/4" 32 20 91.5| 90 [508| 8
Y87391-24-20RW 1.14/2" 32 20 91.5| 104 | 60.3| 8
Y87391-24-24RW 112" 38 24 108 | 104 |60.3| 8
Y87391-32-24RW 2" 38 24 108 | 138 | 71.4 | 9.53
Y87391-32-32RW 2 51 32 133.8| 138 [ 71.4 | 9.53

PE: 1. RPATH RO . 2. W TR {55 MOk YBT392-XX-XXRW.
braided hoses. 2.If use with spiral hoses, hose fitting series numberis  Y87392-XX-XXRW.

Note:1.For use with

SAE ? = 6000 PSI

SAE Flange 6000PSI 1SO 12151-3 -SAE J518

e #2415 | #7% HOSE BORE J¢+] DIMENSIONS

PART NO. FLANGE SIZE| Z#/4{2DN | ##%5 DASH L D | L1
Y87611-08-08RW | 1/2° 13 08 47 317|775
Y87611-12-10RW | 34’ 16 10 51 413|876
Y87611-12-12RW 3/4" 19 12 51 41.3| 8.76
Y87611-16-12RW i 19 12 56 476|953
Y87611-16-16RW 1 25 16 57 476|9.53
Y87611-16-20RW i 32 20 58 476|953
Y87611-20-16RW | 1.1/4" 25 16 65 54 1029
Y87611-20-20RW 1.1/4" 32 20 66 54 [10.29
Y87611-24-20RW | 1.1/2" a2 20 75 63.5 |12.57
Y87611-24-24RW | 1.1/2" 38 24 75 63.5 |12.57
Y87611-32-24RW 2" 38 24 85 79.4 [12.57
Y87611-32-32RW 2 51 32 85 794 [1257

i 1 BPRSHTRIEE. 2. W FREEHE S B YBTE12-XX-XXRW.
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y87612-XX-XXRW.

Note:1.For use with

Y87641-RW

Y87691-RW

=

45°%5 SAE? = 6000 PSI
45° SAE Flange 6000PSI SO 12151-3 -SAE J518

53 HEHG # ¥ HOSE BORE Jif DIMENSIONS
PART NO. FLANGE SIZE| B/ 7DN | 5% DASH 0 I ol I TS
Y87641-08-08RW 1/2" 13 08 50]319[31.7|775
Y87641-12-10RW 3/4" 16 10 65 26[413]876
Y87641-12-12RW 3/4" 19 12 OE [ Z0413]876
Y87641-16-12RW 1% 19 12 o1 |476] 953
Y87641-16-16RW 1° 25 16 0 | @l 476|953
Y87641-16-20RW 1 32 20 87| 43 8| 47.6|9.53
Y87641-20-16RW 1.1/4" 25 16 98 | 3| 54 [10.29
Y87641-20-20RW 1.1/4" 32 20 115, 44] 54 [10.29
Y87641-24-24RW 1.1/2" 38 24 127.516| 635 12,57,
Y87641-32-24RW = 38 24 L 11T 56]79.4 1257
Y87641-32-32RW 2" 51 32 79.4 1257
e 1 RPUSH TRSUAT . 2. Wil ] TS U5 0 YBT642-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series number is  Y87642-XX-XXRW.

90°%5 SAE ? = 6000 PSI

90° SAE Flange 6000PSI ISO 12151-3 -SAE J518

fRE HERS #i% HOSE BORE J&< DIMENSIONS
PART NO. FLANGE SIZE| 2 AfDN | #:%5 DASH L H DL
Y87691-08-08RW 12" 13 08 445| 40 317|775
Y87691-12-10RW 3/4" 16 10 55 | 58 |41.3|876
Y87691-12-12RW 3/4" 19 12 62 | 58 | 413|876
Y87691-16-12RW 1* 19 12 62 | 70 | 476 (953
Y87691-16-16RW 1* 25 16 74 | 70 | 47.6 | 9.53
Y87691-16-20RW 1 32 20 91.5| 82 | 476|953
Y87691-20-16RW 1.1/4" 25 16 74 | 90 | 54 |10.29
Y87691-20-20RW 1.1/4" 32 20 915| 90 | 54 |10.29
Y87691-24-20RW 1.172" 32 20 91.5| 104 | 63.5 |12.57
Y87691-24-24RW 112" 38 24 108 | 104 | 63.5 |12.57
Y87691-32-24RW 2" 38 24 108 | 138 | 79.4 |12.57
Y87691-32-32RW 2 51 32 133.8) 138 | 79.4 |12.57
e 1. RAPCS I TRAERET. 2. W TASEIRAT U 0k YBT692-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y87692-XX-XXRW.

20|



NER

' ’ ®
e > B 5 fER
i—F),_\’ ré:. ?% ﬂi‘ /% ﬁu HOSE FITTING Swaged Hose Fitting ?X ﬁ j:% % ,% ﬁu HOSE FITTING Swaged Hose Fitting

Y10411 ARSMRE24° REERE RS Y20411-W ) AFIIMEL2 4 HHORE KT
Metric Male 24° Cone Sest L.T.ISO 12151-2 -DIN3861 = Metric Female 24°Cone O-Ring L.T.ISO 12151-2-DIN3865
1R BT % HOSE BORE BFig Ji+; DIMENSIONS s BT 4% HOSE BORE srne Jis) DIMENSIONS
. PART NO. THREAD T | Z# A4 {£DN | Fi% DASH TUBE C.D L, D | 81 5 L PART NO. THREAD T | 2 F§AN42DN | #5%; DASH TUBE O.D 5 H St
1 Y10411-12-04 M12X1.5 6 04 6 20.5 6 14 N — Y20411-12-04W M12X1.5 6 04 B 39.8| 16 14
Y10411-14-04 M14X1.5 6 04 8 205 8 | 17 s Y20411-14-04T M14X1.5 8 04 8 39.8| 16 17
o r Y¥10411-14-05 M14X1.5 8 05 8 215 8 17 L — Y20411-14-05W M14X1.5 8 05 8 40.7| 17 17
Y10411-16-04 M16X1.5 6 04 10 225 10 | 17 - Y20411-14-06W M14X1.5 10 06 8 445|18.5 17
'@" Y¥10411-16-05 M16X1.5 8 05 10 225 10 | 17 Y¥20411-16-04T M16X1.5 6 04 10 40.8| 17 19
Y¥10411-16-06 M16X1.5 10 06 10 235 10 | 17 Y20411-16-05T M16X1.5 8 05 10 40.7| 17 19
Y10411-18-05 M18X1.5 8 05 12 235 12| 19 - - Y20411-16-06W M16X1.5 10 06 10 445/ 18.5 19
Y10411-18-06 M18X1.5 10 06 12 235 12| 19 s Y20411-18-05T M18X1.5 8 05 12 422|185 22
Y10411-22-06 M22X1.5 10 06 15 245 15 | 24 Y¥20411-18-06T M18X1.5 10 06 12 44.5|18.5 22
Y¥10411-22-08 M22X1.5 13 08 15 25 15 | 24 Y20411-18-08W M18X1.5 13 08 12 50.8|19.5 22
Y¥10411-26-08 M26X1.5 13 08 18 265 18 | 27 Y20411-22-08T M22X1.5 13 08 15 50.8| 19.5 27
Y10411-26-10 M26X1.5 16 10 18 27 18 | 27 Y20411-22-10W M22X1.5 16 10 15 62.7]| 235 27
Y¥10411-30-10 M30X2 16 10 22 30 22 | 32 ¥20411-26-10T M26X1.5 16 10 18 62.7|23.5 32
Y10411-30-12 M30X2 19 12 22 30 22| 3z Y2 04 1 1 - T Y20411-26-12W M26X1.5 19 12 18 68.2|255 32
Y¥10411-36-16 M36X2 25 16 28 33 28 | 41 Y20411-30-10T M30X2 16 10 22 64.7 255 36
¥10411-45-20 M45X2 32 20 a5 38 35 | 46 i ¥20411-30-12T M30Xx2 19 12 22 68.2| 25.5 36
¥10411-52-24 M52X2 38 24 42 38.5 42 | 55 st ¥20411-30-16W M30X2 25 16 22 81.4| 32 36
Ve 1o BB O FRAWOT. 2, WFH PAISEEITE S HOUY10412-XX-XX.  Note:1 For use with :]_" Y20411-36-12T | M36X2 19 iE2 EEINN VA o #
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y 10412-XX-XX. | ] Y20411-36-14T M36X2 22 14 28 79.5| 34 4
FJ_ ¥20411-36-16T M36X2 25 16 28 814 32 41
NN Y¥20411-36-20W M36X2 32 20 28 98.8| 38 41
Y20411-45-16T M45X2 25 16 35 87.4| 38 50
Y20411-45-20T M45x2 32 20 35 98.8| 38 50
Y20411-45-24W MasXx2 38 24 a5 115.6| 44.5 50
¥20411-52-20T M52X2 32 20 42 105.3 44.5 60
Y20411-52-24T M52X2 38 24 42 115.6‘ 445 60
Y20411-52-32W M52X2 51 32 42 137.6‘ 57.6 60

it 1 RS FRSUET. 2. ST L B0 Y20412-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20412-XX-XX.

|21 22|



NER

' ’ ®
Ay > pux' > mEEt
i—F),_\’ ré:. ?% % /% ﬁu HOSE FITTING Swaged Hose Fitting ?X ﬁ j:% ﬂg‘ ,% ﬁu HOSE FITTING Swaged Hose Fitting

% AS TAHIRBRE24° HEHORE R 90° TR HIIMRBR24° HTHOR B RS
20441-W 45 Metric Female 24°Cone O-Ring L.T.ISO 12151-2-DIN3865 Y20491-W 90°Metric Female 24°Cone O-Ring L.T.ISO 12151-2-DIN3865
e Bar 1 HOSE BORE B8 Jist DIMENSIONS L b3 BaT #4¥ HOSE BORE g s DIMENSIONS
PART NO. THREADT | A#/#1#DN | #x5 DASH | TUBEO.D | L | H Ell E]m PART NO. THREADT | AFN#DN | #5%5 DASH | TUBEOD | L | H st
L Y20441-12-04W M12X1.5 6 04 6 47 | 25 14 = Y20491-12-04W M12X1.5 6 04 6 32 305 14
Y20441-14-04T M14X1.5 6 04 8 39 | 17 17 / Y20491-14-04T M14X1.5 6 04 8 32 [30.5 17
o = Y20441-14-05W | M14X1.5 8 05 8 425/| 19 17 x Y20491-14-05W M14X1.5 8 05 8 32.5| 33 17
| ¥20441-14-06W | M14X15 10 06 8 45 | 19 17 enli ¥20491-14-06W | M14X15 10 06 8 365 36 17
L Y20441-16-04T M16X1.5 6 04 10 39 19 19 Y20491-16-04T M16X1.5 6 04 10 32 | 33 19
Y¥20441-16-05T M16X1.5 8 05 10 45 | 215 19 Y20491-16-05T M16X1.5 8 05 10 325| 33 19
Y20441-16-06W M16X1.5 10 06 10 54.6 | 28.6 19 Y20491-16-06W M16X1.5 10 06 10 36.5| 36 19
Y¥20441-18-05T M18X1.5 8 05 12 46 | 22 22 Y20491-18-05T M18X1.5 8 05 12 325| 36 22
Y20441-18-06T M18X1.5 10 06 12 48 | 222 22 Y20491-18-06T M18X1.5 10 06 12 365| 36 22
Y20441-18-08W M18X1.5 13 08 12 54 |215 22 Y¥20491-18-08W M18X1.5 13 08 12 44.5 | 40.5 22
Y20441-22-08T M22X1.5 13 08 15 67 | 25 27 Y20491-22-08T M22X1.5 13 08 15 44.5 | 40.5 27
Y20441-22-10W M22X1.5 16 10 15 73 | 337 27 Y¥20491-22-10W M22X1.5 16 10 15 55 |515 27
Y20441-26-10T M26X1.5 16 10 18 68.5| 29 32 Y2049 1 _T Y20491-26-10T M26X1.5 16 10 18 55 [51.5 32
Y20441-26-12W | M26X1.5 19 12 18 81 | 385 32 Y20491-26-12W M26X1.5 19 12 18 62 | 56 32
Y20441-30-10T M30X2 16 10 22 68 | 285 36 Y20491-30-10T M30X2 16 10 22 55 | 56 36
Y20441-30-12T M30X2 19 12 22 74 | 315 36 Y¥20491-30-12T M30X2 19 12 22 62 | 56 36
Y20441-30-16W M30X2 25 16 22 89.5 | 36.5 36 / Y20491-30-16W M30X2 25 16 22 74 |68.5 36
Y20441-36-12T M36X2 18 12 28 76.5 | 33.7 41 = Y20491-36-12T M36X2 19 12 28 62 |68.5 41
Y20441-36-14T M36X2 22 14 28 79.5| 34 41 s Y20491-36-16T M36X2 25 16 28 74 |68.5 4
Y20441-36-16T M36X2 25 16 28 88 | 35 4 [ Y20491-36-20W M36X2 32 20 28 91.5|785 41
¥20441-36-20W | M36X2 32 20 28 102 415 41 1 ¥20491-45-16T M45X2 25 16 35 74 |785 50
Y20441-45-16T M45X2 25 16 35 88 | 85 50 . Y¥20491-45-20T M45X2 32 20 35 91.5|78.5 50
= Y¥20441-45-20T M45X2 32 20 35 99.8 | 39.1 50 Y20491-45-24W M45%2 38 24 35 108 | 95 50
Y20441-45-24W M45X2 38 24 35 113.5| 445 50 Y¥20491-52-20T M52Xx2 32 20 42 915|785 60
Y20441-52-20T M52X2 32 20 42 100 | 39.1 60 { Y20491-52-24T M52X2 38 24 42 108 | 95 60
y Y20441-52-24T M52X2 38 24 42 115 | 46.3 60 Y¥20491-52-32W M52x2 51 32 42 133.8/130.5 60
w Y20441-52-32W | MS52X2 51 32 42 [1525] BAS 80 Ve 4, RACS I FAROUT. 2, Wl T AT S 00 Y20492-XX-XX.  Note:1.For use with
PEe 1. B FESET . 2. W7 AT 1 2 M0 Y20442-XX-XX.  Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20492-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20442-XX-XX.

23 24|



® NER

ER
Bk R4 HOSEFITTING  swaged Hose Fitting R ¥ L R 4] HOSEFITTING  swaged Hose Fitting

AHISMRG24° R E T A5 I IRE2 4 ORI B B R
Y1051 Metric Mael 24°Cone H.T.ISO 84341-2-DIN3861 Y20541-W 45 Metric Female 24°Cone O-Ring H.T.ISO 12151-2-DIN3865
15 RET #% HOSE BORE H¥4iz | )T DIMENSIONS He WaT ¥ HOSE BORE BT Ji5F DIMENSIONS
PART NO. THREADT | 2 F/A4#DN | ##%5 DASH | TUBEO.D| L D | st PART NO. THREAD T | Z# DN | % DASH | TUBEOD | L [ H s1
L Y10511-14-04 M14X1.5 6 04 6 24 6 | 14 Y20541-14-04T | M14X15 6 04 6 408 | 17 17
s1 Y10511-16-04 M16X1.5 6 04 8 26.5 8 |17 ¥20541-16-04T | M16X1.5 6 04 8 208 | 17 19
Y10511-18-04 M18X1.5 6 04 10 26.5 10 19 Y20541-16-05T M16X1.5 8 05 8 417 18 19
-l ¥10511-18-06 M18X1.5 10 06 10 27 10 | 19 ‘ ¥20541-18-04T | M18X1.5 6 04 10 408 | 17 22
Y10511-20-05 M20X1.5 8 05 12 28 12 | 22 > ¥20541-18-05T | M18X1.5 8 05 10 417 [ 18 22
¥10511-20-06 M20X1.5 10 06 12 28 12 | 22 ¥20541-18-06T | M18X1.5 10 06 10 445 | 185 22
Y10511-22-06 M22X1.5 10 06 14 |285 14 | 24 f Y20541-20-06T | M20X1.5 10 06 12 445 | 18.5 24
¥10511-24-08 M24X1.5 13 08 16 a2 16 | 27 Y20541-20-08W | M20X1.5 13 08 12 523 | 21 24
¥10511-30-10 M30X2 16 10 20 36 20 | 32 ¥20541-22-06T | M22X1.5 10 06 14 489 | 22.9 27
¥10511-30-12 Maox2 19 12 20 |3 20 | 32 Y20541-T Y20541-24-06T | M24X15 10 06 16 445 | 185 30
¥10511-36-12 M36X2 19 12 25 40 25 | 41 ¥20541-24-08T | M24X1.5 13 08 16 503 | 21 30
¥10511-36-16 M36X2 25 16 25 4 25 | 41 i ¥20541-30-10T M30X2 16 10 20 642 | 25 36
Y10511-42-16 M42x2 25 16 30 43 30 | 46 Y20541-30-12T M30X2 19 12 20 732 | 305 36
¥10511-52-20 M52X2 32 20 38 48 38 | 55 1 ¥20541-36-12T M36X2 19 12 25 732 | 305 46
PEe 1, AP THRAUERE. 2, W TAZARIT{LS %N Y10512-XX-XX.  Note:1.For use with 22 5 Y20541-36-16T ___M362 25 16 25 849 | 355 46
braided hoses. 2.If use with spiral hoses, hose fitting series number is Y10512-XX-XX. ¥20541-42-12T M42x2 19 12 30 782 | 355 50
¥20541-42-16T Ma2x2 25 16 30 849 | 355 50
Y20541-42-20W M42x2 32 20 30 10275, 42 50
Y20541-52-20T M52X2 32 20 38 10275 42 60
¥20541-52-24T M52%2 38 24 38 1157 | 446 60
AHIRRLR24 OB ERY PE: 1. RPFUSHPROKIT. 2. W T ELEIRIT L 520l Y20542-XXXX.  Note:1.For use with
Y20511-W Metric €male 24°Cone O-Ring H.T.1SO 12151-2-DIN3865 braided hoses. 2.If use with spiral hoses, hose fitting series number is Y20542-XX-XX.
53 BT 4§ HOSE BORE AT Ji-| DIMENSIONS
PART NO. THREADT | %HijfDN | #i% DASH | TUBEOD | L St
¥20511-14-04T M14X1.5 6 04 6 235 17
¥20511-16-04T M16X1.5 6 04 8 24 19
¥20511-16-05T M16X1.5 8 05 3 24 19
¥20511-18-04T M18X1.5 6 04 10 25 22
¥20511-18-05T M18X1.5 8 05 10 25 22
¥20511-18-06T M18X1.5 10 06 10 25 22
¥20511-20-06T M20X1.5 10 06 12 28.5 24
¥20511-20-08W | M20X15 13 08 12 29 24
Y20511-22-06T M22X1.5 10 06 14 255 27
¥20511-24-06T M24X1.5 10 06 16 29.5 30
Y¥20511-24-08T M24X1.5 13 08 16 30 30
¥20511-30-10T M30X2 16 10 20 34 36
SN ¥20511-30-12T M30X2 19 12 20 35 36
~ ¥20511-36-12T M36X2 19 12 25 32
L Y20511-36-16T M3BX2 25 16 25 35.5 46
F Y20511-42-12T M42x2 19 12 30 35
¥20511-42-16T M42X2 25 16 30 36 50
Y¥20511-42-20W M42X2 32 20 30 345 50
¥20511-52-20T M52X2 a2 20 38 36 60
¥20511-52-24T Ms2x2 38 24 38 36 60
T 1 RRACE R FARAUT . 2. W TSP S BN Y20512-XX-XX.,  Note:1.For use with
braided hoses. 2.1f use with spiral hoses, hose fitting series number is Y20512-XX-XX.

|25 26



® .. NER o MER
B 83k &%) HOSE FITTING  swaged Hose Fitting B3k 2 %) HOSE FITTING  Swaged Hose Fitting

90° A HI R L 24 HEFFORB E RS DR RSERE
Y20591-W 90°Metric Female 24°Cone O-Ring H.T.1SO 12151-2-DIN3865 Y20111 Metric Female Multiseal
5 BaT it HOSE BORE BT JUsf DIMENSIONS s ik B BYT % HOSE BORE J2.] DIMENSIONS
- PART NO. THREADT | ¥ AEDN | 45 DASH TUBE O.D L H S1 PART NO. THREAD T | Z2#A44#DN | 455 DASH L St
¥20591-14-04T | M14X15 5 04 6 32| 32 17 o Y20111-12-04 | Mi2Xis5 s 0d 195 =
/ Y20591-16-04T M16X1.5 6 04 8 32| 32 19 ' ¥20111-12-05 M12X1.5 8 05 19.5 17
. Y¥20591-16-05T M16X1.5 8 05 8 32.5| 34 19 y Y20111-14-04T M14X1.5 6 04 19.5 17
N ¥20591-18-04T | M18X1.5 6 04 10 32| 32 22 o Y20111-14-05 | Mi4X15 8 05 195 19
¥20591-18-05T | M18X1.5 8 05 10 325 34 22 Y20111-16.04T | MI16X15 5 04 20 19
¥20591-18-06T M18X1.5 10 06 10 36.5| 35.5 22 Y20111-16-05T M16X1.5 8 05 20 19
¥20591-20-06T | M20X15 10 08 12 36.5/ 355 24 Y20111-18-06T | M18X15 10 bR 205 o
¥20591-20-08W | M20X15 13 08 12 445) 43 24 VoOI111508 | WMIEKiE 5 o8 = =
Y¥20591-22-06T | M22X15 10 06 14 365 43 27 NZOITISORI0ET | M22X15 o o8 e o
20591 70:0 G MRS 19 L] L A45|EaD 40 O S Y¥20111-24-10 | M24X15 16 10 255 30
¥20591-24-08T | M24X1.5 13 08 16 44.5) 43 30 —d Y20111-27-10T | M27X1.5 16 10 235 az
¥20591-30-10T | Ma0X2 16 10 20 55 | 495 36 h:]]]' Y2011130-12T | MB0X15 = T T 5
¥20591-30-12T M30X2 19 12 20 62 | 59 36 FJ_ 1 Y20111-39-16T | M3ax2 25 16 295 5
¥20591-36-12T | MaeX2 1 12 2 62 | 50 48 - TR - = AE =
= i 7

Y20591-T ¥20591-36-16T | M3sX2 25 16 25 74 | 70 46 S VI0111.52.24T | M52X2 38 2 23 &0

e A ” 12 ot [ 5 P 1. EP S THOWAT. 2, T AT HOIY20112 XXX, Note:1.F ih

A0, i 1. EHRS RO . 2, WIFEH TS S 2 -XX-XX. ote:1.For use wif
- :;g::i_g_;glv m:g:: :232 ;g 3 9:‘?'5 ;3 :g braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20112-XX-XX.
/ ¥20591-52-20T M52X2 32 20 38 91.5| 87 60
1 ¥20591-52-24T M52X2 38 24 38 108| 100 60
S 1,
’ e A RS FEET. 2.0 Wil H TS AT D O Y20592-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y20592-XX-XX.

45°8 AP AR
Y20141 45 Metric Female Multiseal
s BET k4§ HOSE BORE Jist DIMENSIONS
PART NO. THREAD T | 2 #:P42DN | % DASH L H S1
Y¥20141-12-04 M12X1.5 6 04 39.5| 165 17
Y20141-14-04T Mi14X1.5 6 04 43 | 183 17
Y¥20141-14-05 M14X1.5 8 05 45.5|22.2 19
Y¥20141-16-04T M16X1.5 6 04 425|214 19
Y¥20141-16-05T M16X1.5 8 05 44.5 [ 195 19
Y¥20141-16-06 M16X1.5 10 06 50 | 24 22
Y¥20141-18-06T M18X1.5 10 06 50 | 24 22
Y¥20141-18-08 M18X1.5 13 08 58.5 | 28.8 24
Y¥20141-22-08T M22X1.5 13 08 60 | 27.2 27
Y¥20141-24-10 M24X1.5 16 10 67 | 27 30
Y¥20141-27-10T M27X1.5 16 10 69 |29.6 32
Y¥20141-30-12T M30X1.5 19 12 765|337 36
Y¥20141-39-16T M39X2 25 16 86 | 336 46
Y20141-45-20T M45X2 32 20 99 [ 384 55
Y¥20141-52-24T M52X2 38 24 114 | 446 60
/ vk 1 PG FEEAT. 20 Wil A AT 0D S0 Y20142-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20142-XX-XX.

|27 28|



® Pax.
R

$23 % %1] HOSE FITTING

&=
Swaged Hose Fitting

|29

Y20211

L

s1

=%

Y20211-T

L

—

—T

Wil

90°% A HIFIRSERE

90°Metric Female Multiseal

Wk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

e BT 44 HOSE BORE Jis DIMENSIONS
PART NO. THREADT | ZA%RAi2DN | 4% DASH L H S1
Y20191-12-04 M12X1.5 6 04 30 | 32 17
Y¥20191-14-04T M14X1.5 6 04 32 355 il
Y¥20191-14-05 M14X1.5 8 05 33 | 405 19
Y¥20191-16-04T M16X1.5 6 04 32 [ 345 19
Y¥20191-16-05T M16X1.5 8 05 33 | #1 19
Y¥20191-16-06 M16X1.5 10 06 36.5| 43 22
Y¥20191-18-06T M18X1.5 10 06 36.5 | 445 22
Y¥20191-18-08 M18X1.5 13 08 43.5 | 50 24
Y¥20191-22-08T M22X1.5 13 08 43.5| 52 27
Y¥20191-24-10 M24X1.5 16 10 55 | 66,5
Y¥20191-27-10T M27X1.5 16 10 55 | 54 32
Y¥20191-30-12T M30X1.5 19 12 64 | 67
Y¥20191-39-16T M39X2 25 16 74 | 72 46
Y¥20191-45-20T M45X2 32 20 91.5| 85 55
Y¥20191-52-24T M52X2 a8 24 109 | 100 60

i 1 PG TRARE. 2, WFH AR S 80k Y20192-X0CXX.
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y20192-XX-XX.

Note:1.For use with

AHIRESFE
Metric Female Flat Seat
£#REF.GB/T 9065.3

RE BT 4t HOSE BORE Jis1 DIMENSIONS
PART NO. THREAD T | A#i#4EDN | t5's DASH L 81
¥20211-14-04T | M14X1.5 6 04 15.5 17
Y20211-14-05 M14X1.5 8 05 155 19
Y20211-16-05T | M16X1.5 8 05 16.5 19
Y20211-16-06 M16X1.5 10 06 165 22
¥20211-18-06T | M18X1.5 10 06 17.5 20
Y20211-22-08T | M22X1.5 13 08 18.5 27
Y20211-27-10T | M27X1.5 16 10 22 32
Y20211-30-12T | M30X15 19 12 21 36
¥20211-36-12T M36X2 19 12 21 41
Y20211-39-16T M39X2 25 16 235 46
¥20211-45-20T M45X2 32 20 24.5 55
¥20211-52-24T M52X2 38 24 25 60
Y20211-60-28T MBOX2 45 28 26 70
¥20211-64-32T MB4X2 51 32 27 75

i 1, /PG FREURE. 20 PRI L5 50 Y20212-XX-XX.
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y 20212-XX-XX.

Note:1.For use with

Y¥20241

Y20241-T

¥20291

s -

Y20291-T

T[

]

T

45° I IRECEE

45°Metric Female Flat Seat

ZEREF. GB/T 9065.3

K8 BaT #¥ HOSE BORE JUsI DIMENSIONS
PART NO. THREAD T | 2#/##DN | xS DASH L H 81
Y20241-14-04T M14X1.5 6 04 37 | 135 17
Y¥20241-14-05 M14X1.5 8 05 41 | 175 19
Y20241-16-05T M16X1.5 8 05 42 | 185 19
Y20241-16-06 M16X1.5 10 06 45 | 19 22
Y20241-18-06T M18X1.5 10 06 46 | 20 22
Y20241-22-08T M22X1.5 13 08 53 [215 27
Y¥20241-27-10T M27X1.5 16 10 65 | 255 32
Y20241-30-12T7 M30X1.5 19 12 70 | 275 36
Y20241-39-16T M39x2 25 16 84 [29.7 46
Y20241-45-20T M45X2 32 20 94.5| 34 55
Y20241-52-24T M52X2 38 24 110 | 41 60
Y¥20241-60-28T M60X2 45 28 1185 436 70
¥20241-64-32T MB4X2 51 32 128 | 45.5 75
i A RS TR . 2, W H TSR LS B Y 20242-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20242-XX-XX.

90 BAHKRKTH

90°Metric Female Flat Seat

£%EREF.GB/T 9065.3

4 BaT 4 HOSE BORE J5) DIMENSIONS
PART NO. THREADT | AFMHEDN | k55 DASH 5 H S1
Y20291-14-04T M14X1.5 6 04 32 | 285 17
Y¥20291-14-05 M14X1.5 8 05 33 | 335 19
¥20291-16-05T M16X1.5 8 05 325| 35 19
¥20291-16-06 M16X1.5 10 06 36.5| 37 22
Y20291-18-06T M18X1.5 10 06 36.5| 39 22
Y¥20291-22-08T M22X1.5 13 08 435|435 27
Y¥20291-27-10T M27X1.5 16 10 55 | 52 32
Y¥20291-30-12T M30X1.5 19 12 63 | 58 36
Y20291-39-16T M39X2 25 16 74 | 68.5 46
¥20291-45-20T Ma5X2 32 20 915|785 55
Y¥20291-52-24T M52X2 38 24 109 | 92 60
Y¥20291-64-32T M64X2 51 32 129 [113.3 75
i 1. RPASH FROAEE. 2. MR FESPE S 3 Y20292-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y20292-XX-XX.

30|



® fax
R

$2 3 & %] HOSE FITTING

NER

Swaged Hose Fitting

Wk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

E R4 Bl PO R LT 4° PO HETE

Y20711 GB Metric Female 74°Cone Seat
£%REF.GB/T 9065.1

5 e 1 HOSE BORE Jis} DIMENSIONS

s1 L PART NO. THREAD T | AFRAFEDN | #7% DASH L s1
Y20711-12-04 M12X1.5 6 04 14.5 17

hﬂﬁzmﬂ'r ¥20711-14-04T | M14X1.5 6 04 15.5 17
z ¥20711-14-05 M14X1.5 8 05 15.5 19
¥20711-14-06 M14X1.5 10 06 15.5 19

Y20711-16-04T M16X1.5 6 04 16. 5 19

¥20711-16-05T | M16X1.5 8 05 16.5 19

Y20711-16-06 M16X1.5 10 08 16.5 22

¥20711-18-05T | M18X1.5 8 05 18.5 22

Y20711-18-06T | M18X1.5 10 06 17.5 22

¥20711-20-06T | M20X1.5 10 08 16 24

Y20711-22-08T | M22X1.5 13 08 18.5 27

Y20711-T Y20711-27-08T | M27X1.5 13 08 20.5 32
Y20711-27-10T | M27X1.5 16 10 21.5 32

Y¥20711-30-10T M30X1.5 16 10 21. 5 36

¥20711-30-12T | M30X1.5 19 12 21.5 36

¥20711-33-12T | M33x2 19 12 22 41

Y20711-36-12T | M36X2 19 12 21 41

Y20711-36-14T | M3sX2 22 14 21 41

Y20711-36-16T | M36X2 25 16 22 41

¥20711-39-16T | M39x2 25 16 23.5 46

Y20711-42-16T | M42X2 25 16 23.5 50

¥20711-45-20T | M45X2 32 20 25 55

¥20711-52-247 | M52X2 38 24 25 60

131

E: 1. PG TROE .

2. WSS 2O Y20712-XX-XX.  Note1 For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y20712-XX-XX.

Y20741

Y20741-T

R P74 PO SETH

45°GB Metric Female 74°Cone Seat

£3EREF.GB/T 9065.1

{1577 BaT #{¥ HOSE BORE Jif DIMENSIONS
L PART NO. THREAD T | A#/A7EDN | by DASH 1 H S
Y20741-12-04 M12X1.5 6 04 38 15 17
Y¥20741-14-04T M14X1.5 6 04 39 | 16 17
= Y¥20741-14-05 M14X1.5 8 05 43.5|/19.5 18
Y20741-14-06 M14X1.5 10 06 46 | 20 19
Y20741-16-04T M16X1.5 6 04 39 |15.5 19
¥20741-16-05T M16X1.5 8 05 42.5| 19 19
Y20741-16-06 M16X1.5 10 06 46.5/20.5 22
Y20741-18-05T M18X1.5 8 05 44.5| 21 22
Y20741-18-06T M18X1.5 10 06 47 | 23 22
Y¥20741-22-08T M22X1.5 13 08 56.2|23.7 27
Y¥20741-27-08T M27X1.5 13 08 55 |22.5 32
Y20741-27-10T M27X1.5 16 10 63.5| 24 32
L Y¥20741-30-10T M30X1.5 16 10 67 | 27 36
Y20741-30-12T M30X1.5 19 12 72.830.2 36
— ¥20741-33-12T M33X2 19 12 72 |29.5 41
= | Y¥20741-36-12T | M36X2 19 12 69.5|26.5 41
Y20741-36-14T M36X2 22 14 74 |28.4 41
= Y20741-36-16T M36X2 25 16 81 | 28 41
g |_¥20741-39-16T M39X2 25 16 82 |29.4 46
Y20741-45-20T M45Xx2 32 20 94.5|33.8 55
Y¥20741-52-24T M52X2 38 24 108 | 39 60

i A RS TS 2, AT SREAT LS B Y20742-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y20742-XX-XX.




® NER

MER
ﬁ {IEE' ?% % /?\ ﬁ” HOSE FITTING Swaged Hose Fitting ?),_( % ?ﬁ % ,% ;;U HOSE FITTING Swaged Hose Fitting

TR PIBRELT 4° P HEE
90°GB Metric Female 74°Cone Seat )  FEXEE
Y20791 £:2REF.GB/T 9065.1 Y50011 Metric Standpipe Straight
L ®E Bgar 4 HOSE BORE JUs} DIMENSIONS 15 HTihie # ¥ HOSE BORE JUs] DIMENSIONS &3k

PART NO. THREAD T  |AF A12DN | Fi'; DASH L H S1 PART NO. TUBEO.D | AFA4DN | #5% DASH L D L1 | NOTE
¥20791-12-04 M12X1.5 6 04 32 | 30 17 ¥50011-06L-04 6 5 04 295 | 6 22
o ¥20791-14-04T | M14X1.5 6 04 30 | 30 17 ¥50011-10L-05 10 8 05 a1 | 10 23
wml ¥20791-14-05 M14X1.5 8 05 33 | a7 19 ¥50011-10L-06 10 10 06 33.5 | 10 23
¥20791-14-06 M14X1.5 10 086 36.5[38.5 19 ¥50011-121-06 12 10 06 3z |z 25
L-TL A ¥20791-16-04T | M16X1.5 6 04 32 (325 19 ¥50011-121-08 12 13 08 325 | 12 25
¥20791-16-05T | M16X1.5 8 05 33 | 36 19 Y50011-15-08 15 13 08 355 | 15 25

¥20791-16-06 M16X1.5 10 086 36.5/39.5 22 ¥50011-18-10 18 16 10 35 | 18 26| 77

¥20791-18-05T M18X1.5 8 05 33 [38.5 22 ¥50011-22-10 22 16 10 38 22 28 L

¥20791-18-06T | M18X1.5 10 06 36.5/40.5 22 - ¥50011-22-12 22 19 12 38 | 22 28
¥20791-22-08T | M22X1.5 13 08 43.5/46.5 27 Y50011-22-16 22 25 16 39 | 22 28
¥20791-27-08T M27X1.5 13 08 43.5|48.5 32 ¥50011-28-16 28 25 16 41 28 30
Y2 079 1 -T | ¥20791-27-10T M27X1.5 16 10 55 | 53 32 Y¥50011-35-20 35 32 20 56 35 36
¥20791-30-10T M30X1.5 16 10 55 | 54 36 Y50011-42-24 42 38 24 62 42 40
i Y¥20791-30-12T | M30X1.5 19 12 64 | 62 36 Y¥50011-085-04 8 6 04 31 | 8 24
v20791-33-12T M33X2 19 12 64 | 61 41 ¥50011-085-05 8 8 05 31 8 24
/ | ¥20791-36-12T M36X2 19 12 64 | 57 41 Y¥50011-085-06 8 10 06 31 8 24
I | ¥20791-36-14T M36X2 22 14 68.5| 63 41 Y50011-10S-04 10 6 04 35 10 23
2l ) Y¥20791-36-16T M36X2 25 16 74 | 64 41 ¥50011-125-04 12 6 04 33 12 25
[N ¥20791-39-16T M39X2 25 16 74 | 66 46 ¥50011-125-05 12 8 05 33 12 25
Y¥20791-45-20T M45X2 32 20 91.5|78.5 55 Y¥50011-14-05 14 8 05 395 | 14 29
¥20791-52-24T M52X2 38 24 109 | 92 60 Y¥50011-14-06 14 10 06 39.5 | 14 29

- — ¥50011-14-08 14 13 08 40 | 14 29 | w7l

e 1 AP PREURET. 20 IR T ARZERE LS 0L Y20792-XX-XX.  Note:1.For use with Y50011-16-08 16 13 08 e 16 30 P
braided hoses. 2.If use with spiral hoses,hose fitting series numberis  Y20792-XX-XX. Y50011-16-10 18 8 96 Ve o 0
¥50011-20-10 20 16 10 52.5 | 20 36
¥50011-20-12 20 19 12 52.5 20 36
¥50011-25-12 25 19 12 56 25 40
¥50011-25-16 25 25 16 57 25 40
Y50011-30-16 30 25 16 63 30 44
Y50011-30-20 30 32 20 64 30 44
¥50011-38-16 38 25 16 69 38 50
Y¥50011-38-20 38 32 20 70 38 50
i 1. RS PR, 2. Wi RSO £ S ol Y50012-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y50012-XX-XX.

33 34|



®

>

I

LA

Ao

$23 % %] HOSE FITTING

&=
Swaged Hose Fitting

Wk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

|35

Y50041

AS°BRFFEXEE
45°Metric Standpipe Straight

Y50091

fKE BTz ¥ HOSE BORE s DIMENSIONS i

PART NO. TUBEO.D | A#KEDN | #x* DASH I H D L1 | NOTE
Y50041-06L-04 6 6 04 52 30 6 22
Y50041-10L-05 10 8 05 54 30.5 10 23
Y50041-10L-06 10 10 06 56 31 10 23
Y50041-12L-06 12 10 06 58.5 | 34 12 25
Y50041-12L-08 12 13 08 73 37 12 25
Y50041-15-08 15 13 08 71 [ 855 15 25
Y50041-18-10 18 16 10 85 | 395 18 26 | g&F|
Y50041-22-10 22 16 10 87 42 22 28 L
Y50041-22-12 22 19 12 93.5 | 45.5 22 28
Y50041-22-16 22 25 16 101 | 46.56 | 22 28
Y50041-28-16 28 25 16 104 | 49.5 | 28 30
Y¥50041-35-20 35 32 20 119 | 67.5 35 36
Y50041-085-04 8 6 04 54 30 8 24
Y50041-085-05 8 8 05 56 32 8 24
Y50041-085-06 8 10 06 58 33 8 24
Y50041-105-04 10 6 04 54 31 10 23
Y50041-125-04 12 6 04 57 35 12 25
¥50041-125-05 12 8 05 59 [ 855 | 12 25
Y50041-14-05 14 8 05 61 37 14 29
Y50041-14-06 14 10 06 62 [ 375 14 29
Y50041-14-08 14 13 08 74 | 385 | 14 29
Y50041-16-08 16 13 08 77 |15 | 16 30 | fzn
Y50041-16-10 16 16 10 88 43 16 30 (s)
Y50041-20-10 20 16 10 93 48 20 36
Y¥50041-20-12 20 19 12 101 | 52.5 20 36
¥50041-25-12 25 19 12 102 | 54 25 40
Y50041-25-16 25 25 16 110 55 25 40
Y50041-30-16 30 25 16 114 | 59.5 | 30 44
Y50041-30-20 30 32 20 125 | 63.5 30 44
Y50041-38-16 38 25 16 119 | 63.5 | 38 50
Y50041-38-20 38 32 20 129 68 38 50

i 1 RS FREUAE . 2. Wi SR U5 2l YB0042-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is  Y50042-XX-XX.

I°BAFREXNEE
90°Metric Standpipe Straight
®_5 HriE ¥ HOSE BORE Ji:} DIMENSIONS &k
PART NO. TUBEO.D | %4FEMEDN | 5 DASH B H D L1 | NOTE
Y50091-06L-04 6 6 04 31 44 6 22
Y50091-10L-05 10 8 05 33 53 10 23
¥50091-10L-06 10 10 06 36.5 | 55 10 23
Y50091-12L-06 12 10 06 36.5 | 60 12 25
¥50091-12L-08 12 13 08 43.5 67 12 25 :
Y50091-15-08 15 13 08 435 | 69 | 15 | 25 | A4
¥50091-18-10 18 16 10 55 73 18 26 L
¥50091-22-10 22 16 10 55 75 22 28
¥50091-22-12 22 19 12 64 86 22 28
¥50091-22-16 22 25 16 74 | 915 | 22 28
Y50091-28-16 28 25 16 74 | 935 | 28 30
¥50091-35-20 35 32 20 91.5 [112.5| 356 36
Y50091-085-04 8 6 04 30 48 8 24
¥50091-085-05 8 8 05 33 55 8 24
¥50091-085-06 8 10 06 36.5 | 58 8 24
¥50091-105-04 10 6 04 32 50 10 23
Y50091-125-04 12 6 04 32 50 12 23
¥50091-125-05 12 8 05 33 60 12 23
¥50091-14-06 14 10 06 36.5 63 14 29
¥50091-14-08 14 13 08 43.5 | 69 14 29
¥50091-16-08 16 13 08 43.5 | 70 16 30 |HERY
¥50091-16-10 16 16 10 55 77.5 16 30 (s)
¥50091-20-10 20 16 10 55 | 835 | 20 36
¥50091-20-12 20 19 T2 64 | 955 | 20 36
¥50091-25-12 25 19 12 64 | 99.5 | 25 40
Y¥50091-25-16 25 25 16 74 [103.5| 25 40
¥50091-30-16 30 25 16 74 |109.5| 30 40
Y50091-30-20 30 32 20 91.56 [120.5| 30 44
¥50091-38-16 38 25 16 74 |115.5| 38 50
¥50091-38-20 38 32 20 91.5 [126.5| 38 50
e AL RAUSHIFRARAT. 2. il SRR TL 2 Y50092-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y50092-XX-XX.




® fax
R

$23 % %] HOSE FITTING

NER

Swaged Hose Fitting

Wk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

Y12611

Y12611A

|37

RESMRY60° AHE

BSP Metric 60° Cone Seat -ISO 12151-6

s BT ¥ HOSE BORE 5 DIMENSIONS
PART NO. THREADT | ~Af#44EDN | br5 DASH L S1
¥12611-04-04 G1/4'X19 6 04 24.5 14
Y12611-06-05 G3/8"'%19 8 05 27.5 17
¥12611-06-06 G3/8"'X19 10 06 27.5 17
¥12611-06-08 G3/8'X19 13 08 26.5 19
Y12611-08-06 G1/2'X14 10 06 30.5 22
Y12611-08-08 G1/2'X14 13 08 31 22
¥12611-10-08 G5/8'X14 13 08 32.5 24
¥12611-10-10 G5/8"X14 16 10 33.5 24
¥12611-12-08 G3/4'X14 13 08 35.5 27
¥12611-12-10 G3/4'X14 16 10 36.5 27
¥12611-12-12 G3/4"X14 19 12 36.5 27
¥12611-16-12 G1"'X11 19 12 30.5 36
Y12611-16-16 G1"X11 25 16 41.5 36
¥12611-20-16 | G1.1/4"X11 25 16 43.5 46
¥12611-20-20 | G1.1/4"X11 32 20 44.5 46
¥12611-24-20 | G1.1/2"X11 32 20 46 50
¥12611-24-24 | G1.1/2°X11 38 24 46 50
¥12611-32-32 G2'X11 51 32 53.5 65

P 1. RPUSHIFREURE . 2, W H F ARSI 808 Y12612-XX-XX.
braided hoses. 2.If use with spiral hoses hose fitting series numberis Y12612-XX-XX.

Note:1.For use with

HWEIMEL60° AR AR EE S BB A REL
BSP Male Double Use For 60°Cone Seat Or Bonded Seal ISO 12151-6

s AT ¥’y HOSE BORE JUs DIMENSIONS
PART NO. THREADT | AR A4#DN | hi's DASH L S1
Y12611A-04-04 G1/4"X19 6 04 25.5 19
Y¥12611A-06-05 G3/8"X19 8 05 27.6 22
Y12611A-06-06 G3/8"X19 10 06 26 22
Y12611A-06-08 G3/8"X19 13 08 28 22
Y12611A-08-06 G1/2"X14 10 06 32 27
Y12611A-08-08 G1/2"X14 13 08 33 27
Y12611A-08-10 G1/2"X14 16 10 34 27
Y12611A-10-08 G5/8"X14 13 08 36 30
Y12611A-10-10 G5/8"X14 16 10 37 30
Y12611A-12-08 G3/4"X14 13 08 35 32
Y12611A-12-10 G3/4"X14 16 10 36 32
Y12611A-12-12 G3/4"'X14 19 12 37 32
Y12611A-16-12 G1"'X11 19 12 39 41
11A-16-16 G1"X11 25 16 42 41
Y12611A-20-16 | G1.1/4"X11 25 16 45 50
Y12611A-20-20 | G1.1/4"X11 32 20 45 50
Y12611A-24-20 | G1.1/2"X11 32 20 46 55
|_Y12611A-24-24 | G1.1/2"X11 38 24 49 55
Y12611A-32-32 G2"X11 51 32 54.5 70

i 1 RPGH TR, 2, WFH TPAseiiE S o0 Y12612A-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y12612A-XX-XX.

Note:1.For use with

TE RIRL60° ST

Y22611 BSP Female 60° Cone ISO 12151-6

s BT ¥ HOSE BORE JU< DIMENSIONS

s L PART NO. THREADT | Z#A{£DN | br5 DASH L S1

B~ Y¥22611-02-04 G1/8 " X28 6 04 16 14

I P":i E'I IT Y22611-04-04 G1/4" X19 6 04 19 19

J_ 1 -mq‘ Y22611-04-05 Gi/4" X19 8 05 19 19

s ¥22611-04-06 G1/4 " X19 10 08 19 19

Y¥22611-06-04T G3/8 " X19 6 04 18 22

Y¥22611-06-05T | G3/8" X19 8 05 19 22

Y22611-06-06 G3/8 " X19 10 06 19.5 22

Y¥22611-06-08 G3/8 " X19 13 08 20 22

Y¥22611-08-06T G1/2" X14 10 08 20.5 27

Y¥22611-08-08 G1/2" X14 13 08 21.5 27

Y22611-10-08T | G5/8 " X14 13 08 22.5 30

Y2 2 6 1 1 -T Y22611-10-10 G5/8 " X14 16 10 23 30

¥22611-12-10T G3/4 " X14 16 10 23 32

. ¥22611-12-12 G3/4 " X14 19 12 24 32

s1 Y¥22611-16-12T G1" X11 19 12 24 41

) ¥22611-16-16 G1"X11 25 16 26 41

- ‘ Y¥22611-20-16T | G1.1/4 " X11 25 16 27.5 50
J_ = -20-20 _|G1la4xi1] 32 20 30.5 50 |

B Y¥22611-24-20T | G1.1/2" X11 32 20 32 55

Y22611-24-24 G1.1/2 " X11 38 24 31.5 55

Y22611-32-24T G2 " X11 38 24 33.5 70

Y22611-32-32 G2 " X11 51 32 34 70

U 1, RIS PRI . 2, WA TS PO Y22612-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22612-XX-XX.




fots s 3 &= . 2 HES
% =1 ?ﬁ % /?‘ 4] HOSE FITTING SEVE;JEC’ Hose Fitting e ?% 3k /% %1 HOSE FITTING  swaged Hose Fitting

Y22641 45 R EARNE0° ST 90°HE FBHE0° ST

45° BSP Female 60° Cone IS0 12151-6 Y22691 BSP Female 60° Cone ISO 12151-6
e BT 4 HOSE BORE /2] DIMENSIONS [ AT 7% HOSE BORE JUsI DIMENSIONS
PART NO. THREAD T | ZA#/A#DN | b5 DASH L H S1 PART NO. THREAD T | ZAFKA#EDN | #5% DASH L H S1
Y¥22641-02-04 G1/8"X28 6 04 388 15 14 Y¥22691-02-04 G1/8 " X28 6 04 32 | 27 14
Y22641-04-04 G1/4"X19 8 04 388 15 19 Y¥22691-04-04 G1/4" X19 6 04 32 | 28 19
Y¥22641-04-05 G1/4"X19 8 05 41.7| 18 19 151 Y22691-04-05 G1/4" X19 8 05 325|315 19
Y22641-04-06 G1/4°X19 10 06 45 | 19 19 Y¥22691-04-06 G1/4" X19 10 06 36.5| 34 19
¥22641-06-04T G3/8"X19 6 04 39.8| 16 22 K Y22691-06-04T | G3/8 " X19 B 04 32 | A 22
- Y22641-06-05T G3/8"X19 8 05 41.7| 18 22 ¥22691-06-05T | G3/8 " X19 8 05 325| 34 22
Y22641-06-06 G3/8"X19 10 06 44 | 18 22 Y¥22691-06-06 G3/8 " X19 10 06 36.5| 34 22
Y22641-06-08 G3/8"X19 13 08 54.3| 23 22 ¥22691-06-08 | G3/8 " X19 13 08 44.5| 42 22
Y22641-08-06T G1/2"X14 10 06 44 | 18 27 Y¥22691-08-06T | G1/2" X14 10 06 36.5| 35 27
Y22641-08-08 G1/2"X14 13 08 51.3| 20 27 v22691-08-08 G1/2" X14 13 08 445| 41 27
Y22641-10-08T | G5/8"X14 13 08 54.3) 23 30 Y¥22691-10-08T | G5/8 " X14 13 08 445| 45 30
Y22641-10-10 G5/8"X14 16 10 64.2| 25 30 Y¥22691-10-10 G5/8 " X14 16 10 55 | 51 30
Y22641-T ¥22641-12-10T | G3/4"X14 16 10 67.2| 28 32 ¥22691-12-10T | G3/4 " X14 16 10 55 | 56 32
¥22641-12-12 G3/4"X14 19 12 T71.7| 29 32 Y¥22691-12-12 G3/4" X14 19 12 62 | 58 32
¥22641-16-12T | G1"X11 19 12 74.7| 32 4 Y22691-T ¥22691-16-12T | G1' X11 19 12 62 | 62 1
Y22641-16-16 G1"X11 25 16 84.4| 35 41 ¥22691-16-16 G1" X11 25 16 74 | 70 41
Y¥22641-20-16T G1.1/4"X11 25 16 88.4| 39 50 | Y¥22691-20-16T [G1.1/4" X11 25 16 74 | 76 50
Y22641-20-20 G1.1/4"X11 32 20 100.8| 40 50 Y¥22691-20-20 |G1.1/4" X11 32 20 91.5| 85 50
Y22641-24-20T G1.1/2"X11 32 20 114.8) 54 55 v22691-24-20T |G1.1/2" X11 32 20 915| 92 55
Y22641-24-24 G1.1/2"X11 38 24 121.1] 50 55 . Y22691-24-24 |G1.1/2" X11 38 24 108 | 100 55
- Y22641-32-247 | G2'X11 38 24 130.1] 59 70 e ¥22691-32-24T7 | G2 ' X11 38 24 108 | 110 70
/ Y22641-32-32 | G2'Xi 51 32 155 | 70 70 s \ooeolasias DING2ER 51 32 133.8 140 70
e 1y RPN H TRV . 2, dH PSR S 20 Y22642-XX-XX.  Note:1.For use with v 1. BRSSO, 2, WAL L B BOhY22692-XX-XX.  Note:1.For use with
y braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22642-XX-XX. braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22692-XX-XX.

|39 40|



R T " . MER )
ﬁ {IEE' j"% % /% ﬁ” HOSE FITTING ;Sr\ldv’fgh;ted Hose Fitting ?),_( E‘?’ ?ﬁ 9;‘ ,% ﬁ” HOSE FITTING Swaged Hose Fitting

HERIRN60°IMEmTHORE 45° RERBNE0°/MEEHORE
¥22611-OR BSP Female 60°0-Ring Cone ISO 12151-6 Y22641-0OR 45°BSP Female 60°0-Ring Cone ISO 12151-6
5 Bar ¥ HOSE BORE JU:} DIMENSIONS e e 5% HOSE BORE Jis} DIMENSIONS
PART NO. THREAD T | ZVERP4¢DN | #5'5 DASH L S1 PART NO. THREADT | 2% /A%#DN | %5 DASH L H S1
¥22611-02-040R | G1/8 " X28 6 04 15 14 ¥22641-02-040R | G1/8 " X28 6 04 388/ 15 14
Y22611-04-040R | G1/4 " X19 6 04 19 19 Y¥22641-04-040R | G1/4 " X19 6 04 38.8| 15 19
Y22611-04-050R | G1/4 " X19 8 05 19 19 Y22641-04-050R | G1/4 " X19 8 05 41.7| 18 19
Y22611-04-060R | G1/4 " X19 10 06 19 19 v¥22641-04-060R | G1/4" X19 10 06 45 | 19 19
Y22611-06-040RT| G3/8" X19 6 04 18 22 Y¥22641-06-040RT| G3/8 " X19 6 04 39.8| 16 22
Y22611-06-050RT | G3/8 " X19 8 05 19 22 . ¥22641-06-050RT | G3/8 ' X19 8 05 41.7] 18 22
Y22611-06-060R | G3/8 " X19 10 06 19.5 22 Y¥22641-06-060R | G3/8" X19 10 06 44 | 18 22
Y¥22611-06-080R | G3/8" X19 13 08 20 22 Y22641-06-080R | G3/8 " X19 13 08 654.3| 23 22
Y22611-08-060RT | G1/2" X14 10 06 21 27 ’ ¥22641-08-060RT| G1/2 " X14 10 06 44 | 18 27
Y22611-08-080R | G1/2" X14 13 08 21.5 27 Y22641-08-080R | G1/2 " X14 13 08 51.3| 20 27
¥22611-10-080RT | G5/8 " X14 13 08 21.5 30 Y22641-10-080RT | G5/8 " X14 13 08 54.3| 23 30
¥22611-10-100R | G5/8" X14 16 10 23 30 ¥22641-10-100R | G5/8" X14 16 10 64.2| 25 30
Y22611-ORT Y22611-12-100RT| G3/4 " X14 16 10 23 a2 Y22641-ORT V¥22641-12-100RT | G3/4 " X14 16 10 672 28 32
Y22611-12-120R | G3/4 " X14 19 12 24 32 Y22641-12-120R | G3/4 " X14 19 12 71.7| 29 32
s1 L Y22611-16-120RT| G1" X11 19 12 25 41 Y22641-16-120RT| G1 "' X11 19 12 74.7| 32 41
/M ¥22611-16-160R | G1"X11 25 16 27 41 ¥22641-16-160R | G1'X11 25 16 844/ 35 a1
L 1 ¥22611-20-160RT | G1.1/4 " X11 25 16 28.5 50 ¥22641-20-160RT [G1.1/4 " X11 25 18 884/ 39 50
L | ¥22611-20-200R | G1.1/4 " X11 32 20 30.5 50 ¥22641-20-200R [G1.1/4 " X11 32 20 100.8| 40 50
¥22611-24-200RT| G1.1/2 " X11 32 20 32 55 ¥22641-24-200RT G1.1/2 " X11 32 20 114.8 54 55
¥22611-24-240R |G1.1/2" X11 38 24 315 55 ¥26411-24-240R lG‘l.‘H‘Z R 38 24 121.1| 50 55
o Y22611-32-240RT| G2"X11 38 24 33.5 70 ¥22641-32-240RT| G2 " X11 38 24 130.1| 59 70
¥22611-32-320R | G2"X11 51 32 34 70 , ¥22641-32-320R | G2' X11 51 32 155 | 70 70

FEe 1. FP B F RO . 2. I AR O T BUNY22612-XX-XX.  Note:1.For use with s 1. R PACT I FARSURAT. 2. W TSR IC T MO0 Y22642-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series numberis  Y22612-XX-XX. braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22642-XX-XX.

|41 42|



HT"«

$23. % %] HOSE FITTING

&=
Swaged Hose Fitting

|43

Y22691-OR

Y22611D

51

90° S E PIHRLI6 0° HMEE HORE
90°BSP Female 60°0-Ring Cone ISO 12151-6

Lk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

R_e e 5 HOSE BORE JL+J DIMENSIONS

PART NO. THREAD T | AFKATRDN | #i% DASH 1 H S1
Y22691-02-040R | G1/8 " X28 6 04 32 | 27 | 14
¥22691-04-040R | G1/4 " X19 6 04 32 [ 28 [ 19
¥22691-04-050R | G1/4 " X19 8 05 325[315] 19
¥22691-04-060R | G1/4 " X19 10 06 365 34 | 19
¥22691-06-040RT| G3/8 " X19 6 04 32 | 31 | 22
Y22691-06-050RT| G3/8 " X19 8 05 325| 34 | 22
¥22691-06-060R | G3/8 " X19 10 06 365| 34 | 22
¥22691-06-080R | G3/8 " X19 13 08 445 | 42 | 22
Y22691-08-060RT| G1/2" X14 10 06 365 35 | 27
Y¥22691-08-080R | G1/2" X14 13 08 445 | 41 | 27
Y22691-10-080RT| G5/8 " X14 13 08 445 | 45 | 30
¥22691-10-100R | G5/8 " X14 16 10 55 | 51 | 30
Y22691-12-100RT| G3/4 ' X14 16 10 55 | 56 | 32
Y22691-12-120R | G3/4 " X14 18 12 62 | 58 | 32
¥22691-16-120RT| G1"X11 19 12 62 | 62 | 41
Y¥22691-16-160R | G1 " X11 25 16 74 | 70 | 41
¥22691-20-160RT|G1.1/4 " X11 25 16 74 | 76 | 50
Y22691-20-200R |G1.1/4 " X11 32 20 915| 8 | 50
¥22691-24-200RT |G1.1/2 " X11 32 20 915 92 | 55
Y22691-24-240R |G1.1/2 " X11 38 24 108 | 100 | 55
Y22691-32-240RT| G2 " X11 38 24 108 | 110 | 70
¥22691-32-320R | G2 " X11 51 32 133.8| 140 | 70

AL KPS TR, 2, W TSRS 8N Y22692-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22692-XX-XX.

HERIE60 IMEEIN A
BSP Female 60° Cone Double Hexangon ISO 12151-6

e AT 4% HOSE BORE JiI DIMENSIONS

PART NO. THREADT | AFATEDN | §55 DASH L |s1]s2
¥22611D-04-04 | G1/4 " X19 6 04 23.5/ 19| 19
¥22611D-06-06 | G3/8 " X19 10 06 26.5| 22| 22
Y22611D-08-08 | G1/2" X14 13 08 31 | 27| 27
¥22611D-10-08 | G5/8" X14 13 08 32 | 30| 30
¥22611D-12-08 | G3/4 " X14 13 08 33 | 32| a2
¥22611D-12-12 | G3/4 " X14 19 12 34 | 32| 32
¥22611D-16-16 G1" X11 25 16 35.5| 41| 41
¥22611D-20-20 | G1.1/4 " X11 32 20 43.5| 50| 50

VB 1L RP IS FAAEET . 20 i TSR L 2O Y22612D-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is Y22612D-XX-XX.

Y22611D-SM

EERIENE0°IMEE NI A
BSP Female 60° Cone Double Hexangon ISO 12151-6

s ®aT ¥4 HOSE BORE J5) DIMENSIONS

PART NO. THREADT | A #M4#DN | bi¥ DASH L |81] 82
Y22611D-04-04SM| G1/4 " X19 6 04 23 | 14 | 19
¥22611D-06-065M| G3/8 " X19 10 06 25 | 17 | 22
Y22611D-08-085M| G1/2" X14 13 08 28.5| 22 | 27
¥22611D-10-085M| G5/8 " X14 13 08 30 | 22 | 30
¥22611D-12-085M| G3/4 * X14 13 08 31.5| 27 | a2
Y22611D-12-125M| G3/4 " X14 19 12 32.5| 27 | 32
¥22611D-16-165M| G1 " X11 25 16 36.3| 32 | 41
¥22611D-20-20SM| G1.1/4 * X11 32 20 41.5| 41 | 50

ik 1. BACTHFRMAERTT. 2. i F S5 T (5 50 Y22612D-XX-XXSM.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22612D-XX-XXSM.

90°RE TS PIRL60° JMEE

Y22691K 90°BSP Compact Female 60° Cone
= L Ry e # 4% HOSE BORE JU<} DIMENSIONS

?;a[ PART NO. THREAD T | ZA#MN42DN | bi 5 DASH I =T

Y22691K-04-04 | G1/4* X19 6 04 17.5] 22 | 14 | 19

= ¥22691K-06-04 | G3/8 ' X19 6 04 20 [24 [ 16 | 22
) ¥22691K-06-05 | G3/8* X19 8 05 20 | 24 | 16 | 22
L Y22691K-06-06 | G3/8 * X19 10 06 20 [ 24 | 16 | 22

T Y22691K-08-06 | G1/2* X14 10 06 23 |26.5] 19 | 27

4 Y22691K-08-08 | G1/2" X14 13 08 23.5[28.5] 19 | 27
¥22691K-10-10 | G5/8 ' X14 16 10 25 [29.5] 22 | 30

Y22691K-12-12 | G3/4 " X14 19 12 27.5| 33 | 27 | 32

¥22691K-16-16 | G1"X11 25 16 32.5(38.1] 33 | 41

44|




LA

faran

E}

23 % %] HOSE FITTING

NER

Swaged Hose Fitting

Wk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

|45

SEHEE MR

Y13011 BSPT Male
5 T #% & HOSE BORE ) DIMENSIONS
PART NO. THREAD T | 2% 1DN | #5+ DASH L 81
Y13011-02-04 R1/8"X28 6 04 18.5 12
Y13011-04-04 R1/4"X19 6 04 21 17
¥13011-04-05 R1/4"X19 8 05 21 17
Y¥13011-04-06 R1/4"X19 10 06 21 17
¥13011-06-04 R3/8"X19 6 04 214 17
1 Y13011-06-05 R3/8"X19 8 05 21.1 17
Y¥13011-06-06 R3/8"X19 10 06 211 17
Y¥13011-06-08 R3/8"X19 13 08 23.6 19
Y¥13011-08-06 R1/2"X14 10 06 26.3 22
Y13011-08-08 R1/2"X14 13 08 26.8 22
Y¥13011-08-10 R1/2"X14 16 10 26.8 22
¥13011-08-12 R1/2"X14 19 12 29.8 27
Y¥13011-12-08 R3/4"X14 13 08 27.5 27
Y¥13011-12-10 R3/4"X14 16 10 28.5 27
Y¥13011-12-12 R3/4"X14 19 12 29.3 27
Y¥13011-12-16 R3/4"X14 25 16 30 32
Y¥13011-16-12 R1"X11 19 12 35.1 36
Y13011-16-16 R1"X11 25 16 36.1 36
Y¥13011-20-20 R1.1/4"X11 32 20 36.8 46
Y¥13011-24-24 R1.1/2"X11 38 24 38.8 50
Y13011-32-24 R2"X11 38 24 421 65
Y¥13011-32-32 R2"X11 51 32 421 65

i 1 RPRSHPRARE. 2. WFEHTESHE T80 Y13012-XX-XX.
Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y13012-XX-XX.

Y¥22111

L

22111-T

L

Alil

EENIRGERE
BSP Female Multiseal
%= BT 4% HOSE BORE JisF DIMENSIONS
PART NO. THREAD T | AF442DN | k% DASH L S1
Y22111-02-04 G1/8"X28 6 04 17.5 14
Y22111-04-04 G1/4"X19 6 04 19.5 19
Y22111-06-05T G3/8"X19 8 05 20 22
Y¥22111-06-06 G3/8"X19 10 06 20.5 22
Y22111-06-08 G3/8"X19 13 08 21 22
Y¥22111-08-06T | G1/2"X14 10 06 23 27
Y22111-08-08 G1/2"X14 13 08 24 27
Y¥22111-08-10 G1/2"X14 16 10 24.5 27
Y¥22111-10-08T G5/8"X14 13 08 24 30
Y22111-10-10 G5/8'X14 16 10 25 30
Y¥22111-10-12 G5/8"X14 19 12 25 30
Y22111-12-10T | G3/4'X14 16 10 26 32
Y22111-12-12 G3/4"X14 19 12 26 32
Y22111-16-12T G1"X11 19 12 27 41
Y22111-16-16 G1"X11 25 16 28 41
Y¥22111-20-16T | G1.1/4"X11 25 16 28 50
Y22111-20-20 G1.1/4"X11 32 20 31.5 50
Y22111-24-20T | G1.1/2"%11 32 20 33 55
Y22111-24-24 G1.1/2"X11 38 24 33 55
Y¥22111-32-24T G2"X11 38 24 35 70
Y22111-32-32 G2"X11 51 32 35 70
i 1 PRSI TRIET. 2. TN FPESREASEONY22112-XX-XX.  Note:1.Foruse with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Y22112-XX-XX.

46|



® fax.
R

$23 & %] HOSE FITTING

&=
Swaged Hose Fitting

Y22141-T

45 B E R LIRE
45°BSP Female Multiseal

Wk & 4] HOSE FITTING

NE=
Swaged Hose Fitting

L
s1
T
5

|47

5 BT i HOSE BORE i3} DIMENSIONS
PART NO. THREADT |AFH1DN | 4% DASH L H S1
Y¥22141-02-04 G1/8" X28 6 04 43 |121.6 14
Y¥22141-04-04 G1/4 " X19 6 04 43 |121.6 19
Y¥22141-06-05T G3/8" X19 8 05 46 [22.9 22
Y¥22141-06-06 G3/8 " X19 10 06 50 |28.9 22
Y¥22141-06-08 G3/8 " X19 13 08 58 [25.5 22
Y¥22141-08-06T G1/2" X14 10 06 51 | 25 27
Y22141-08-08 G1/2" X14 13 08 61 |26.8 27
¥22141-08-10 G1/2" X14 16 10 68 | 28 27
Y¥22141-10-08T G5/8 " X14 13 08 60 [27.5 30
Y22141-10-10 G5/8" X14 16 10 68.5|28. 8 30
¥22141-10-12 G5/8" X14 19 12 74.5| 32 30
¥22141-12-10T G3/4 " X14 16 10 67 | 27 32
Y22141-12-12 G3/4 " X14 19 12 76 [33.7 32
Y22141-16-12T G1" X1 19 12 81.6| 33 LAl
Y22141-16-16 G1"X11 25 16 88 [35.1 41
¥22141-20-16T G1.1/4 " X11 25 16 89.5|36.5 50
¥22141-20-20 G1.1/4 " X11 32 20 101.5/40. 8 50
Y¥22141-24-20T G1.1/2" X11 32 20 104 | 43 55
Y¥22141-24-24 G1.1/2" X11 38 24 117.5/48. 2 55
¥22141-32-24T G2" X11 38 24 120 | 51 70
Y¥22141-32-32 G2 " X11 51 32 138 | 57 70

i 1 RPRSH PRI . 2, i FREZEHRTET 20h Y22142-XX-XXRW.

braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y22142-XX-XXRW.

Note:1.For use with

Y22191

I/%

Y22191-T

Y28611

==

52 $1

B

90° T E P IR
90°BSP Female Multiseal

{5 BET 4 HOSE BORE Ji+} DIMENSIONS
PART NO. THREADT  |AFA42DN | b DASH ER(ER S1
¥22191-02-04 G1/8" X28 6 04 30.5| 33 14
¥22191-04-04 G1/4 " X19 6 04 30.5] a7 19
¥22191-06-05T | G3/8"X19 8 05 33 |41.5 22
¥22191-06-06 G3/8" X19 10 06 36.5)43.5 22
¥22191-06-08 G3/8" X19 13 08 43,5 49 22
¥22191-08-06T | G1/2"X14 10 06 36.5| 46 27
¥22191-08-08 G1/2 " X14 13 08 43.5/51.5 27
¥22191-08-10 G1/2" X14 16 10 55 | 56 27
¥22191-10-08T G5/8" X14 13 08 43.5| 52 30
¥22191-10-10 G5/8 " X14 16 10 55 |56.5 30
¥22191-10-12 G5/8" X14 19 12 64 |64.5 30
¥22191-12-10T | G3/4"X14 16 10 55 [58.5 32
¥22191-12-12 G3/4 " X14 19 12 63 |66.5 32
¥22191-16-12T G1"X11 19 12 63 |67.5 4
¥22191-16-16 G1" X11 25 16 74 |74.5 41
¥22191-20-16T G1.1/4" X11 25 16 74 |76.5 50
¥22191-20-20 | G1.1/4" X11 32 20 91.5| 89 50
¥22191-24-20T | G1.1/2" X11 32 20 91.5/92.5 55
¥22191-24-24 G1.1/2" X11 38 24 109 | 106 55
¥22191-32-24T G2" X11 38 24 109 | 105 70
¥22191-32-32 G2 " X11 51 32 129 [125. 5 70

ks 1, RPN HFmEURAT. 2. Wi AL S MOk ¥22192-XX-XX.

Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series number is  Y22192-XX-XX.

BARAHI A RN 60°RER

JIS Metric Female 60° Cone Seat

(1% WET ¥ HOSE BORE Jish DIMENSIONS

PART NO. THREADT |AFFW72DN | §5% DASH L | 81|82
Y¥28611-12-04 M12X1.5 6 04 20.5| 17 17
Y¥28611-14-04 M14X1.5 6 04 21 |19 | 19
Y¥28611-14-06 M14X1.5 10 06 21 19 | 19
Y¥28611-16-04 M16X1.5 6 04 24 | 22 | 22
Y¥28611-16-05 M16X1.5 8 05 24 | 22 | 22
Y¥28611-16-06 M16X1.5 10 06 24| 220 22
Y¥28611-18-06 M18X1.5 10 06 25 | 24 | 24
¥28611-18-08 M18X1.5 13 08 25.5| 24 | 24
Y¥28611-20-08 M20X1.5 13 08 28.5| 27 | 27
Y28611-22-08 M22X1.5 13 08 25.5| 27 | 27
Y¥28611-24-08 M24X1.5 13 08 28 | 32 | 32
¥28611-24-10 M24X1.5 16 10 28.5| 32 | 32
Y¥28611-27-10 M27X1.5 16 10 28.5| 32 | 32
¥28611-30-12 M30X1.5 19 12 28.5| 36 | 36
Y¥28611-33-12 M33X1.5 19 12 31 | 41 | 41
¥28611-33-16 M33X1.5 25 16 32 | 41 | 41
Y¥28611-36-20 M36X1.5 32 20 35.5| 46 | 46

e 1. RPRSHTRABE. 2.

i TR AR S 2Ok Y 28612-XX-XX .

Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series number is  ¥28612-XX-XX.

48|




® NER

HERK
Bk R4 HOSEFITTING  swaged Hose Fitting A ¥ L R Y] HOSEFITTING  swaged Hose Fitting

B2 PR 56 0° P HEE 90°BA LI PRE60° I HET
Y28611GM JIC Metric Female 60°Cone Seat Y¥28691 90°JIC Metric Female 60°Cone Seat
5 L2 ¥ HOSE BORE JU:1 DIMENSIONS ®e gaT #§ HOSE BORE Js} DIMENSIONS
PART NO. THREAD T | AFHHDN | #5%5 DASH & S1 i PART NO. THREADT | AFHN42DN Fi'; DASH I H | 81| 82
i Y28611GM-12-04 | M12X1.5 6 04 20 17 Y28691-12-04 M12X1.5 8 04 30 (20.5] 17 | 17
51 Y28611GM-14-04 | M14X1.5 6 04 21 19 ¥28691-14-04 M14X1.5 6 04 30 | 30 |19 | 19
i Y28611GM-14-06 | M14X1.5 10 06 21 19 = / Y28691-14-06 M14X1.5 10 06 36.5| 28 | 19 | 19
T Y28611GM-16-04 | M16X1.5 6 04 24 22 = - Y28691-16-04 M16X1.5 6 04 30 | 28 | 22 | 22
Y28611GM-16-05 | M16X1.5 8 05 24 22 S2 " Y28691-16-05 M16X1.5 8 05 36.5 [37.5| 22 | 22
- Y28611GM-16-06 | M16X1.5 10 06 24 22 LL J Y28691-16-06 M16X1.5 10 06 36.5| 39 | 22 | 22
Y28611GM-18-06 | M18X1.5 10 06 25 24 T ¥28691-18-06 M18X1.5 10 06 36.5| 41 | 24 | 24
Y28611GM-18-08 | M18X1.5 13 08 245 24 Y28691-18-08 M18X1.5 13 08 43.5 |46.5| 24 | 24
Y28611GM-20-08 | M20X1.5 13 08 28.5 27 Y28691-22-08 M22X1.5 13 08 43.5 | 47 | 27 | 27
Y28611GM-22-08 | M22X1.5 13 08 25.5 27 Y28691-24-08 M24X1.5 13 08 43.5|48.5| 32 | 32
Y28611GM-24-08 | M24X1.5 13 08 27.5 32 Y¥28691-24-10 M24X1.5 16 10 55 | 53 | 32 | 32
Y28611GM-24-10 | M24X1.5 16 10 28.5 32 Y¥28691-30-12 M30X1.5 19 12 64 | 62 | 36 | 36
Y28611GM-27-10 | M27X1.5 16 10 28.5 32 Y¥28691-33-12 M33X1.5 19 12 64 | 70 | 41 41
Y¥28611GM-30-12 | M30X1.5 19 12 28.5 36 Y28691-33-16 M33X1.5 25 16 74 | 77 | 41 | 41
Y¥28611GM-33-12 | M33X1.5 19 12 31 41 Y28691-36-20 M36X1.5 32 20 91.5| 92 | 46 | 46
Y28611GM:35-16| M33X1.5 25 ig 32 41 P A, PGPS . 2. Wi TSR LT B0 Y28692-XX-XX.  Note:1.For use with
Y28611GM-36-20 | M36X1.5 32 20 35.5 46 braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y28692-XX-XX.
i 1 BPRSHTFRAKAT. 2. T THESHTTHI0NY28612GM-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y28612GM-XX-XX.
45° B PIIBL6 0° o A7 5 RIEL60° Ptk
Y28641 45°J1C Metric Female 60°Cone Seat Y29611 JIC GAS Female 60°Cone Seat JIS B8363
i L2 44 HOSE BORE 5 DIMENSIONS ®Re AT 4% HOSE BORE S5} DIMENSIONS
PART NO. THREAD T | AFFA{2DN | 4% DASH L H 51| 82 PART NO. THREAD T | 2A#<MN7DN | #i% DASH L s1 | s2
Y28641-12-04 M12X1.5 6 04 425| 19 | 17 | 17 i o L ¥29611-04-04 G1/4" X19 6 04 21 19 | 19
Y28641-14-04 | M14X1.5 6 04 425] 19 [ 19 | 19 e V20611-04-05 | G1/4" X19 8 05 21 19 [ 19
Y23841-19-06 | M14x1.5 18 6 43 | a3 LA | 49 . Y29611-06-04 | G3/8 " X19 6 04 23.5 22 | 22
V28641-16-04 | M16X1.5 6 04 45 [21.5] 22 | 22 | _ e | e R 5 SEalREE
Y28641-16-05 | M16X1.5 8 05 49 [25.5] 22 | 22 : Y29611.08-06 | G1/2* X14 10 06 o6 o7 | 27
¥28641-16-06 | M16X1.5 10 06 51.526.5] 22 | 22 V29611-08-08 | G1/2" X14 13 08 SEE 57 57
Y¥28641-18-06 | M18X1.5 10 06 52 | 26 | 24 | 24 Y29611-.10-10 | G5/8° X14 16 10 39 a0 | 50
¥28641-18-08 | M18X1.5 13 08 61 |28.5[ 24 | 24 g i V29611-12-10 | Ga/4 " X14 16 10 315 35 | 3o
) Y28641-22-08 | M22X1.5 13 08 81 [28.5| 27 | 27 Y29611-12-12 | Ga/4 " X14 19 12 315 32 | 32
. Y28641-24-08 | M24X1.5 13 08 62.5) 30 | 32 | 32 Y29611-16-16 | G1"X11 25 16 22 TR
Y28641-24-10 | M24X1.5 18 10 Al e He A O N TGRS, 2. W AR SHOEY29612 06X, Note-1 For use with
Y¥28641-30-12 obhini 19 L 27| ENATIRCCR|RAT braided hoses. 2.If use with spiral hoses,hose ﬁﬂing series numberis Y29612-XX-XX.
Y28641-33-12 M33X1.5 19 12 785 36 | 41 | 41
Y28641-33-16 M33X1.5 25 16 90 | 37 | 41 | 41
Y28641-36-20 M36X1.5 32 20 104 |43.5| 46 | 46
1 KPS TERABAE. 2. W THESEROE 105 MU Y28642-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y28642-XX-XX.

|49 50



® NER

PR, U s
#4593k 2 4 HOSE FITTING  swaged Hose Fitting &P 3 £ %] HOSE FITTING  swaged Hose Fitting

45° HAZH 12 560° R HEm T E MR
45°JIC GAS Female 60°Cone Seat JIS B8363 Y15611 NPT Male -SAE J516
RE AT % HOSE BORE J&5 DIMENSIONS (1% BAT ¥ HOSE BORE s} DIMENSIONS
PART NO. THREAD T | 2FPi#DN | #5%5 DASH L H 81| 82 r 51 PART NO. THREADT | 2 #RP4#£DN | #=% DASH L S
Y29641-04-04 | G1/4 " X19 6 04 425195 19 | 19 ; Y15611-02-04 NPT1/8" X27 6 04 18.5 12
Y¥29641-04-05 G1/4" X1 8 05 47 | 23 [ 19 | 19 Y15611-04-04 NPT1/4" X18 6 04 225 17
¥29641-06-04 | G3/8 " Xx19 6 04 445| 21 | 22 | 22 é ¥15611-04-05 | NPT1/4"X18 8 05 225 17
Y29641-06-06 | G3/8 " X19 10 06 51 | 25 | 22 | 22 i ¥15611-04-06 | NPT1/4" X18 10 06 225 17
Y29641-08-06 |G1/2" X14 10 06 53 | 27 | 27 | 27 Y15611-06-04 NPT3/8" X18 6 04 23 19
Y¥29641-08-08 G1/2 " X14 13 08 615| 29 | 27 | 27 ¥15611-06-05 NPT3/8" X18 8 05 235 19
¥29641-10-10 | G5/8 " X14 16 10 72.5/32.5| 30 | 30 ¥15611-06-06 | NPT3/8"X18 10 06 23.9 19
Y29641-12-10 G3/4 " X14 16 10 725| 33 | 32 | 32 s ¥15611-06-08 NPT3/8" X18 13 08 244 19
¥29641-12-12 | G3/4 " X14 19 12 79 | 36 | 32 | 32 ¥15611-08-06 | NPT1/2" X14 10 06 26.5 22
¥29641-16-16 | G1"XI11 25 16 90 [ 37 [ 41 | 41 Y15611-08-08 | NPT1/2"X14 13 08 265 22
PE: 1 RS TREUKEE. 2, WK AL 05 BONY29642-XX-XX.  Notert.For use with . YASbLL-08-10 _LNeLLZ. 214 16 10 Z5 a2
braided hoses. 2.If use with spiral hoses hose fitting series number is Y29642-XX-XX. ¥15611-12-08 NPT3/4" X14 13 08 29 27
Y15611-12-10 NPT3/4" X14 16 10 29.5 27
¥15611-12-12 NPT3/4" X14 19 12 30 27
Y15611-12-16 NPT3/4" X14 25 16 31 32
Y15611-16-10 NPT1" X11.5 16 10 33.5 36
Y¥15611-16-12 NPT1" X115 19 12 34 36
Y¥15611-16-16 NPT1" X11.5 25 16 35 36
Y¥15611-20-16 NPTL1/4" X115 25 16 375 46
Y15611-20-20 NPT1L.1/4" X115 32 20 38.5 46
Y15611-24-24 NPTL1/2°X115| 38 24 40.5 50
Y15611-32-32 NPT2" X11.5 51 32 43.5 65
e 1. RPRGHFEREEAT. 2. M FAESERECE MOk Y15612-XX-XX.  Note:1.For use with
90° HA T H NI 460° U HEE braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y15612-XX-XX.
Y29691 90°JIC GAS Female 60°Cone Seat JIS B8363
Re BT % HOSE BORE Jis DIMENSIONS
PART NO. THREAD T | 2 ¥M#DN | #+%5 DASH L H 51 | 82
Y29691-04-04 G1/4" X19 6 04 305| 36 19 19
Y¥29691-04-05 | G1/4 " X19 8 05 33 [395] 19 | 18 T T
s Y¥29691-06-04 | Ga/8 " X19 6 04 305| o7 | 22 | 22 Y15611SW NPT Swivel Male
/ i n "
- Y¥29691-06-06 G3/8 i X19 10 06 365| 44 | 22 | 22 pree BT 77 HOSE BORE i DIMENSIONS
k Y¥29691-08-06 G1/2" X14 10 06 365| 46 | 27 | 27 = &
S PART NO. THREADT | ZFrPA42DN | f5'%r DASH L S1
Y¥29691-08-08 G1/2" X14 13 08 44 |515| 27 | 27
s . Y15611SW-04-04 | NPT1/4 " X18 6 04 47.3 19
- ¥29691-10-10 G5/8 " X14 16 10 55 | 59 | 30 | 30
= Y15611SW-06-06 | NPT3/8 " X18 10 06 54 22
¥29691-12-10 G3/4 " X14 16 10 56 |57.5| 32 | 32
W Y15611SW-08-08 | NPT1/2 " X14 13 08 64 27
¥29691-12-12 | G3/4 " X14 19 12 63 | 655 32 | 32 R ) [ 5 = = =
Y¥29691-16-16 G1"X11 25 16 74 | 745 41 41 =
Ve . PG TS, 2, W PRSI0 TR Y29692-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y29692-XX-XX.

|51 52|



® NER

MER
ﬁ {Ié_r' j"% % /?\ ﬁ” HOSE FITTING Swaged Hose Fitting ﬁ %,’:' }‘ﬁ % ,% ﬁ” HOSE FITTING Swaged Hose Fitting

Y15691KSW el V24211 £HORFSHBLFE
90°NPT Swivel Male ORFS Female Flat Seat 1SO 12151-1 -SAE J516
- e BET %} HOSE BORE Ji+ DIMENSIONS [ BT #f HOSE BORE JL5| DIMENSIONS
PARTNO . THREAD T | ZFi/i#DN | b5 DASH L[ H]|s1]s2 - L PART NO. THREAD T | Z###2DN [ 5% DASH L s1
(] Y15691KSW-04-04 | NPT1/4 " X18 6 04 25 [59.5] 16 | 19 ] Y24211-04-04 9/16 " X18 6 04 225 17
¥15691KSW-06-06 | NPT3/8 * X18 10 06 25 [64.5] 16 | 22 ~ I ¥24211-06-04T | 11/16 " X16 6 04 225 22
Y15691KSW-08-08 | NPT1/2 " X14 13 08 285(71.5| 19 | 27 | A ¥24211-06-05T | 11/16 " X16 8 05 235 22
- Y15691KSW-12-12 | NPT3/4 " X14 19 12 3 |76.9] 27 | 32 ¥24211-06-06 | 11/16 " X16 10 06 255 53
¥24211-08-06T | 13/16 " X16 10 06 25 24
¥24211-08-08 | 13/16 " X16 13 08 285 24
= ¥24211-08-10 | 13/16 " X16 16 10 29.5 24
¥24211-10-08T 1" X14 13 08 29 30
¥24211-10-10 1" X14 16 10 335 30
y ¥24211-12-08T | 1.3/16 * X12 13 08 31 36
a Y24211-T ¥24211-12-10T | 1.316" X12 16 10 32 36
Y24211-12-12 | 1.316" X12 19 12 35 36
& L Y24211-16-12T | 1.716 " X12 19 12 34 41
%ﬂ—;er:\ Y24211-16-16T | 1.7/16 " X12 25 16 38 41
. ¥24211-20-16T |1.11/18 " X12 25 16 as 50
] ¥24211-20-20  [1.1148" X12 32 20 40 50
¥24211-24-20T 2" Xx12 32 20 365 80
Y24211-24-24T BRI 38 24 365 60
i 1, FPGH PR, 2. THFESSEASEAY24212-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y24212-XX-XX.

ZHORFSHMELFEHOR B it
Y14211 ORFS Male O-Ring Seal ISO 12151-1 -SAE J1453
fis Bar 4% HOSE BORE Jis| DIMENSIONS I .
el A RN A O Fe T = = Y24211D ORFS Female Flat Seat Double Hexa ?ﬂﬁ?giﬁ?ﬁﬁiﬁﬁg\m
51 Y 14211-04-04 9/16 " X18 6 04 225 17 )

¥ 14211-06-04 11/16 " X16 6 04 24 19 wRe BT 4 HOSE BORE J&5) DIMENSIONS
Y 14211-06-06 11/16 * X186 10 06 24 19 PART NO. THREADT | A#M#EDN | #5% DASH L S1 | s2
11 = Y 14211-08-06 13/16 * X16 10 06 275 22 i ¥24211D-04-04 9/16 " X18 6 04 27.5 14 | 17
v Y 14211-08-08 13/16 " X16 13 08 285 22 S2. 1 Y24211D-06-04 11/16 " X16 6 04 30.5 19 | 22
L Y 14211-08-10 13/16 * X16 16 10 285 22 - ] Y24211D-06-05 11/16 " X16 8 05 30.5 19 | 22
¥ 14211-10-08 1" X14 13 08 32.5 27 - — Y24211D-06-06 11/16 " X186 10 06 30.5 19 | 22
Y 14211-10-10 1"X14 16 10 33.5 27 b Y24211D-08-06 13/16 " X16 10 06 33 22 | 24
Y 14211-12-08 1.3/16 " X12 13 08 35.5 32 Y24211D-08-08 | 13/16" X16 13 08 33.5 22 | 24
Y 14211-12-10 1.3116 " X12 16 10 36 32 ¥24211D-08-10 | 13/16" X16 16 10 34.5 24 | 24
Y 14211-12-12 1.3/16" X12 19 12 36.5 32 ¥24211D-10-08 1"X14 13 08 40 27 | 30
Y 14211-16-12 1.7/16 " X12 19 12 37 4 Y24211D-10-10 1" X14 16 10 41 27 | 30
Y 14211-16-16 1.7/16 " X12 25 16 38.5 41 Y24211D-12-08 1.3/16 " X12 13 08 31 36 | 36
Y 14211-20-20 | 1.11116 * X12 32 20 415 46 . ¥24211D-12-10 | 1.3/16" X12 16 10 32 36 | 36
Y 14211-24-24 2"X12 38 24 43 55 Y24211D-12-12 | 1.3/16" X12 19 12 35 36 | 36

VE: 1. PRI FRAET . 2, M F AT EOh V14212 XK XX, Note:1.For use with Y24211D-16-16 | 17/16 " X12 25 18 33 41 | &
B ) Y24211D-20-16 |1.11/16"X12 | 25 16 3 50 | 50
¥24211D-20-20 [1.11/16 " X12 32 20 40 50 | 50
¥24211D-24-20 2"X12 32 20 36.5 60 | 60
Y24211D-24-24 2012 38 24 36.5 60 | 60

i 1, EPS R TERARET. 2, W T ESEBAT LS SO Y24212D-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is Y24212D-XX-XX.

|53 54|



NER

' ’ ® MEst
B sk &2 4 HOSE FITTING Swaged Hose Fitting WGBS &% HOSE FITTING  swaged Hose Fitting

45" HIORFSREE S FEE ERICHMRET 45
Y24241 45°0RFS Female Flat Seat IS0 12151-1-SAE J516 Y16711 JIC Male 74° Cone 1SO 12151-5 -SAE J514
E e BaT i HOSE BORE J5) DIMENSIONS e B 4% HOSE BORE 5+ DIMENSIONS
PART NO. THREAD T | AFWNEDN | #i%5 DASH 5 H S1 PART NO. THREADT | 2#7N42DN | 5’5 DASH L S1
¥24241-04-04 9/16 " X18 6 04 338| 10 17 L Y16711-04-04 | 7/16* X20 6 04 26.5 12
e = Y24241-06-04T | 11/16 " X16 6 04 348 11 2 s1 Y16711-05-04 | 1/2"X20 6 04 265 14
3 Y24241-06-05T | 11/16 * X16 8 05 347 1 22 Y16711-05-05 1/2 " X20 8 05 26.5 14
. Y 24241-06-06 11/16 " X186 10 06 7 22 Y16711-05-06 1/2" X20 10 06 265 17
Y24241-08-06T | 13/16" X16 10 06 41 | 15 24 Y16711-06-04 | 9/16" X18 6 04 26.5 17
- ¥24241-08-08 13/16 " X16 13 08 46.3| 15 24 Y16711-06-05 | 9/16" X18 8 05 265 17
Y24241-08-10 13/16 * X186 16 10 552 16 24 Y16711-06-06 | 9/16" X18 10 06 26.5 17
¥ 24241-10-08T 1°X14 13 08 473| 16 30 Y16711-08-06 | 3/4"X16 10 06 31 22
Y 24241-10-10 1"X14 16 10 562 | 16 30 Y16711-08-08 3/4" X16 13 08 315 22
Y24241-T ¥24241-12-08T | 1.3/16" X12 13 08 523 21 3 Y16711-10-06 | 7/8"° X4 10 06 32 24
¥24241-12-10T [1.3/16* X12 16 10 602 21 36 ¥16711-10-08 7/8 " X14 13 08 345 24
Y24241-12-12  [1.3/16* X12 19 12 63.7] 21 36 ¥16711-10-10 | 7/8" X14 16 10 355 24
¥24241-16-12T [1.7/16" X12 19 12 66.7| 24 41 Y16711-12-08 | 1.1/16" X12 13 08 39 27
Y24241-16-16T |1.7/16 " X12 25 16 734 24 41 ¥16711-12-10 | 1.1/16" X12 16 10 40 27
¥24241-20-16T [1.11/16*X12 25 16 814 32 50 Y16711-12-12 | 1.1/16" X12 19 12 40 27
Y24241-20-20  [1.11/16" X12 32 20 928 32 50 ¥16711-12-16 | 1.1/16" X12 25 16 41 32
Y 24241-24-20T 2 X12 32 20 102.8| 42 60 ¥16711-14-10 | 1.3/16 " X12 16 10 40 32
¥ 24241-24-241 2%X12 38 24 113.1] 42 60 Y16711-14-12 | 1.3/16" X12 19 12 405 32
fE: 1 RPGHTROURE . 2. i aRSeOE LS 0 Y24242-XX-XX.  Note:1.For use with Y16711-16-12 | 1.5/16" X12 19 12 425 36
braided hoses. 2.If use with spiral hoses, hose fiting series numberis Y24242-XX-XX. Y16711-16-16 | 1.5/16" X12 25 16 435 36
Y16711-20-16 | 1.5/8" X12 25 16 46 46
Y16711-20-20 | 1.5/8 " X12 32 20 475 46
Y¥16711-24-20 | 1.7/8 " X12 32 20 53.5 50
Y16711-24-24 1.7/8 " X12 38 24 53 50
90° £ 4|ORFSPELTE ¥16711-32-32 | 2.1/2 " X12 51 32 64 65
Y24291 90°ORFS Female Flat Seat ISO 12151-1-SAE J516 fe A, B FMOURTT. 2, M IHF AT LS00 YI6T12-XX-XX.  Note:1.For use with
L fom BT 5 HOSE BORE J+ DIMENSIONS braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y16712-XX-XX.
PART NO. THREADT | A#Mf2DN | b5 DASH L H S1
/ ¥24291-04-04 916 " X18 6 04 32| 32 17
= | Y¥24291-06-04T 11/16 " X16 6 04 32 | 38 22
¥24291-06-05T | 11/16* X16 8 05 325| 38 22
Y¥24291-06-06 11/16 * X16 10 06 365| 38 22
¥24291-08-06T | 13/16 " X16 10 06 36.5| 41 24
Y¥24291-08-08 13/16 " X16 13 08 445 41 24
¥24291-08-10 13/16 " X16 16 10 55 | 47 24
Y¥24291-10-08T 1" X14 13 08 45| 47 30
¥24291-10-10 1" X14 16 10 55 | 47 30
¥24291-12-08T | 1.316" X12 13 08 445| 58 36
¥24291-12-10T | 1.3/16" X12 16 10 55 | 58 36
¥24291-12-12 1.316 " X12 19 12 62 | 58 36
¥24291-16-12T | 1.7/16 " X12 19 12 62 | 71 41
¥24291-16-16T | 1.7/16 " X12 25 16 74| 71 41
¥24291-20-16T | 1.11/16 " X12 25 16 74 | 78 50
¥24291-20-20 | 1.11/16" X12 32 20 915| 78 50
¥24291-24-20T 2" X12 32 20 91.5| 86 60
Y24291-24-24T 2" X12 38 24 108 | 86 60
i 1, BPRDH FESURT. 2. iR T Age T S B0k Y24292-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Y24292-XX-XX.

|55 56|



® NER

faram > P, N mEEt
Bk R4 HOSEFITTING  swaged Hose Fitting G ¥k R 4] HOSEFITTING  swaged Hose Fitting

SEFUICHRET74°HEmE EHICHIRNT4 MM B
JIC Female 74° Cone SeatISO 12151-5 -SAE J514 Y26711D-SM JIC Female 74° Cone Seat ISO 12151-5 Double Hexagon SAE J514
KR BET ¥ HOSE BORE Rl DIMENSIONS 5 RAT 445 HOSE BORE J&5+ DIMENSIONS
PA RT NO. THREADT |AFP4#EDN | bi% DASH L s1 i PART NO. THREADT | ZA#R/4%EDN | f5% DASH i 81| 82
¥26711-04-04 7/16 " X20 6 04 15 14 2 a ¥26711D-04-04SM | 7/16 " X20 6 04 20 12| 14
¥26711-05-04 1/2 " X20 6 04 15.5 7 :‘th ¥26711D-05-04SM | 1/2" X20 6 04 20.5 12| 17
¥26711-05-05 1/2 " X20 8 05 15.5 17 Y26711D-06-04SM | 9/16" X18 6 04 21 14| 19
Y26711-06-04T | 9/16" X18 6 04 15.5 19 “< Y26711D-06-065M | 9/16* X18 10 06 21 17 19
¥26711-06-05 9/16 " X18 8 05 15.5 19 Y26711D-08-065M | 3/4" X186 10 08 25 19| 22
¥26711-06-06 9/16 " X18 10 06 15.5 19 Y26711D-08-08SM | 3/4 " X16 13 08 24.5 22| 22
¥26711-07-06 9/16 " X18 13 08 16 19 _ Y26711D-08-10SM | 3/4 " X16 16 10 25.5 22 | 22
¥26711-08-06T | 3/4" X16 10 06 17.5 22 = Y26711D-10-08SM | 7/8" x14 13 08 24 22| 27
¥26711-08-08 3/4" X16 13 08 18 22 Y26711D-10-10SM | 7/8" X14 16 10 27 22 | 27
¥26711-08-10 3/4" X16 16 10 19 22 Y26711D-12-12SM | 1.1/16 * X12 19 12 31.5 27| 32
Y¥26711-10-08T 7/8" X14 13 08 18 27 Y26711D-16-12SM | 1.5/16 " X12 19 12 31.5 32| 41
¥26711-10-10 7/8" X14 16 10 20 27 Y26711D-16-165M | 1.5/16 " X12 25 16 32,5 32| 41
Y2671 1'T ¥26711-10-12 7/8" X14 19 12 20 27 Y26711D-20-20SM | 1.5/8 " X12 32 20 37 41| 50
. ¥26711-12-08T [1.1/16* X12 13 08 20 32 T A, RPCTHFRAKAT. 2. i ESRAT IR 50 Y26712D-XX-XXSM.  Note:1.For use with
1 ¥26711-12-10T |1.1/16 " X12 16 10 21.5 32 braided hoses. 2.If use with spiral hoses,hose fitting series number is  Y26712D-XX-XXSM.
~1) Y26711-12-12  [1.1/16" X12 19 12 215 32
"I JHil | v2e711-1412T7 [1.316°x12 | 19 12 21.5 3%
¥26711-16-12T [1.5/16" X12 19 12 22 41
¥26711-16-16  [1.5/16 " X12 25 16 23 41 45°EHICPRIRM74° RiEE
¥26711-20-16T | 1.5/8* X12 25 16 25 50 Y26741 45°JI1C Female 74° Cone Seat ISO 12151-5 -SAE J514
Y¥26711-20-20 1.5/8" X12 32 20 26 50 I ["Tas ¥4 HOSE BORE Ji5} DIMENSIONS
Y¥26711-24-20T | 1.7/8" X12 32 20 26.5 60 PART NO. THREADT | AWiA7#DN | #i% DASH L[H 81
¥26711-24-24 | 1.7/8 " X12 38 24 26.5 60 Y26741-04-04 7/16 " X20 6 04 338| 10 14
¥26711-32-24T | 2.1/2" X12 38 24 26.5 Tis] Y26741-05-04 1/2 " X20 6 04 338 10 17
Y¥26711-32-327 | 2.1/2" X12 51 32 27 75 ¥26741-05-05 1/2 " X20 8 05 337 10 17
PE 1. PSR, 2, WFE TSRS B0 Y26712-XX-XX.  Note:1.For use with Y26741-06-04T | 9/16" X18 6 04 348 11 19
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y26712-XX-XX. Y26741-06-05 9/16 " X18 8 05 47l 11 19
Y26741-06-06 9/16 " X18 10 06 37| N 19
I CHRET 4 R R ETA V26741:06:08 9!16: X18 13 08 46.3| 15 19
Y26711D JIC Female 74° Cone Seat 1SO 12151-5 Double Hexagon SAE J514 Y20742-0B067 | saTXis L 10 o8 a1 18 2
Y26741-08-08 3/4" X16 13 08 46.3| 15 22
[ maT 4% HOSE BORE JUst DIMENSIONS Y26741-08-10 3/4" X16 16 10 55.2| 16 22
PART NO. THREAD T | 2#k/{#DN | #5 DASH L S1 | s2 Y26741-10-08T 7/8" X14 13 08 47.3| 16 27
L Y26711D-04-04 | 7/16 " X20 6 04 20 14 | 14 ¥26741-10-10 7/8" X14 16 10 55.2] 16 o7
2 [o V26711D-05-04 | 1/2° X20 B 04 205 17 [ 47 Y26741-T Y¥26741-10-12 7/8 " X14 19 12 637 21 27
'S: Y26711D-06-04 | 9/16" X18 6 04 21 19 [ 19 ¥26741-12-08T | 1.1/16 " X12 13 08 52.3| 21 32
"I 1 2 Y26711D-06-06 | 9/16" X18 10 06 21 19 | 19 L ¥26741-12-10T | 1.1/16 " X12 16 10 60.2| 21 32
- Y26711D-08-06 | 3/4*X16 10 06 25 24 | 22 & j %%\ ¥26741-12-12 1.1/16 " X12 19 12 63.7] 21 32
Y26711D-08-08 | 3/4 " X16 13 08 24.5 24 | 22 B ¥26741-14-12T | 1.3/16" X12 19 12 73.5| 31 36
Y26711D-08-10 | 3/4"X16 16 10 25.5 24 | 2 ¥26741-16-12T | 1.5/16 " X12 19 12 66.7| 24 41
Y26711D-10-08 | 7/8"X14 13 08 28 | i Y26741-16-16 1.5/16 " X12 25 16 734 24 41
Y26711D-10-10 | 7/8°X14 16 10 29 27 | 27 Y26741-20-16T | 1.5/8 " X12 25 16 814 32 50
¥26711D-12-12 |1.1/16 " X12 19 12 31.5 2 5 ¥26741-20-20 1.5/8 " X12 32 20 928| 32 50
Y26711D-16-12 | 1.5/16 " X12 19 12 33.5 41 | M Y26741-24-20T | 1.7/8" X12 32 20 102.8] 42 60
Y26711D-16-16 | 1.5/16 " X12 25 16 34.5 41 | M % Y26741-24-24 1.7/8 " X12 38 24 113.1] 42 60
Y26711D-16-20 | 1.5/16 " X12 32 20 36.5 41 | #H ¥26741-32-247 | 2.1/2" X12 38 24 1226 515 75
Y26711D-20-20 | 1.5/8" X12 32 20 39 50 | 50 Y26741-32-32T 2.14/2"X12 51 32 136.5/ 51.5 75
i 1 RS PR, 20 I ST LS Sl Y26712D-XX-XX.  Note:1.For use with i RS T WA, 2, W THESEAT LS Ml Y26742-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y26712D-XX-XX. braided hoses. 2.1f use with spiral hoses,hose fitting series numberis Y26742-XX-XX.

|57 58]



® NER

MER
ﬁ ',Iér' ?& % /% ﬁ” HOSE FITTING Swaged Hose Fitting ﬁ %—r' ?% % ,% 5” HOSE FITTING Swaged Hose Fitting

Y26791 90°EHIIC RBLTA FREE Y20011-T : ﬁﬂmgﬁﬁﬁf‘g&*
90°JIC Female 74° Cone Seat 1SO 12151-5 -SAE J514 Metie hremale Watetwash Tserts
% £ T
: o waT §i HOSE BORE FET DIMENSIONS I L ST [ DMENSICNS
PART NO. THREADT |4 F//2DN | 43 DASH L[| H si 001122.00T |t s s e % 3451 12
— S T e . & Y20011-22-05T | M2axi.5 8 05 % |34 14
BZ6750505 DRIl 200 g o4 e L Y¥20011-22-06T | M22X15 10 06 35 |345] 14
¥26791-05-05 1/2 " X20 8 05 325 | 32 17
gl ¥26791-06-04T | 9/16 " X18 6 04 32 [ 38 19
¥26791-06-05 | 9/16" X18 8 05 325 | 38 19
T . ¥26791-06:06 | 9/16° Xi8 10 06 %65 | 3 19
¥26791-06-08 | 9/16 " X18 13 08 445 | 41 19
{ Y26791-08-06T | 3/4° X16 10 06 365 | 41 2
Y26791-08-08 3/4 " X16 13 08 445 | 41 2
¥26791-08-10 3/4 " X16 16 10 55 | 47 2
Y26791-10-08T | 7/8" X14 13 08 445 | 47 27
Y¥26791-10-10 7/8" X14 16 10 55 | 47 27
Y26791-10-12 7/8" X14 19 12 62 | 58 27 EHHMERAS O
Y26791-T Y26791-12-08T | 1.1/16"X12 | 183 08 45| 58 2 Y17811-S SAE ?4"'\.!512 FLARE
Y26791-12-10T | 1.116° X12 | 16 10 55 | 56 o
Y26791-12-12 | 1.1/16"X12| 19 12 52 | 58 2 . PA{R{:.I.%NO z\ﬁ:ﬁf::ﬁ;?;% f e g,'MENSDNS
/ Y26791-14-12T | 1.3/16 " X12 19 12 64 | 635 36 51 V17811-04-045 5 04 43 | 12
Y¥26791-16-12T | 1.5/16 " X12 19 12 62 | T 41 5 Y17811-05-045 § 04 465| 14
=1 Y26791-16-16 | 1.516'X12 | 25 16 74 | 71 1 V1781106055 8 b 8 | 17
tH ¥26791-20-16T | 1.5/8 " X12 25 16 74 | 78 50 IS T o8 Al
T ¥26791-20-20 | 1.5/8" X12 32 20 915 | 78 NI7811.08°065 50 o8 50 | Hg
- Y26791-24-20T | 1.7/8 " X12 32 20 915 | 86 T = 5 T
: Y26791-24-24 | 1.7/8" X12 38 24 108 | 86 RIS . o5 T
Y26791-32-24T | 2.1/2° X12 38 24 108 | 140 75 RETTETInT T T o TS
: ¥26791-32-32T | 2.1/2" X12 51 32 1338 140 75
B VE: . R {CT TR, 2. AR U S R Y26792-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y26792-XX-XX.

SAE? = 3000 PSI 613

Y873 11 SAE Flange 3000 PSI Code 61 1SO 12151-3-SAE J516
"E BT %% HOSE BORE & DIMENSIONS
PART NO. THREADT | ZF/FDN | $3% DASH L D [ L1
90°ERIEHIIC RN T74° NHEHE Y87311-08-08 12" 13 08 46 302 | 6.73
Y26791-K 90°JIC Compact Female 74°Cone Seat SAE J514 J Y¥87311-12-08 34" 13 08 47 381673
L s BaT 4 HOSE BORE JL| DIMENSIONS R Ll L L . =] 360111673
s PART NO. THREAD T | 2% /DN | i+ DASH L[ H][s&1]s2 vl L Y¥87311-12-12 S L i Ll 96 [i675
ba Y26791K-04-04 | 7/16 " X20 6 04 175 18 | 11 | 14 BALLIZIE = 2 18 2 8T8
: Y26791K-05-05 | 1/2" X20 8 05 9.5 18 | 11 | 17 :g;gﬂjg:ig e - = o e
=, | Y¥26791K-06-04 9;15 " X18 6 04 19 | 21 [ 14 | 189 e 5 - 5 = AR
Y26791K-06-06 | 9/16° X18 10 06 20 | 21 [ 16 | 19 -
U Y26791K-08-06 | 3/4*X16 10 06 23 | 25 | 19 | 24 YBZ31120-16 L it = L St 5051 8
L] ¥26791K-08-08 | 8/4" X16 13 08 235[ 25 | 22 | 24 ggﬁ'iggg L 2 x = sl 8
Y26791K-10-08 7/8" X14 13 08 23.5|27.5| 22 27 S z =
y Y26791K-10-10 | 7/8° X14 16 10 25 |27.5| 22 | 27 Y87311-24-24 | 102 e = £t L
Y26791K-12-12 [1.1/16" X12 19 12 27.5| 30 | 27 | 32 Y87311-32-24 2“ 38 24 66 714|953
Y¥26791K-16-16 | 1.5/16 " X12 25 16 43 [34.3] 33 | &1 +Y8731:r:12£32m — 4; h ;nmm; - a: — 66 714|953
< 8 L F 4 ] e g e P Lo . B i 1 KPS TREURE . 2. W H TS S Y87312-XX-XX,  Note:1.Foruse with
;:ira:id:d h&ui,;{sk “zﬁ Js?illtﬁiimalzho?e@ ﬁisl:%t.‘;ﬁg\E‘:j{ike:;%ﬁg’;ﬁ;’g%;;g%-zxié;(x_x:-me.LForuse Wi braided hoses. 2.If use with spiral hoses hose fitting series numberis Y87312-XX-XX.

|59 60|



nERS HERX

' ' ®
w3k A% HOSE FITTING Swaged Hose Fitting e 3L 2 %] HOSE FITTING  swaged Hose Fitting

45°SAE ? = 3000 PSI 618 SAE ? = 6000 PSI 628!
Y87341 45°SAE Flange 3000 PSI Code 61 1SO 12151-3-SAE J518 Y87611 SAE Flange 6000 PSI Code 62 1SO 12151-3-SAE J518
% AT ¥ HOSE BORE JLs} DIMENSIONS o LA 7% HOSE BORE | DIMENSIONS
PART NO. THREAD T | A#A2DN | 55 DASH L H D L1 PART NO. FLANGE SIZE | /A% P #*DN | }5% DASH L D | L

L Y87341-08-08 172" 13 08 503 | 19 | 30.2| 6.73 £l ¥87611-08-08 100 13 08 47 31.7|7.75
Y87341-12-08 3/4" 13 08 573 | 26 | 38.1| 6.73 ]:?]_Jhllm]]‘q Y87611-12-10 a4 16 10 51 41.3|8.76
= Y87341-12-10 3/4" 16 10 652 | 26 | 38.1| 6.73 ol — =2 Y87611-12-12 34" 19 12 51 41.3]8.76
Y87341-12-12 34" 19 12 687 | 26 | 38.1| 6.73 i :‘ Y87611-16-12 1 19 12 56 47.6]9.53
@ £ Y87341-12-16 3/4 " 25 16 794 | 30 | 38.1| 6.73 L Y87611-16-16 1 25 16 57 47.6|9.53
Y87341-16-12 1°* 19 12 747 | 32 | 444| 8 Y87611-16-20 1t 32 20 58 47.6| 9.53
Y87341-16-16 1" 25 16 814 | 32 | 444| 8 Y87611-20-16 1.1/4" 25 16 65 54 |10.29
Y87341-16-20 e 32 20 958| 35 | 444| 8 g ¥87611-20-20 1.1/4" 32 20 66 54 [10.29
Y87341-20-16 11/4" 25 16 874 | 38 | 508| 8 = <N Y87611-24-20 1.1/2" 32 20 75 63.5 [12.57
Y87341-20-20 1.1/4" 32 20 938 | 38 | 508 8 ¥87611-24-24 1.4/2" 38 24 75 63.5[12.57
Y87341-24-20 142" 32 20 10475 44 | 603| 8 Y87611-32-24 2 38 24 85 79.4 {1257
Y87341-24-24 1.14/2" 38 24 1151| 44 | 603| 8 Y87611-32-32 i 51 32 85 79.4 12,57

185415224 2" 3 24 127456 714! 9.53 P A, BT FRART . 2, WA AR (CS 0 YBT6120CXX,  Note:1.For use with

Y87341-32-32 2 51 32 141 | 56 | 714|958 braided hoses. 2.If use with spiral hoses hose fitting series numberis Y87612-XX-XX.
1 RPARGHFRSEAT. 2. MFE AR HATINS O YBT342-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series number is  Y87342-XX-XX.

90°SAE ? = 3000 PSI 615 45°SAE ? 2 6000 PSI 628,
Y87391 90°SAE Flange 3000 PSI Code 61 ISO 12151-3-SAE J518 Y87641 45°SAE Flange 6000 PSI Code 62 ISO 12151-3-SAE J518
i AT %4 HOSE BORE JsF DMENSIONS 5 7t 3 4% HOSE BORE JUs) DIMENSIONS
PART NO. THREAD T | 4#/444DN | ki’ DASH L{H] D] W1 PART NO. FLANGE SIZE | 22 Fi/4{£DN | bi*; DASH To | e s
i Y87391-08-08 12" 13 08 445| 40 | 30.2| 6.73 Y87641-08-08 12" 13 08 50.039[31.7|7.75
m ¥87391-12-08 34" 13 08 445| 58 | 38.1| 6.73 Y87641-12-10 a4 16 10 65 | Z6[41.3]|8.76
1’-2/ ¥87391-12-10 3/4 " 16 10 55 | 58 | 38.1| 6.73 Y87641-12-12 34" 19 12 CE I T01413]8.76
. ¥87391-12-12 34" 19 12 62 | 58 | 38.1]6.73 Y87641-16-12 1 19 12 T 1ar.6]9.53
I= ¥87391-12-16 34" 25 16 74 | 68 | 38.1] 6.73 Y87641-16-16 1¢ 25 16 oz | o|47.6]9.53
! Y87391-16-12 i 19 12 62 | 70 | 444| 8 Y87641-16-20 1" 32 20 8 7.5 8|47.6[/9.53
Y87391-16-16 15 25 16 74 | 70 | 444| 8 ; Y87641-20-16 1.1/4" 25 16 98.|®8| 54 [10.29
. Y87391-16-20 T 32 20 915| 82 | 44.4| 8 Y87641-20-20 1.1/4" 32 20 10 4].484] 54 [10.29
. Y87391-20-16 1.1/4" 25 16 74 | 90 | 508 8 Y87641-24-20 112 22 20 115|111 635257
Y87391-20-20 1.1/4" 32 20 915| 90 |s08| 8 Y87641-24-24 112 38 24 T2 7516 [g3.5 12,57
Y87391-24-20 14/2" 32 20 91.5| 104 | 603| 8 YB7641-32-24 2 18 24 A1 79.4 112,57
Y87391-24-24 e 38 24 108 | 104 | 603| 8 Y87641-32-32 2 51 32 79.4 [12.57,
¥87391-32-24 2" 38 24 108 | 138 | 71.4| 9.53 s, 4. S TR, 2, T e SR 4 "
vereiazs | 2 st » 1338 138 | 71.4] 953 braided hoson. 356 wilh Spivat oSt hase g sexes pumber 5. YTGA2IOGI0C oo
e 1. KPS H PR, 2, WFRH FaEse LSO Y8T7392-XX-XX.  Note:1.Foruse with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Y87392-XX-XX.

|61 62|



nES HERX

' ’ ®
14;5: '%T' % % /_?R ﬁu HOSE FITTING Swaged Hose Fitting !f‘hA %I' ?% % fﬁ?\‘ ﬁu HOSE FITTING Swaged Hose Fitting

90°SAE ? = 6000 PSI 628 Y70011 SRR
Y87691 90°SAE Flange 6000 PSI Code 62 1SO 12151-3-SAE J518 Metric Banjo DIN 7642
®£8 Yo ¥ HOSE BORE | DIMENSIONS e 4 # % HOSE BORE J3+] DIMENSIONS
L PART NO. FLANGE SIZE | A% 4{2DN | }%5 DASH i H D L1 PART NO. BOLT L MN4EDN | #5'5 DASH L d D H
%—I_] Y 87691-08-08 1/2" 13 08 44.5| 40 |31.7|7.75 —d Y70011-10-03 M10X1 5 03 17 [ 10.1] 17 | 10
P Y 87691-12-10 3/4" 16 10 55 | 58 |41.3|8.76 :l fi % Y70011-10-04 M10X1 6 04 19.5[10.1| 17 | 10
z f Y 87691-12-12 34" 19 12 62 | 58 |41.3[/8.76 \C ¥70011-12-04 M12X1.5 6 04 21 [12.1] 20 | 12
£ Y 87691-16-12 3 b 19 12 62 | 70 |47.6|9.53 4 L Y70011-12-05 M12X1.5 8 05 225|121 22 | 12
= Y 87691-16-16 4 25 16 74 | 70 |47.6[9.53 ¥70011-12-06 | M12X1.5 10 08 21 [12.1] 20 | 12
b Y 87691-16-20 1 a2 20 915| 82 [47.6/9.53 Y70011-14-04 M14X1.5 6 04 245(14.1| 24 | 14
. Y 87691-20-16 1.1/4" 25 16 74 | 90 | 54 [10.29 Y70011-14-05 M14X1.5 8 05 21 |14.1| 24 | 14
- Y 87691-20-20 1.1/4" 32 20 91.5| 90 | 54 [10.29 ¥70011-14-06 | M14X1.5 10 06 245\ 14.1| 24 | 14
Y 87691-24-20 1.1/2" 32 20 91.5| 104 | 63.5 [12.57 ¥70011-16-04 | M16X1.5 6 04 24 [16.1] 28 | 18
Y 87691-24-24 1.4/2" 38 24 108 | 104 [ 63.5[12.57 Y70011-16-05 | M16X1.5 8 05 24 [16.1] 28 | 18
Y 87691-32-24 2" a8 24 108 | 138 | 79.4 [12.57 Y70011-16-06 M16X1.5 10 06 24 |16.1| 28 | 18
Y 87691-32-32 2 51 32 133.d 138 [79.4[12.57 = Y70011-18-04 M18X1.5 6 04 30.5|18.1| 32 | 20
Vi A, IR, 2. W TR IO 0 YBTB92-XX- XX, Note:1.For use with :;ggﬁjg:gg m::ﬁ: 180 g: ::': 1:1 :; ;g
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Y87692-XX-XX. 0L TR YT -5 o 08 Zé : 8-1 o
Y70011-22-06 M22X1.5 10 06 222 abl(h2e
¥70011-22-08 M22X1.5 13 08 27.5(22.1] 35 | 22
¥70011-22-10 M22X1.5 16 10 28 |22.1| 39 | 22
Y70011-26-12 M26X1.5 19 12 36.5/26.1| 45 | 29
Y70011-30-16 M30X1.5 25 16 40 |30.1| 54 | 36
Y60011 W Iffﬁﬁﬁﬁ‘f% Y70011-30-20 | M30X1.5 32 20 41 |30.1] 54 | 36
RIE s A sl Sl EHI e 1 RS FEARGT. 2. Wi FAZ BT NS SUYT0012-XX-XX.  Note:1.For use with
185 e J&} DIMENSIONS braided hoses. 2.If use with spiral hoses,hose fitting series numberis ¥ 70012-XX-XX.
PART NO. SIZE A1 D1 D2
Y 60011-04-04D 174" 36.5 15 10
Y 60011-05-05D 5/16 " 36.5 20 14
Y 60011-06-06D 3/8" 36.5 20 14 Y72011 ?ﬁg%ﬁﬁ
Y 60011-08-08D 12" 37 24 1
Y 60011-10-10D 5/8" 38 26 2? HE L4 4% HOSE BORE J5) DIMENSIONS
Y 60011-12-12D 3/4" 38 29 24 PART NO. BOLT LFRMNTEDN | 155 DASH L|d|[D|H
Y 60011-16-16D §i* 44 39 31 Y¥72011-04-04 G1/4" X19 6 04 19.5/13.3| 24 | 14
Y 60011-20-20D 1.1/4" 46 46 38 o ¥72011-04-05 G1/4" X19 8 05 19.5(13.3| 24 | 14
Y 60011-24-24D 112" 51 55 47 7 Y72011-04-06 | G1/4" X19 10 06 22 [13.3| 24 | 14
Y 60011-32-32D ar 51 64 56 ‘l T Y72011-06-04 G3/8 " X19 6 04 22 [16.7] 29 | 18
Y 60011-20-20G 1.1/4" 66 45.5 38 2 L ¥72011-06-05 G3/8 " X19 8 05 22 [16.7| 29 | 20
Y 60011-24-24G 1.4/2" 72 54.5 44 Y¥72011-06-06 G3/8 " X19 10 06 22 [16.7| 29 | 20
Y 60011-32-32G DX 72 63.5 50 Y¥72011-06-08 G3/8 " X19 13 08 23.5/16.7| 28 | 20
Y 60011-04-04K 1/4* 33.5 15 1 ¥72011-08-05 G1/2" X14 8 05 275 21 | 85|22
Y 60011-05-05K 5/16 " 33.5 18 13 ¥72011-08-06 G1/2" X14 10 06 27.5|21.2| 35 | 22
Y 60011-06-06K 3" 33.5 18 15 \ Y¥72011-08-08 G1/2" X14 13 08 27.5(21.2| 36 | 25
Y 60011-08-08K 1/2* 33.5 22 18 Y72011-08-10 G1/2" X14 16 10 28.5/21.2| 36 | 25
Y 60011-10-10K 5/8" 38 25 20 ¥72011-10-10 G5/8 " X14 16 10 28 | 23 | 40 | 27
Y 60011-12-12K 3/4" 40 28 24 ¥72011-12-10 G3/4 " X14 16 10 32 |26.5| 48 | 31
Y 60011-16-16K 1 40 35 30 ¥72011-12-12 G3/4 " X14 19 12 32 |26.5| 48 | 31
Y 60011-20-20K 1.1/4" 42 42 38 ¥72011-16-08 G1"X11 13 08 40 |33.3| 48 | 36
B 1, AP FRSUE, 2. 7T BT E00 YE0012-XGXX, 3. DISAEIK, LEp e R 18 iz 40 |33.3| 64 | 36
G:SAER % K: #5.  Note:1.Foruse with braided hoses. 2.If use with spiral hoses,hose fitting ¥72011-16-16 G1"X11 25 16 41 |33.3| 54 | 36
series numberis Y60012-XX-XX. 3.D:SAEGeneral; G: SAEHigh pressure; K:MT e 1. AP U R, 2. W AT O B b YT2012-XX. XX,  Noterd.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis  Y72012-XX-XX.

|63 64|



®
( ’ | WL &%) HOSE FITTING

nES

Swaged Hose Fitting

N G ks

Y90011

L

o

|65

PN e
Metric Bolt DIN 7643

o BE Sk 2 %] HOSE FITTING

R EnEae
Interock Fitting

(553 BT | Ji5} DIMENSIONS
PART NO. THREAD T | L[ St
Y700M-10 M10X1 | 195| 6 14

| Y700M-12 M12X1.5 | 245] 6 17
Y700M-14 M14X1.5 26 | 6 19
Y700M-16 M16X1.5 285| 6 22
Y700M-18 M18X1.5 325 6 24
Y700M-22 M22X1.5 39 8 27
Y700M-26 M26X1.5 | 46 | 10 32
¥700M-30 M30X1.5 [ 51 | 10 36
it: MS70011{E | . Note: USE for Y70011 series

EHIBOR R
BSP Bolt

L% BRI Ji<F DIMENSIONS
PART NO. THREAD T L[ s1
Y720B-02 G1/8" X28 295| 4.8 14
Y720B-04 G1/4" X19 28.5] 6 19
Y720B-06 G3/8" X19 385 7 22
Y7208-08 G1/2" X14 44 [ 85 27
Y720B-10 G5/8" X14 48.5] 10 30
Y7208-12 G3/4" X14 46 | 10 32
Y720B-16 G1*X11 68.5| 13 41
i MiS720114EHl . Note: USE for Y72011 series

WHEERET

Double Connector

5 1 HOSE BORE R DIMENSIONS
PART NO. A#A4EDN | #7% DASH L
¥90011-04 6 04 12
¥90011-05 8 05 12
¥90011-06 10 06 12
¥90011-08 13 08 13
¥90011-10 16 10 16
¥90011-12 19 12 16
¥90011-16 25 16 23
¥90011-20 32 20 28
¥90011-24 38 24 26
Y90011-32 51 32 26
e 1 RPRGHTHEAKE . 2, TR PSS E0IY90012-XX-XX.  Note:1.For use with

braided hoses. 2.1f use with spiral hoses,hose fitting series numberis Y90012-XX-XX.

Y20513-T

Y20543-T

Y20593-T

L

H

ARARLG2AH PREERY
Metric Female 24° Cone O-Ring H.T.1SO 12151-2-DIN 3865

e BaT 4% HOSE BORE HTAE S DIMENSIONS
PART NO. THREADT | 2Af5#4°DN | % DASH | TUBEQ.D | L S1
¥20513-36-12T M36X2 19 12 25 335 46
¥20513-42-16T M42X2 25 16 30 375 50
¥20513-52-20T M52X2 32 20 38 455 60

AS°AHINERa24cE PREERY
45°Metric Female 24° Cone O-Ring H.T.ISO 12151-2-DIN 3865

e BT 4§ HOSE BORE BT J:] DIMENSIONS
PART NO. THREAD T |4 ¥kN#4DN | k55 DASH| TUBEO.D | L H S1
¥20543-36-12T | M36X2 19 12 25 80.2 | 305 46
¥20543-42-16T | M42X2 25 16 30 854 | 355 50
Y20543-52-20T M52X2 32 20 38 110.75| 42 60

0 ARIAERE24 . DREERS
90°Metric Female 24° Cone O-Ring H.T.ISO 12151-2-DIN 3865

o5 BT % HOSE BORE BTiE I DIMENSIONS
PART NO. THREAD T | 4 #K4f2DN| #7'5 DASH | TUBE 0.D L H 81
Y20593-36-12T M36X2 19 12 25 69 59 46
Y20593-42-16T M42X2 25 16 30 745 | 70 50
Y20593-50-20T M52X2 32 20 38 99.5 | 87 60

66|



W& 3L A %) HOSE FITTING  interock Fitting WA 3L # %) HOSE FITTING  Interock Fitting
B IRM60° S i = 2
Y22613-0OR BSP Female soi-aig ci?m 'fsoﬁi?fsgf-aé Y26713 JIC Female 74° Cone Seat Isguljﬁ?lﬂjsﬁysiggfsﬁﬁ

0 fs HRELT #:% HOSE BORE &I DIMENSIONS ; Re BT % HOSE BORE 151 DIMENSIONS
8] PART NO. THREADT | %:#i/442DN | kits DASH L S1 ELY PART NO. THREADT | Z#KA{EDN | #1%5 DASH L $1
I~ Y¥22613-12-120R G3/4"X14 19 12 26.5 32 Y26713-12-12 1.1116 " X12 19 12 26.5 32
SEAL ¥22613-16-160R | GI'X11 25 16 30.4 41 ,_1 Y¥26713-16-16 | 15016 X12 25 16 294 a1
= ¥22613-20-200R | _G1A4X11 32 20 35.8 50 ¥26713-20-20 | 1.58° X12 32 20 323 50
Y¥22613-24-240R | G1.1/2'X11 38 24 36.7 55 e L Y26713-24-24 1.7/8 " X12 38 24 352 60
Y26713-32-32 | 2.12" X12 50 32 345 75
ASCEEIRW60°IMER THEE
Y22643-OR 45°BSP Female 60°0-Ring Cone 1SO 12151-6 45 EHUICAIRERT4° WHEE
o - -
o e R Sl et Y26743 = 45 3IC Female 74° Cone Seat ISO 12151-5 -SAE J514
PART NO. THREAD T | /74 ##DN | bi's DASH L H 5 e T T R
¥22643-12-120R | G3/4'X14 19 12 78.7| 29 32 Yz‘;‘;‘:‘; ':?-12 mﬁfﬁi; L"M‘?f':’“ b "1[2"‘5“ 7(')-7 ; i;
Y22643-16-160R | G1"X11 25 16 84.9| 35 41 = . -
Y2644320-200R | G1.1/4°X11 32 20 108.8 40 50 W2T35T0: TOM b IS Y e 16 s 8o i)
Y26443-24-240R | G1.12°X11 38 2 1231 50 55 :;:;:g'ig‘iz :3;: 3 :1; :: 22 1?2? fz :g
Y26743-32-32 2.1/2" X12 51 32 136 515 75
90°ZE AIRM60° M EtE OEE
Y22693-0OR 90°BSP Female 60°0-Ring Cone 1SO 12151-6
.
i T W #i: HOSE BORE J<+} DIMENSIONS V26793 CcE . 90 SEHICAIRLRT4° PIiE
¥22693-12-120R | G3/4'X14 19 12 69 | 58 32 | ; - : =
/ e = = S = PARTNO. | THREADT | A/ {£DN[ 4 DASH L[H s1
. V3603 S0 0OR | BTN 5 o0 Son | 85 o ¥26793-12-12 | 1.1/6°X12 | 19 B 69 | 58 32
¥22603-24-240R | G1.1/2°X11 38 24 110 | 100 55 = Yggggg';ggg ‘»55’/"" :122 i: ;g ;‘;—g 4 4“1
Y. -20- 1.5/8 " X1 .. 78 50
= Wy ¥26793.24-24 | 178" X12 38 24 110 | 86 60
I | 1 Y¥26793-32-32 2.1/2" X12 50 32 133.3 | 140 75
68 ‘

|67




®

2EnE ke
Paras > Para i >
ﬁﬁ*ﬁ%%ﬁu HOSE FITTING Interock Fitting %E"*ﬁ%%ﬁu HOSE FITTING Interock Fitting
N 90 Z=HIORFSHIRLIFER
Y14213 e Maleo_Ring%ﬂﬂggsiE“fgﬁ@&%%’g Y24293 90°Elbow ORFS Female Flat Seat 15O 12151-1-SAE J516
e e 11 HOSE BORE R} DIMENSIONS - (s BET k% HOSE BORE Ji</ DIMENSIONS
PART NO. THREADT | ZAFiPIi#DN | }i% DASH L s1 PART NO. THREADT | A MFDN | §i5 DASH L H 81
Y14213-12-12 | 1.3/16° X12 19 12 38.5 3z Y¥24293-12-12 | 1.3/16° X12 19 12 69 | 58 36
e G 7 3 Y24293-16-16 | 1.7/16 " X12 25 16 745 11 4
ﬁ:ﬂgég’;g 11_171’;12 );lfrz s ;g ‘1‘2’_: 3: = ¥24293-20-20 | 1.11/16* X12 32 20 995/ 78 50
Fia21 13494 2 X2 57 R i = ¥24293-24-24 2" X12 38 24 110 | 86 60
T 'Wl@
1 8
= 1
Y24213 SEHORFSHREUTE SAEi%2 3000PSI 618
ORFS Female Flat Seat ISO 12151-1-SAE J516 Y87313 SAE Flange 3000 PSI Code 61
L5 SRAT 4t HOSE BORE 5| DIMENSIONS 1SO 12151-3-SAE J518
PART NO. THREADT | Z:#AfEDN | fi's DASH L st o A % HOSE BORE R DIMENSIONS
¥24213-12-12 | 1.3/16" X12 19 12 41 36 PART NO. FLANGE SIZE| 2%/ ##DN | #55 DASH L D [ Ui
¥24213-16-16 | 1.7/16" X12 25 16 444 a V87313-12-12 7y 19 12 50 38.116.73
Y24213-20-20 | 1.11/16 " X12 32 20 47.8 50 Y87313-16-12 i 19 12 53 444| 8
Y24213-24-24 2"X12 38 24 48.2 80 Y87313-16-16 T 25 18 54 44| B
¥87313-20-16 1.1/4° 25 16 59 50.8| 8
¥87313-20-20 1.1/4" 32 20 60 50.8| 8
¥87313-24-20 1.4/2° 32 20 70 60.3| 8
¥87313-24-24 147" 38 24 70 60.3| 8
¥87313-32-24 2 38 24 67.5 71.4]9.53
Y87313-32-32 2 51 32 64.5 71.4]9.53
45°2HIORFSRIEM T 45° 25 SAEL= 3000PS1 618
Y24243 45°EIbow ORFS Female Flat Seat ISO 12151-1-SAE J516 45° SAE Flange 3000 PSI Code 61
e BAT 1% HOSE BORE i+ DIMENSIONS Y87343 150 12151-3-SAE J518
PART NO. THREADT | AFkM##DN | 7' DASH L|H S1 e BERE % HOSE BORE st DIMENSIONS
¥24243-12-12 | 1.316"X12 19 12 70.7] 21 36 PART NO. FLANGE SIZE | Z+#5/4/2DN | 55 DASH LA ]D]L
¥24243-16-16 | 1.716" X12 25 16 739 24 a1 ¥87343-12-12 314" 19 12 75.7| 26 [38.16.73
¥24243-20-20 | 1.11/16 " X12 a2 20 100.8| 32 50 ¥87343-16-12 1" 19 12 817| 32 |44.4] 8
Y24243-24-24 2" X12 38 24 115.1] 42 60 Y¥87343-16-16 1% 25 16 819| 32 |444| 8
¥87343-20-16 1.1/4° 25 16 87.9| 38 [50.8] 8
¥87343-20-20 1.1/4" 32 20 106.8 38 |50.8] 8
¥87343-24-20 1.4/2" 32 20 1128 44 |60.3| 8
£ ¥87343-24-24 1.1/2° 38 24 117.1) 44 [60.3| 8
¥87343-32-24 > 38 24 129.1) 56 |71.4]|9.53
¥87343-32-32 2> 51 32 140.5 56 |71.4]9.53
70 ‘

|69




®
B

ik R 5

HOSE FITTING

fird
Interock Fitting

>

i

L7

Y323k £ % HOSE FITTING

ki
Interock Fitting

|71

90°SAE j£= 3000 PSI 613!

90°SAE Flange 3000 PSI Code 611SO 12151-3-SAE J518

&5 b i) ## HOSE BORE Ji+} DIMENSIONS
. PART NO. FLANGE SIZE | AFiN1EDN | b5 DASH L H D 5

/ﬁmmmq ¥87393-12-12 3/4" 19 12 69 | 58 [38.1[6.73
h ¥87393-16-12 1" 19 12 69 | 70 (44.4| B
- CW Y87393-16-16 1" 25 16 745| 70 [44.4] 8
. 3 Y87393-20-16 1.1/4" 25 16 74.5| 90 (50.8| 8
Y¥87393-20-20 1.1/4" 32 20 995( 90 |50.8| 8
Y87393-24-20 142" 32 20 995|104 |60.3| 8
Y87393-24-24 1.2 38 24 110 | 104 |60.3| 8

Y87393-32-24 2" 38 24 110 | 138 | 71.4|9.53

Y87393-32-32 2" 51 32 133.3| 138 | 71.4| 9.53

SAE %= 6000 PSI 628

Y87613 SAE Flange 6000 PSI Code 62 1SO 12151-3-SAE J518
L% 25 4 HOSE BORE Jist DIMENSIONS
PART NO. FLANGE SIZE | A Fi/412DN | i’y DASH L D L1

Y87613-12-12 34" 19 12 52.5(41.3 8.76

Y87613-16-12 i 19 12 55.5|47.6 9.53

Y87613-16-16 9s 25 16 58.5|47.6 9.53

Y¥87613-20-16 1.1/4" 25 16 66 | 54 10.29|

Y¥87613-20-20 1.1/4" 32 20 67.5| 54 10.29|

¥87613-24-20 1.1/2" 32 20 76 |63.5 12.57)

Y87613-24-24 1.1/2" 38 24 77 |63.5 12.57|

Y87613-32-24 2t 38 24 84 |79.4 12.57|

Y¥87613-32-32 2" 51 32 84 |79.4 12.57|

45°SAE j%= 6000 PSI 628

Y87643

45°SAE Flange 6000 PSI Code 621S0O 12151-3-SAE J518

R ) 4k HOSE BORE Jis DIMENSIONS
PART NO. FLANGE SIZE | Z+#:/44%DN | ¥5i% DASH L|IH]|D|[U
Y87643-12-12 3/4" 19 12 75.7| 26 |41.3|8.76
Y87643-16-12 1 19 12 81.7[ 32 |47.6/9.53
Y87643-16-16 1 25 16 81.9[ 32 [47.6]9.53
Y87643-20-16 1.1/4* 25 16 87.9| 38 | 54 [10.29
Y87643-20-20 1104 32 20 106.8| 38 | 54 |10.29
Y87643-24-20 1.2 32 20 112.8] 44 |63.5[12.57
Y87643-24-24 117" 38 24 117.1| 44 |63.5[12.57
Y87643-32-24 2' 38 24 129.1 56 |79.4|12.57
Y87643-32-32 2 51 32 1405) 56 |79.4[12.57

Y87693

Y87913

Y87943

90°SAE j£= 6000 PSI 628

90°SAE Flange 6000 PSI Code 62150 12151-3-SAE J518

5 | seme % HOSE BORE Jis} DIMENSIONS
PARTNO.  |FLANGE SIZE | 2¥iPf2DN | #i5 DASH L|H|D|UL1
¥87693-12-12 3/4" 19 12 69 | 58 [41.3]8.76
Y87693-16-12 e 19 12 69 | 70 |47.6/9.53
Y87693-16-16 1* 25 16 745 70 [47.6]9.53
Y87693-20-16 1.1/4" 25 16 745| 90 | 54 |10.29
Y87693-20-20 1.1/4" 32 20 99.5| 90 | 54 [10.29
Y87693-24-20 1.1/2" 32 20 99.5| 104 | 63.5 [12.57
L Y87693-24-24 1.1/2" 38 24 110 | 104 | 63.5[12.57
Y87693-32-24 2! 38 24 110 | 138 [79.4[12.57
Y87693-32-32 2" 51 32 133.3| 138 | 79.4 [12.57|
SAE j%= 9000 PSI

SAE Flange 9000 PSI

) HEME 4} HOSE BORE Jis; DIMENSIONS
PART NO. FLANGE SIZE| 7+ F3472DN | #i5 DASH L | D L1
Y87913-12-12 3/4" 19 12 58 [41.3 14.3
¥87913-16-12 i 19 12 62.5|47.6 14.3
Y87913-16-16 1" 25 16 63.5|47.6 14.3
Y87913-20-16 114 25 16 70.5| 54 14.3
Y87913-20-20 1.1/4" 32 20 71.5| 54 14.3
¥87913-24-20 112" 32 20 78.5|63.5 14.3
0 ¥87913-24-24 112" 38 24 79 |63.5 14.3
45°SAE ;%= 9000 PSI

45°SAE Flange 9000 PSI

e b ) /¥ HOSE BORE Jis) DIMENSIONS
PART NO. FLANGE SIZE| £ ##/44£DN | #55 DASH TV I I [T (]
¥87943-12-12 3/4" 19 12 80 | 35 [41.3[14.3
¥87943-16-12 e 19 12 81.5]36.5(47.6/14.3
¥87943-16-16 1 25 16 93 | 38 [47.6]/14.3
¥87943-20-16 1.1/4" 25 16 95.5| 40 | 54 [14.3
” ¥87943-20-20 1.1/4" 32 20 109 [44.5| 54 [14.3
Y87943-24-20 Bl 32 20 111 [46.5(63.5|14.3
Y87943-24-24 1.1/2" 38 24 127 |51.5(|63.5|14.3

72|



®

>

i

A= 5 . Sk
w33k £ %) HOSE FITTING  interock Fitting WA 3k A4 HOSE FITTING  Interock Fitting

90°SAE j%2= 9000 PSI e B
90°SAE Flange 9000 PSI Y15618-R5 NPT Male
5 EERE 4k HOSE BORE /15 DIMENSIONS I Wer T 4 HOSE BORE 2+ DIMENSIONS
PART NO. FLANGE SIZE | 74 %/472DN | 455 DASH L|H]D]L PART NO. THREAD T 7% DASH s1
Y87993-12-12 3/4" 19 12 71 | 69 |41.3]|14.3 Y15618-02-04(R5) | Z1/8"X27 04 12
Y¥87993-16-12 1" 19 12 71 | 71 [47.6(14.3 Y L Y15618-04-04(R5) | Z1/4"X18 04 17
Y87993-16-16 1 25 16 82 | 78 [47.6|14.3 = Y15618-04-06(R5) | Z1/4"X18 06 17
Y87993-20-16 1.1/4" 25 16 82 | 81 | 54 [14.3 - 5 Y15618-06-05(R5) | Z3/8"X18 05 19
Y87993-20-20 1.1/4" 32 20 99.5[/93.5| 54 |14.3 Y15618-06-06(R5) | Z3/8"X18 06 19
Y87993-24-20 1.1/2" 32 20 99.5[96.5[63.5/14.3 ¢t Y15618-08-08(R5) | Z1/2"X14 08 22
Y87993-24-24 1.1/2" 38 24 118 | 106 | 63.5|14.3 Y15618-12-10(R5) | Z3/4"X14 10 30
Y15618-12-12(R5) | Z3/4"X14 12 30
Y15618-16-16(R5) | Z1"X115 16 36
Y15618-20-20(R5) | Z1.1/4"X11.5 20 46
Y15618-24-24(R5) | Z1.1/2'X11.5 24 50
Y15618-32-32(R5) | Z2'X11.6 32 65
SAE 100 R5 & al iR ER
Y00518 Ferrule For SAE 100 R5 Hose S 1C SNRLL TASET
e 1ii HOSE BORE i+ DIMENSIONS Y16718-R5 JIC Male74° Cone
L PART NO. b5 DASH L S = We T 4 HOSE BORE L] DIMENSIONS
Y00518-04 04 28 17 PART NO. THREADT i DASH s1
Y00518-05 05 30.5 19 Y16718-04-04(R5) | 7/16"X20 04 12
== s 5 2 RS e v
-06-4 9/16"X18
s Ya0s1e-0s (d iz 24 Y16718-08-06(R5) | 3/4"X16 06 22
- Y00518-10 a0 i =l V16718-08-08(R5) | 3/4'X16 08 22
Y00518-12 12 53.5 32 Y16718-10-10(R5) | 7/8"X14 10 24
Y00518-16 16 42 36 Y16718-12-12(R5) | 1.1116"X12 12 30
Y00518-20 20 44.5 46 Y16718-16-16(R5) | 1.5/16"X12 16 36
% Y00518-24 24 47 50 Y16718-20-20(R5) | 1.5/8"X12 20 46
VGDEIEE32 22 57 85 Y16718-24-24(R5) | 1.7/8"X12 24 50
I MRL60°PIHET 5 SAE SMBLY 90°AMEM
Y12618-R5 BSP Male 60° Cone Seat Y17818-R5 SAE Male 90° Cone
e BT 4k HOSE BORE Ji-} DIMENSIONS R4 war T #if HOSE BORE Jis} DIMENSIONS
= PART NO. THREAD T | 7 #:/4# DN | %5 DASH s1 PART NO. THREAD T ki DASH S1
Y12618-04-04(R5) | G1/4"X19 5 4 14 Y¥17818-06-06(R5) 7/16"X20 06 17
T ~ Y12618-06-05(R5) | Ga/8"X19 6 5 17 Y17818-08-08(R5) | 9/16"X18 08 22
b Y12618-06-06(R5) | G3/8"X19 8 6 17 Y17818-12-12(R5) | 9/16"X18 12 30
Y12618-08-08(R5) | G1/2'X14 1 8 22
Y12618-10-10(R5) | G5/8"X14 13 10 24
¥12618-12-12(R5) | G3/4"X14 16 12 27
Y12618-16-16(R5) | G1"X11 22 16 36
Y12618-20-20(R5) | G1.1/4"X11 28 20 46
¥12618-24-24(R5) | G1.1/2'X11 35 24 50
¥12618-32-32(R5) | G2'X11 46 32 60

|73 74[



®

Wi 23k £ %) HOSE FITTING

fird
Interock Fitting

Y20418D-R5

METRIC Female 24° Cone O-ring L.T.

>

i

L7

Y323k £ % HOSE FITTING

SFinE:y
Interock Fitting

e W T i HOSE BORE % 74 e DT DIMENSIONS

PART NO. THREADT | /#4742 DN | bi's DASH | TUBEO.D c [s1]s2

Y20418D-14-04(R5) | M14X1.5 5 4 8 14 | 12 | 17

Y20418D-16-05(R5) | M16X1.5 5 5 10 21| 14 | 19

Y20418D-18-06(R5) | M18X1.5 8 6 12 18| 17 | 22

Y20418D-22-0B(R5) | M22X4.5 1 ) 15 3 |19 | 27

Y20418D-26-10(R5) | M26X1.5 13 10 18 21| 27 | 32

Y20418D-30-12(R5) | M30X2 16 12 2 38 | 30 | 36

Y20418D-36-16(R6) |  M36X2 22 16 28 45 | 36 | 41

Y20418D-45-16(R5) | M45X2 2 16 35 4 | 41| 50

Y20418D-45-20(R5) M45X2 28 20 35 4 41 50

Y20418D-52-24(R5) | M52X2 35 24 2 4 | 50 | 60

AHIRIEL24HHORBERY

Y20518-R5 METRIC Female 24° Cone O-ring H.T.
I W T 7 HOSE BORE W T4z D|_Ji+ DIMENSIONS

PART NO. THREADT | Z+# 4% DN | #5% DASH | TUBEO.D eh st sz

% 51 Y20518D-16-04(R5) | M14X1.5 5 04 8 18| 14 | 19

: Y20518D-16-05(R5) | M16X1.5 6 05 8 18 | 14 | 19

R - s Y20518D-18-04R5) | M18X1.6 5 04 10 15| 17 | 22

: Y20518D-18-06(R5) | M18X1.5 8 06 10 15 17 | 22

Y20518D-20-06R5) | M20X1.5 8 06 12 25| 17 | 24

Y20518D-22-06R5) | M22X1.5 8 06 14 3 | 19 | 27

Y20518D-24-08(R5) | M24X1.5 1 08 16 3 | 22 | 30

Y20518D-30-10(R5) | M30X2 13 10 20 25| 27 | 36

Y20518D-30-12R5) | M30X2 16 12 20 25| 27 | 36

Y20518D-36-12R5) | Ma6x2 16 12 25 32 36 | 41

Y20518D-36-16(R5) |  M36X2 22 16 25 32| 36 | 41

Y20518D42-16R5) | M42X2 22 16 30 39 | 41 | 50

Y20518D-42-20R5) | M42X2 28 20 30 39 | 41 | 50

Y20518D-52-20R5) | M52X2 28 20 38 45| 50 | 60

Y20518D-52-24R5) |  M52X2 35 24 38 45| 50 | 60

90°% NPSM R84y 60°/MER

Y21698D 90°NPSM Female 60° Cone
o 9T 77 HOSE BORE <" DIMENSIONS

PARTNO. | THREAD T [ %44 DN| 2% DASH B | H|S1]s2

Y21698D-04-04(R5) 1/4"%18 6 04 46 |405| 14 | 19

Y21698D-06-05(R5) | 3/8'X18 8 05 6 | 43 | 14 | 22

Y21698D-06-06(R5) |  3/8"X18 10 06 6 |453] 17 | 22

Y21698D-08-08(R5) | 1/2'X14 12 08 75 [532] 19 | 27

Y21698D-12-10(R5) | 3/4"X14 16 10 89 [535] 24 | 32

V21698D-12-12(R5) | 3/a"X14 20 12 89 [691] 27 | 32

Y21698D-16-16(R5) | 1"X11.5 25 16 105| 75 | 32 | M

Y21698D-20-20(R5) | 1.1/4"X11.5 32 20 12| 86 | 41 | 50

Y21698D-24-24(R5) | 1.1/2°X11.5 40 24 1121015 46 | 55

Y21698D-32-32(R3) | 2'X11.5 50 32 1121245 65 | 70

|75

I AR 60°51 M

Y22618D-R5 BSP Female 60° Cone
B ®T #k4} HOSE BORE J45t DIMENSIONS

PART NO. THREAD T 155 DASH C | s1]s2

¥22618D-04-04(RS) | G1/4"X19 04 55| 14 [ 19

Y22618D-06-05(R5) | G3/8"X19 05 63| 17 [ 22

Y¥22618D-06-06(R5) | Gars"x19 06 63|17 [22

¥22618D-08-08(R5) | G1/2"X14 08 75|19 [27

Y22618D-10-10(RS) | G5/8"X14 10 95| 22 [ 30

Y22618D-12-12(R5) | G3/4"X14 12 109] 27 | 32

¥22618D-16-16(R5) |  G1"X11 16 17] 32 |41

¥22618D-20-20(R5) | G1.1/4"X11 20 1 | 41 [ 50

EHIORFSAELCEENN

Y24218D-R5 ORFS Female Flat Double Hexagon
v BT $f HOSE BORE Jis} DIMENSIONS

PART NO. THREAD T 5% DASH e |s1l|s2

Y24218D-04-04(R5) |  9/16"X18 04 85| 14 | 19

Y¥24218D-04-05(RS) | 9/16"X18 05 85| 14| 19

¥24218D-06-06(RS) | 11/16"X16 06 10| 17 | 22

Y24218D-08-08(R5) | 13/16"X16 08 1|19 ] 27

¥24218D-10-10(R5) 1"X14 10 13.5] 24 | 30

Y¥24218D-12-12(R5) | 1.3/16"X12 12 15030136

Y¥24218D-16-16(R5) | 1.7/16"X12 16 15 | 36 | 41

¥24218D-20-20(RS) | 1.11/16"X12 20 15 | 41 | 50

Y24218D-24-24(R5) 27X12 24 16 | 50 | 60

i JIC IR 74°HEE

Y26718D-R5 JIC Female 74° Cone Seat
%5 ST #Kf HOSE BORE Jis) DIMENSIONS

52 81 PART NO. THREAD T b5 DASH c |[s1]s2
Y26718D-04-04(R5) |  7116"X20 04 9 | 14|15

B Y26718D-05-05(R5) 1/2"X%20 05 95 | 14 | 17
Y26718D-06-06(R5) | 9/16"X18 06 105[ 17 [ 19

! Y26718D-08-08(R5) |  3/4"X16 08 1] 22|24
Y26718D-10-10(R5) 7/8"X14 10 13 | 27 | 27

) Y26718D-12-12(R5) | 1.1/16"X12 12 15 | 32 | 32
Y26718D-16-16(R5) | 1.5(16"X12 16 16 | 38 | 41

Y26718D-20-20(R5) | 1.5/8"X12 20 17 [ 41 | 50

Y26718D-24-24(R5) | 1.7/8"X12 24 20 | 46 | 55

Y26718D-32-32(R5) | 2.1/2"X12 32 235| 65 | 75

76|



®
s 5 A8z
WA 3L &%) HOSE FITTING  InterockFitting

90°2EH) JIC RIRLL 74°itE
Y26798D-R5 90°JIC Female 74° Cone Seat
] BT ¥ HOSE BORE < DIMENSIONS
PART NO. THREADT [ 425 pAsH C | H][s1]s2
Y26798D-04-04(RS) | 7/16"X20 04 9 |335] 14 | 15
¥26798D-05-05(R5) | 1/2"x20 05 96 | 37 | 14 | 17
Y26798D-06-06(R5) | 9/16"x18 06 10.5(39.3| 17 | 19
Y26798D-08-08(R5) 3/4"X16 08 11 |475| 19 | 24
Y26798D-10-10(RS) | 7/8"X14 10 13 |525(| 24 | 27
Y26798D-12-12(R5) | 1.1/16"X12 12 15 |635| 27 | 32
Y26798D-16-16(R5) | 1.5/16"X12 16 16 | 70 | 32 | 41
Y26798D-20-20(R5) | 1.5/8"X12 20 17 | 85 [ 41 | 50
Y26798D-24-24(RS) | 1.7/8"X12 24 20 | 975 46 | 55
Y26798D-32-32(R5) | 2.1/2"X12 32 235(118.8] 65 | 75
SEHISAE PIIRET 90° R
Y27818D-R5 SAE Female 90° Cone Seat
Re ®ay T i HOSE BORE L5} DIMENSIONS
PART NO. THREAD T #5 5 DASH c |s1]s2
¥27818D-04-04(R5) | 7/16"X20 04 9 | 14| 15
¥27818D-05-05(R5) 1/2"X20 05 9 [ 14|17
¥27818D-06-06(RS) |  5/8"X18 06 1.3] 17 | 22
¥27818D-08-08(RS) |  3/4"X16 08 1 | 22| 24
¥27818D-10-10(R5) |  7/8"X14 10 13|27 | 27
¥27818D-12-12(R5) | 1.1/16"X14 12 143| 32 | 32
90° SAE £ 90°
Y27898D-R5 BO*SAE Paiala S0F Cons tans ,
] e T 1% HOSE BORE i+ DIMENSIONS A : ﬁ ~
PARTNO. | THREAD T [Zi##% DN| 4% DASH c | H[st1]s2 ] \ -H- N
¥27898D-06-06(R5) | 5/8"X18 10 06 11.3]40.8| 17 | 22 I J x K
Y27898D-08-08(R5) 3/4"X16 12 08 105[475| 19 | 24

Adapter

|77



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting it % #23k ADAPTER  z%) BSP And BSPT Thread Fitting ” i

L
A B 60°
| J/ 1B e~
sl 5 R e : 1B4
L | HUSMBLO0 I ARHEREA BEH o (/R ) EE— g
T : BSP MALE DOUBLE USE FOR 60° I- ? HESMRLI60° A 45°T
S1 CONE SEAT OR BONDED SEAL BSP MALE 60° SEAT 45° ELBOW
A S1
ke % £ THREAD &<} DIMENSIONS
PART NO. = -~ = = g = e i £ THREAD <} DIMENSIONS
Y1B-02Z G1/8"X28 G1/8"X28 10 10 26 14 it E 5 A B S1
V1B-02.042 T FPTYCT 0 5 % s Y1B4-02Z G1/8"X28 G1/8"X28 17 17 11
Y1B-02-06Z G1/8"X28 G3/8"X19 10 135 315 22 Y1B4-04Z G1/4"X19 G1/4"X19 205 20.5 14
Y1B-02-082 G1/8"X28 G1/2"X14 10 16 36 27 Y1B4-04-06Z G1/4"X19 G3/8"X19 21 22 16
Y1B-04Z G1/4"X19 G1/4"X19 12 12 30 19 Y1B4-06Z G3/8"X19 G3/8"X19 22 22 16
Y1B-04-06Z G1/4"X19 G3/8"X19 12 135 335 22 Y1B4-06-08Z G3/8"X19 G1/2"X14 24 27 22
Y1B-04-08Z G1/4"X19 G1/2"X14 12 16 38 27 Y1B4-08Z G1/2"X14 G1/2"X14 27 27 22
Y1B-04-10Z G1/4"X19 G5/8"X14 12 17.5 395 30 Y1B4-08-12Z G1/2"X14 G3/4"X14 28.5 31 27
Y1B-06Z G3/8"X19 G3/8"X19 13.5 135 35 22 Y1B4-10Z G5/8"X14 G5/8"X14 28.5 285 22
Y1B-06-082 G3/8"X19 G1/2’X14 135 16 395 2L Y1B4-10-12Z G5/8"X14 G3/4"X14 30 31 7
Y1B-06-10Z G3/8"X19 G5/8"X14 135 175 41 30 TYRTY] e T = & =
JUIE0 e Gy i LR i P Y1B4-12-16Z G3/a"X14 G1"X11 325 35 33
Y1B-08Z G1/2"X14 G1/2"X14 16 16 42 27 S S ey = = =
el e s = £ o X ¥1B4-16-20Z G1"X11 G1.1/4"X11 385 385 41
Y1B-08-12Z G1/2"X14 G3/4"X14 16 18.5 455 32 . - 5
ST r S o = % = Y1B4-20Z G1.1/4"X11 G1.1/4"X11 385 385 41
VABAD-107 SRR P TS Y T pee Y1B4-20-24Z G1.1/4"X11 G1.1/2"X11 415 44 48
Y1B-10-16Z G5/8"X14 G1"X11 17.5 205 51 41 Y1B4-24Z G1.1/2"X11 G1.a/2°X11 44 44 48
Y1B-12Z G3/4"X14 G3/4"X14 18.5 18.5 48 32 Y1B4-32Z G2'X11 G2'X11 51 51 63
Y1B-12-16Z G3/4"X14 (AL 185 20.5 525 41
Y1B-12-20Z G3/4"X14 G1.1/4"X11 185 205 55 50
Y1B-16Z G1"X11 G1"X11 205 205 54 41
Y1B-16-20Z G1"X11 G1.1/4"X11 205 205 58 50
Y1B-16-24Z GA™X11 G1.1/2"X11 205 23 60.5 55
Y1B-20Z G1.1/4"X11 G1.1/4"X11 205 205 58 50
Y1B-20-24Z G1.1/4"X11 G1.1/2"X11 20.5 23 60.5 55
Y1B-24Z G1.1/2"X11 G1.1/2"X11 23 23 63 55
Y1B-24-32Z G1.1/2"X11 G2"X11 23 255 66.5 70
YiB-32Z G2"X11 G2"X11 25.5 255 68 70
Y1B-40Z G2.1/2"X11 G2.1/2"X11 32 32 81 90
Y1B-48Z G3"X11 G3"X11 36 36 92 100

|79 80|



® ®
“ I i3k ADAPTER 21 BSP And BSPT Thread Fitting i % 23k ADAPTER  z%) BSP And BSPT Thread Fitting (, i

60°
E L
- A B 1B-WD
A=t o 1B9 -k EESMRLE0 A RIRE
| 60°\ “I T T T REEBRES /HEIMRG PR ZE
g0 w1 _j : REIMEL60° A 90° T BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
L ){_ BSP MALE 60° SEAT 90° ELBOW 81 BONDED SEAL / BSP MALE CAPTIVE SEAL
A $1 o # £ THREAD Jtz # CAPTIVE J < DIMENSIONS

PART NO. E F Fii A B L s1

Y 1B-04WDZ G1/4"X19 G1/4°X19 WD-B04 12 12 32 19

T TaTes REEET S ARTC . SEE S SER L

s E F A B St Y1B-06WDZ GIE'X1e_ | GaEX19 WD-B06 o e e

¥1B9-02Z G1/8"X28 G1/8"X28 19.8 19.8 1 Y18-06-08WDZ G3/8"X19 G1/2°X14 WD-808 185 | 14 | 405 | 27

Y1B9-02-04Z G1/8'X28 14" %19 23 25 14 Y1B-08WDZ G1/2'X14 G1/2'X14 WD-B08 16 14 43 27

Gaxo oo | s | s | T T L e

Y1B9-04-06Z G1/4"X19 G3/8"X19 265 275 16 Y1B-12-16WDZ G3/4"X14 G1"X11 WD-B16 18.5 18 52.5 41

Y1B9-06Z G3/8"X19 G3/8"X19 275 275 16 Y1B-16WDZ GI"X11 G1"™X11 WD-B16 205 | 18 | 545 | M

Y1B9-06-08Z G38 %19 Gz x4 ) 5 P Y1B-16-20WDZ G1"X11 G141 WD-820 205 | 20 | s85 | s0

oy ey e o y = Y1B-20WDZ GLU4XH | G111 WD-B20 205 | 20 | 585 | 50
Y1B9-08-12Z G1/2"X14 G3/4"X14 37.5 40 27
Y1B9-10Z G5/8"X14 G5/8"X14 35 35 22
Y1B9-10-12Z G5/8"X14 G3/4"X14 38 395 27
Y1B9-12Z G3/4"X14 G3/4"X14 40 40 27
Y1B9-12-16Z G3/4"X14 G1"X11 435 46 33
Y1B9-16Z G1"X11 G1"X11 46 46 33
Y1B9-16-20Z G1"X11 G1.1/4"X11 50.5 50.5 41
Y1B9-20Z G1.1/4"X11 G1.1/4"X11 50.5 505 41
Y1B9-20-24Z G1.1/4"X11 G1.1/2"X11 54.5 57.5 48
Y1B9-24Z G1.1/2"X11 G1.1/2"X11 57.5 575 48
Y1B9-32Z G2"X11 G2"X11 68 68 63

|81 82|



®
i -
L #5 ADAPTER  # BSP And BSPT Thread Fitting L #:5 ADAPTER 2 BSP And BSPT Thread Fitting

K IF
A B 7B
W/% s2
60°| w|4--o st 1BG ! = 1BGQ'OG
REIMRL60° NERAAIKER sfatl T /SL_ i | HEIMELGO60° A / REIMBYONE 90° T
81 AT [HEIMNBLONE o0 BSP MALE 60° SEAT / BSP MALE O-RING 90° ELBOW
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR B 81
BONDED SEAL / BSP MALE O-RING
e 1% 2L THREAD OJEl#l O-RING /&t DIMENSIONS B # £ THREAD OJ il O-RING JL <} DIMENSIONS

PART NO. E F = A B it S1 PART NO. E B Féi A B s1 s2

Y1BG-02Z .| cusx2s G1/8"X28 07.97X1.88 10 76 25 14 Y1BGY-040GZ G1/4"X19 G1/4"X19 o111 245 315 14 19

Y1BG-04Z G1/4"X19 G1/4"X19 o1 12 1 30.5 19 Y1BG9-04-060GZ G1/4"X19 G3/8"X19 0113 265 | 368 16 22
Y1BG-04-06Z G1/4"X19 G3/8"X19 0113 12 1.5 32 24 Y1BGY-060GZ G3/8"X19 G3/8"X19 0113 28 36.8 16 22

Y1BG-06Z G3/8"X19 G3/8"X19 0113 135 | 115 | 345 24 Y1BG9-06-080GZ G3/8"X19 G1/2"X14 017.86X2.62 31 432 22 27
Y1BG-06-042 G3/8"X19 G1/4"X19 o111 13.5 1 32 22 Y1BG9-080GZ G1/2"X14 G1/2"X14 017.86X2.62 34.5 432 22 27
Y1BG-06-08Z G3/8"X19 G1/2°X14 017.86X2.62 13.5 14 39.5 27 Y1BGY-08-120GZ G1/2'X14 | G314"X14 0119 40 49.3 27 32

Y1BG-08Z G1/2"X14 G1/2"X14 017.86X2.62 16 14 395 27 Y1BGO-120GZ G3/4"X14 G3/4"X14 0119 40 49.3 27 32
Y1BG-08-06Z G1/2"X14 G3/8"X19 o113 16 1.5 39 27 Y1BG9-12-160GZ G3/4"X14 G1"X11 0217 45 53 33 41
Y1BG-08-12Z G1/2"X14 G3/4"X14 0119 16 14.5 44 36 Y1BGY-160GZ G1"X11 G1"X11 0217 46 53 33 41
Y1BG-10-08Z G5/8"X14 G1/2°X14 017.86X262 | 175 14 43 30 Y1BG9-20-160GZ G1.1/4"X11 G1"X11 0217 50.5 58 41 41

Y1BG-12Z G3/4"X14 G3/4"x14 0119 18.5 145 | 455 36 Y1BG9-200GZ G1.1/4"X11 | G1.1/4"X11 0222 51 59 41 50
Y1BG-12-08Z G3/4"X14 G1/2X14 017.86X2.62 18.5 14 44 32 Y1BG9-240GZ G112%11 | G1a2x11 0224 58.5 63 48 55
Y1BG-16-08Z G1"X11 G1/2'X14 017.86X2.62 205 14 49 41 VE: P40 SISO 1179-13 MILAEE .  Note: F thread end fit with 1SO1179-1 port,

Y1BG-16Z G1"X11 G1"X11 0217 205 | 186 53 41
Y1BG-16-12Z G1"X11 G3/4"X14 0119 205 | 145 | 505 41

Y1BG-20Z G141 | G1.1/4"X11 0222 20.5 20 58.5 50

Y1BG-24Z G1.1/2°%X11 | G1.1/2"%X11 0224 23 215 | 615 60

iE: FERZUG SISO 1179-13li IVCALAEI . Note: F thread end fit with 1ISO1179-1 port.

|83 84|



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting it % #23k ADAPTER  z%) BSP And BSPT Thread Fitting ” i

1BJ W s 1BT-SP
WEIMEL 60° MM ARREAEARER £ % = g AL S
Q"" il JIC SMRET 74° SheE K 272 REIMEW60° M ANAIREHA
BSP MALE DOUBLE USE FOR 60° CONE SEAT oo wt L —‘ﬂ i BABEH | KEEIMNEY
QR BONDED SEAL /JICIMALE 74" 'CONE ] ‘ BSP MALE DOUBLE USE FOR 60° CONE SEAT
¥ 2 THREAD J2 5 DIMENSIONS OR BONDED SEAL / BSPT MALE

PART NO. E F A B L S
V1BJ-02-04Z G1/8"X28 7/16'X20 10 14 30 1 Re ¥ 70 THREAD 7% DIMENSIONS
V1BJ-02-062 G1/8"%28 112'X20 10 14 30 14 PART NO. e E ry 3 T -
Y1BJ-02-06Z G1/8'%28 916°X18 10 14.1 30 17

e T s = > = T Y1BT-02SPZ G1/8"%28 R1/8"X28 10 10 26 14
V1BJ-04-052 G1/4"X19 1/2'X20 12 14 32 19 Y1BT-02-04SPZ G1/8'X28 R1/4"X19 10 145 305 14
Y1BJ-04-06Z GI/A"X19 9/16'X18 12 141 32 19 Y1BT-04SPZ G1/4"X19 R1/4"X19 12 14.5 32 19
Y1BJ-04-08Z G1/4"X19 3/4X16 12 16.7 365 2 -

PZ > 10 1
YABJ-04-10Z G1/4"%19 7E"X14 12 19.3 39 24 S il sl L i 4

T e e e o o o Y1BT-04-06SPZ G1/4'X19 R3/8"X19 12 15 32 19
YiBJ-06-04Z G3/8'X19 716'X20 135 14 355 2 Y1BT-04-085PZ G1/4"X19 R12'X14 12 20 40 24
Y1BJ-06-05Z G3/8"X19 1/2"X20 13.5 14 355 22 Y1BT-06SPZ G3/8"X19 R3/8"X19 13.5 15 35.5 22
YiBJ-06-08Z Ga/B™X19 347X 135 16.7 385 2 = C
A L e o2 = 2 Z Y1BT-06-04SPZ GIE'X19 RI4X19 135 145 355 22
T T ) T e s o = = Y1BT-06-085PZ G3/8"X19 R1/2°X14 135 20 405 24

Y1BJ-08Z Gi/2'X14 347X 16 16 167 43 27 Y1BT-08SPZ G1/2°X14 R1/2'X14 16 20 45 27
Y1BJ-08-04Z G1/2°X14 7/16"X20 16 L] 40 27 Y1BT-08-04SPZ G1/2"X14 R1/4"X19 16 14.5 40.5 27
Y1BJ-08-05Z G1/2'X14 1/2'X20 16 13 40 27 -

T-08-065PZ B R3/B'X1 16 15 40 27
Y1BJ-08-062 GUZ'X14 9716'X18 16 141 40 27 il il L
e TR T = e o o Y1BT-08-12SPZ G1/2'X14 R3/4"X14 16 20 45 30
YiBJ-08-122 G1/2°%14 TAM6'X12 16 219 48 30 Y1BT-10-068PZ G5/8"X14 R3/8"X19 17.5 155 415 30
Y1B.-08-14Z G1/2°X14 1.3/16"X12 16 226 495 32 Y1BT-10-085PZ G5/8"X14 R1/2'X14 17.5 20 465 30
it e SV LR12 18 i o 28 Y1BT-10-12SPZ GE/8™X14 R3/4"X14 175 20 465 30

Y1BJ-10Z G5/8"X14 7/8"X14 175 19.3 47 30 - -

FEEAD06E o T e TE i 3 == Y1BT-10-16SPZ G5/8"X14 R1"X11 17.5 255 54 36
Y1BJ-10-12Z G5/8"X14 1.1/16"X12 17.5 219 495 30 Y1BT-12SPZ G3/4"X14 R3/4"X14 18.5 20 485 32
YiBJ-10-162 G5/8X14 1.516'X12 175 23.1 515 36 Y1BT-12-08SPZ G3/4"X14 R1/2'X14 18.5 20 485 32
Y1BJ-122 G3/4"X14 1.116'X12 18.5 219 515 32 g g

2 Y1BT-12-16SPZ G3/4"X14 R1"X11 185 255 535 36
ViBJ-12-06Z GalaX14 9/16'X18 185 141 435 32 - =
VTR e a1 o T o o Y1BT-12-20SPZ G3/4"X14 R1.1/4"X11 18.5 265 58 46
YiBJ-12-10Z Ga/a"X14 718X 14 185 193 49 32 YIBT-165PZ G1"X11 R1"X11 205 255 58 41
Y1BJ-12-14Z Galax14 1.316°X12 18.5 226 52 32 Y1BT-16-12SPZ G1"X11 R3/4"X14 205 20 53 41
YiBJ:12:162 SR g:67Y12 L 231 B2y =4 Y1BT-16-20SPZ G1"X11 R1.1/4"X11 205 265 60 46
Y1BJ-12-20Z GaaX14 1.58'X12 185 243 555 46 - SR -

YiBJ-16Z GIx11 1516°X12 205 231 56 41 SIE L L R SLudl : e 2 = &
Y1BJ-16-08Z G1'X11 34"X16 205 16.7 50 41 Y1BT-20-128PZ G1.1/4X11 R3/4"X14 205 205 56 50
Y1BJ-16-10Z GTX11 7B°X14 205 19.3 53 a1 Y1BT-20-16SPZ G1.1/4X11 R1"X11 205 255 61 50
B o s e a2 g = Y1BT-20-24SPZ G1.1/4"X11 R112'X11 20.5 265 62 50
BT o T o e o . Y1BT-24SPZ G1.1/2°X11 R1.1/2'X11 23 26.5 64.5 55

Y1BJ-20Z G1.1/4"X11 1.5/8"X12 205 24.3 62 50 Y1BT-24-16SPZ G1.1/2"X11 R1"X11 23 26 63.5 55
Y1BJ-20-122 G1.1/4"X11 1.1/16'X12 205 219 575 50 Y1BT-24-20SPZ G1.1/2'X11 R1.1/4"X11 23 265 64.5 55
Y1BJ-20-162 GIA/XT 15/16'X12 205 231 605 50 T ST e = = 5 =
Y1BJ-20-24Z G1.1/4"X11 1.7/8"X12 205 275 63 50 . —

YiBJ-24-162 GLuZX11 1516'X12 23 231 81 55 GEEAERE £ S 235 X e i
Y1BJ-24-20Z G1.1/2"X11 1.5/8"X12 23 243 62.5 55 Y1BT-32-20SPZ G2"X11 R1.1/4"X11 25.5 27 668.5 70

Y1BJ-24Z G1.1/2°%11 17/8°%12 23 275 67.5 55 Y1BT-32-24SPZ G2'X11 R1.1/2'X11 255 26.5 68.5 70
e e L o i = — Y1BT-40SPZ G2.1/2'X11 R2.1/2°X11 32 34 83 90
Y1BJ-32-247 G2X11 17/8'X12 255 275 70 70 Ll o A e o4 2 e

185 86|



® ®
” I i3k ADAPTER 21 BSP And BSPT Thread Fitting i % 23k ADAPTER  z%) BSP And BSPT Thread Fitting (, i

L B 60°
A B i
28 2B9
CWITTTE T LYY sesmpgeocmes A mamRasnest/ _ e S5G
HEPIRL60°E 3 @ RESMRLEO0 IS /
s1 S2 BSP MALE DOUBLE USE FOR 60° CONE SEAT | HERIRLI60°4h
OR BONDED SEAL / BSP FEMALE 60° CONE BSP MALE 60° SEAT /
BSP FEMALE 60° CONE 90° ELBOW
® B # 5 THREAD R I DIMENSIONS
® e % 2 THREAD R s DIMENSIONS PART NO. E F A B S1 s2
EERTNO. E F A B L s1 s2 Y2B9-022 G1/8"X28 G1/8"X28 19.8 55 11 14
Y2B-02Z G1/8"X28 G1/8"X28 10 5.5 25 14 14 Y2B9-047 G1/4"X19 G1/4"X19 245 5.5 14 19
Y28-02-042 G1/8X28 G1/4"X19 10 5.5 27 14 19 Y2B9-04-06Z G1/4"X19 G3/8"X19 25 6.3 14 22
Y2B-04Z G1/4"X19 G1/4"X19 12 55 29 19 19 Y2B9-06Z S G3/8"X19 G3/8"X19 275 6.3 16 22
Y2B-04-062 G1/4"™X19 Ga8"™X19 12 63 305 19 22 Y2B9-06-04Z G3/8"X19 G1/4"X19 27.5 5.5 16 19
Y2B-04-08Z GA/4"X19 G1/2'X14 12 75 32 19 27 B T R e =% = =
jeEib2 GI/BIATY G3/67X18 135 6.3 & i e Y2B9-08-06Z G1/2'X14 G3/8"X19 345 63 22 2
Y28-06-082 Ca/8"X19 G1/2'X14 135 75 355 22 27 e T T = = % =
Y2B-06-102 Ga/B'X19 G5/8"X14 135 95 36 2 30 e ieeTe s = — - >
Y2B-08Z G1/2"X14 G1/2"X14 16 7.5 40 27 27 Y2B9-127 Ga/4"X14 Ga/A"xX14 20 100 27 2
Y2B-08-06Z G12'x14 GaE'X19 16 - 63 382 2 22 e e s - e = e
120185122 Szt B s i L 4 Z 3 Y289-202 G1AAX11 G1AM4X 1 50.5 1041 1 50
el Sl SyeA Mo &5 = & £ Y2B9-242 G1.1/2°X 11 G1.4/2'X11 57.5 125 48 55
Y2B-10-08Z G5/8"X14 G1/2"X14 18 7.5 415 30 27 Y2B9-327 G2 X1 G 725 161 o3 70
Y2B-10-12Z Go/8"X14 Gaax14 175 108 | 425 20 32
Y2B-12Z G3/4"X14 G3/4"X14 18.5 10.9 44.5 32 32
Y2B-12-102 GalaX14 G5/8'X14 185 95 4 32 30
Y2B-12-16Z G3/4"X14 G1"X11 18.5 1.7 46 32 41
Y2B-162 GA"X11 G111 205 "7 50 41 41
Y2B-16-12Z G1"X1 G3/4"X14 20.5 10.9 48 41 32
Y2B-16-202 G1"X11 G1.A/4"X11 205 104 53 41 50
Y2B-20Z G1.1/4"X11 G1.1/4"X11 205 101 55 50 50
Y2B-20-162 G1AAXT1 GI"™x11 205 17 52 50 41
Y2B-20-24Z G1.1/4"X11 G1.1/2"X11 20.5 12.5 55.5 50 55
Y2B-24Z GlAZXT | Glu2ZX11 23 125 58 55 55
Y2B-32Z G2"X11 G2"X11 25.5 16.1 63.5 70 70

|87 88|



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting it % #23k ADAPTER  z%) BSP And BSPT Thread Fitting ” i

S iy
A
A L B F\ S 4B
W ) 60° ; i i .
o w 3B =‘ REIMEN60° N Ainm A S BB sk
60°[>< ] <) 60° ‘x_\ BSP MALE DOUBLE USE FOR 60° CONE SEAT
HEERIREI60° Shk \ OR BONDED SEAL PLUG
S1 s2 BSP FEMALE 60° CONE
1o = % 5 THREAD JL <+ DIMENSIONS

PART NO. E A L s1

Y4B-02Z G1/8"X28 10 16 14

Y4B-04Z G1/4"X19 12 18 19

¥ 0 THREAD J3  DIMENSIONS Y4B-06Z G3/8"X19 13.5 215 2

il E F A B L st s2 Y4B-08Z G1/2'X14 16 26 27

Y3B-02Z G1/8"X28 G1/8"X28 5.5 5.5 21 14 14 Y4B-10Z G5/8"X14 17.5 275 30

Y3B-02-04Z G1/8"X28 G1/4"X19 55 5.5 23 14 19 Y4B-12Z G3/4"X14 18.5 295 32

Y3B-04Z G1/4"X19 G1/4"X19 5.5 5.5 25 19 19 Y4B-16Z G1"X11 205 34 41

Y3B-04-06Z G1/4"X19 G3/8"X19 5.5 6.3 26.5 19 22 Y4B-20Z G1.1/4"X11 205 375 50

Y3B-04-08Z G1/4"X19 G1/2"X14 5.5 7.5 28.5 19 27 Y4B-24Z G1.1/2"X11 23 40 55

Y3B-06Z G3/8"X19 . G3/8"X19 6.3 6.3 27, 22 22 Y4B-327 G2"X11 255 43.5 70
Y3B-06-08Z G3/8"X19 G1/2"X14 6.3 7.5 29,5 22 27
Y3B-08Z G1/2"X14 G1/2"X14 7.5 7.5 31 27 27
Y3B-08-10Z G1/2"X14 G5/8"X14 7.5 9.5 315 27 30
Y3B-08-12Z G1/2"X14 G3/4"X14 7, 10.9 325 27 32
Y3B-10Z G5/8"X14 G5/8"X14 9.5 9.5 315 30 30
Y3B-10-12Z G5/8"X14 G3/4"X14 9.5 10.9 33 30 32
Y3B-12Z G3/4"X14 G3/4"X14 10.9 109 335 32 32
Y3B-12-16Z G3/4"X14 G1"X11 10.9 1.7 a5 32 41
Y3B-16Z G1"X11 G1"X11 157 LT 36.5 41 41
Y3B-16-20Z G1"X11 G1.1/4"X11 1.7 10.1 39 41 50
Y3B-20Z G1.1/4"X11 G1.1/4"X11 10.1 10.1 405 50 50
Y3B-24Z G1.1/2"X11 G1.1/2"X11 125 125 42 55 55
Y3B-32Z G2"X11 G2"X1 16.1 16.1 47 70 70

|89 90|



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting L #:5 ADAPTER 2 BSP And BSPT Thread Fitting ” i

¢} LOCK NUT

o

P o A 58
T
B0 it e HEIMBEE0 R A RIS ERES BT/
! HERIRY
BSP MALE DOUBLE USE FOR 60° CONE SEAT

S OR BONDED SEAL / BSP FEMALE
HEIMRL60° W THRIEL
7§ 8 18 4 THREAD Ji <+ DIMENSIONS BSP MALE 60° SEAT BULKHEAD

PART NO. E E A L s
Y5B-02-04Z G1/8"X28 G1/4"X19 10 29 19 e S e
Y5B-04-02Z G1/4"X19 G 1/8"X28 12 28 19 g Tty 2 = = . ; = —

¥EB-UeE GlR1D Sidis 42 =0 18 Y6B-02Z 6B-02LNZ G1/8"X28 G1/8"X28 10 33 49 14 14
¥5B-04-06Z G1/4"X19 G3/8"X19 12 36 22 Y6B-04Z 6B-04LNZ G1/4"X19 G1/4"X19 12 35 53 19 19
Y5B-06-04Z G3/8"X19 G1/4"X19 13.5 33.5 22 Y6B-06Z 6B-06LNZ G3/8"X19 G3/8"X19 135 35 56.5 22 22

Y5B-06Z G3/8"X19 G3/8"X19 135 375 22 Y6B-08Z 6B-08LNZ G1/2"X14 G1/2"X14 16 39 65 27 27
Y5B-06-08Z G3/8"X19 G1/2"X14 135 425 27 Y6B-10Z 6B-10LNZ G5/8"X14 G5/8"X14 175 40 87.5 30 30
Y5B-08-06Z G1/2"X14 G3/8"X19 16 38 27 Y6B-12Z 6B-12LNZ G3/4"X14 G3/4"X14 18.5 42 715 32 32

Y5B-08Z G1/2"X14 G1/2"X14 16 45 27 Y6B-16Z 6B-16LNZ G1"X11 G1"X11 205 50 84 41 41
ST SUEXa GoeX14 PP P 0 Y6B-20Z 6B-20LNZ G1.U4"X11 | G114"X11 | 205 52 89.5 50 50
Ve 1a2 e e 16 s % :es-zu 6B-24LNZ G1 _112"x11 G1.1:"2“X11 23 55 93 55 55
S T T s e = 6B-32Z 6B-32LNZ G2'X11 G2"X11 255 55 975 70 70
Y5B-12-08Z G3/4"X14 G1/2"X14 18.5 44.5 32

Y5B-12Z G3/4"X14 G3/4"X14 185 48 36
Y5B-12-16Z G3/4"X14 G1"X11 18.5 535 41
Y5B-16-12Z G1"X11 G3/4"X14 205 475 41

Y5B-16Z G1"X11 G1"X11 205 55.5 41
Y5B-16-20Z G1"X11 G1.1/4"X11 205 56.5 50
Y5B-20-16Z G1.1/4"X11 G1"X11 20.5 49 50

¥5B-20Z G1.1/4"X11 G1.1/4"X11 205 525 50
Y5B-20-24Z G1.1/4"X11 G1.1/2"X11 205 57.5 55

Y5B-247 G1.1/2"X11 G1.1/2"X11 23 58 55
Y5B-32-24Z G2"X11 G1.1/2"X11 255 59.5 70

Y58-327 G2"X11 G2"X11 255 82 70

|91 92|



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting L #:5 ADAPTER 2 BSP And BSPT Thread Fitting ” i

|93

60°
N7
VLN |
s2 i NI
7B9-PK BB
m‘ 4
o= ot o M= H !
o X 60"@_ ToE ) mmsMegeor e s mEMRG0° Shie il
= —1 BSP MALE 60° SEAT / BSP FEMALE
R 8 5 THREAD J2 }_DIMENSIONS A € 60° CONE BRANCH TEE
PART NO. E B A B s1
Y 789-02PKZ G1/8"X28 G1/8"X28 20 20 16 e 4 4r THREAD R <} DIMENSIONS
Y 7B9-04PKZ G14™%19 G1/4"X19 225 225 19 PAT NO. E E P 7 B C ) )
Y7B9-06PKZ Ga/8"X19 G3/8"X19 26 26 24 YBB-02Z G1/8'X28 | G18'X28 | G18"X28 | 198 | 55 | 198 1 14
Y7BY-08PKZ Gl2’x14 Gl/2X14 Kl 3 27 YBB-04Z G1/4"X19 | G1/4'X19 | G14'X19 | 245 | 55 | 245 14 19
Y7B9-12PKZ (314 G3/4°X14 34 34 33 YBB-06Z G3B"X19 | G3/8"X19 | Gae'X19 | 275 | 63 | 275 16 22
SRS ST S i 42 Al YBB-08Z GUZ'X14 | GI2'X14 | Gi2'X14 | 345 | 75 | 345 | 22 27
NIE9-S0EKE Gl X1 Gl AR 42 48 50 YBB-12Z G34'X14 | GIA'X14 | GaA'X14 40 109 | 40 27 32
LT RRVEOT i 2 = i YBB-16Z G1X11 G1IX11 G1IxN 46 | 17 | 46 3 41
TIEae geAn Ll g2 S2 i YBB-20Z GLUAX11 | G114X11 | G1.14"X11 | 505 | 104 | 505 | 41 50
YBB-24Z GLAZ’X1 | 'GLARXN | GLAX1N | 575 | 125 | 575 | 48 55
: YBB-322 G2'X11 G2'X11 G2'X 1 725 | 161 | 725 | 63 70
AB
60“@ ;)60‘ RESMEG60° M =i =
i BSP MALE 60° SEAT TEE -
H g CB
®e ¥ £ THREAD R i DIMENSIONS 7 5
PART NO. E F G A B C S1 (\ 7"{7 = ‘ e, NI \ . HEHMBELIE0° Pt / HEHIBA60°
60° | w ~ I2) 60 = 3 24160° i
YAB-02Z G1/8"X28 G1/8"X28 G1/8"X28 198 | 198 | 198 11 : By TH=E
YAB-04Z G1/4"X19 G1/4"X19 G419 245 | 245 | 245 14 p r
YAB-04-06-04Z G1/4"X19 G3/8"X19 G1/4"X19 265 | 275 | 265 16 R = BSPMALE & SEA;JS ?EEF EHALE SOEEONG
YAB-06-04-06Z G3/8"X19 G14"X19 G3/8"X19 275 | 265 | 275 16
YAB-06Z G3/8"™X19 G3/8"X19 G3/8"X19 578 || 275 |- 216 16 R i, £ THREAD R+ DIMENSIONS
YAB-06-08-06Z G3/8"X19 G1/2"X14 G3/8"X19 31 345 31 22 PART NO. E F G A B c s1 s2
YAB-08-06-08Z G1/2'X14 G3/8"X19 G1/2°X14 345 31 34.5 22 YCB-02Z G8'X28 | GI/8'X28 | G1/8'X28 | 198 | 198 | 55 1 14
YAB-08Z G1/2'%14 G12'%14 G1/2'%14 345 | 345 | 345 22 YCB-04Z GUA'X19 | GI4™X19 | G1/4"X19 25 25 55 14 19
YAB-10Z G5/8"X14 G5/8"X14 G5/8"X14 35 35 35 22 YCB-06Z G3/8"X19 | Gae'X1e | Game'xis | 275 | 275 | 63 16 22
YAB-12Z G3M4"X14 G3/4"X14 Gala"X14 40 40 40 27 YCB-08Z GI2'X14 | GU2'X14 | GuU2'X14 | 345 | 345 | 75 22 27
YAB-12-16-12Z Ga/4"X14 G1"X11 Ga/A"X14 435 46 435 33 YCB-10Z G5/8"X14 | G5/B'X14 | G5/8"'X14 35 35 95 22 30
YAB-16-12-16Z G111 G3/4"X14 G111 46 435 46 33 YCB-12Z GIA'X14 | GIAX14 | GIAX14 40 40 | 100 | 27 32
YAB-16Z G1"X11 G1"X11 G1"X11 46 46 46 33 YCB-162 G1"X11 G111 G1"X11 46 46 17 | 33 #
YAB-20Z GILAAX1 | GIU4X1 | G114'X11 | 505 | 505 | 505 21 YCB-20Z Gruaxn | erawxn | eramxn | sos | so5 | 101 | a1 50
YAB-24Z GLUZ'XM | GLA2%X1 | Glu2X11 | 575 | 575 | 575 48 YCB-24Z GLU2'X1 | GLU2X11 | G1L1/2'X11 | 575 | 57.56 | 125 | 48 55
YAB-32Z G2"X11 G2"X11 G2"X11 725 725 725 63 YCB-32Z G2"X11 G2"X11 G2"X11 725 725 16.1 63 70

94|



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting it % #23k ADAPTER  z%) BSP And BSPT Thread Fitting ” i

F
LER
4] GB-PK 1 T-SP
Gl AT 1 e BN
ol BSPT MALE
BSP FEMALE TEE
A Cc
re 8 4 THREAD <+ DIMENSIONS
PART NO. E F G A B [ S1
YGB-02PKZ G1/8"X28 G1/8"X28 G1/8"X28 20 20 20 16 e # 4 THREAD JX s DIMENSIONS
YGB-04PKZ G1/4"™X19 G1/4"X19 G418 225 | 225 | 225 19 by it E E A B L st
YGB-06PKZ G3/8"X19 G3/8"X19 G3/8"X19 26 26 26 24 Y1T-02SPZ R1/8"X28 R1/8"X28 10 10 26 12
YGB-08PKZ G1/2"X14 G1/2"X14 G1/2"X14 31 31 31 o7 Y1T-02-04SPZ R1/8"X28 R1/4"X19 10 14.5 305 14
YGB-12PKZ G3/4"X14 G3/4"X14 G3/4"X14 34 34 34 33 Y1T-02-06SPZ R1/8"X28 R3/8"X19 10 15 31 17
YGB-16PKZ G1"X11 G1"X11 G1"%X11 42 42 42 41 Y1T-04SPZ R1/4"X19 R1/4"X19 14.5 14.5 34 14
YGB-20PKZ G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 48 48 48 50 Y1T-04-06SPZ R1/4"X19 R3/8"X19 14.5 15 35 17
YGB-24PKZ G1.1/2"X11 G1.1/2"X11 G1.1/2"X11 53 53 53 60 Y1T-04-08SPZ R1/4"X19 R1/2"X14 15 20 43 22
YGB-32PKZ G2"X11 PP G2"X11 62 a2 62 70 Y1T-06SPZ R3/8"X19 R3/8"X19 15 15 36 17
Y1T-06-08SPZ R3/8"X19 R1/2"X14 15 20 43 22
Y1T-08SPZ R1/2"X14 R1/2"X14 20 20 46 22
A L Y1T-08-12SPZ R1/2"X14 R3/4"X14 20 20 48 27
Y1T-12SPZ R3/4"X14 R3/4"X14 AP0 20 48 27
) Y1T-12-16SPZ R3/4"X14 R1"X11 20 255 55.5 36
9sS Y1T-16SPZ R1"X11 R1"X11 255 25.5 61 36
60" | W Y1T-16-20SPZ R1"X11 R1.1/4"X11 255 26.5 64 46
Mi - HAEERNIRG60° AHEEL Y1T-205PZ R1.1/4"X11 R1.1/4"X11 265 26.5 65.5 46
% ] JIS GAS FEMALE 60° SEAT PLUG Y1T-20-24SPZ R1.1/4"X11 R1.1/2"X11 26.5 26.5 67 50
|52 \ 51 Y1T-24SPZ R1.1/2"X11 R1.1/2"X11 26.5 26.5 67 50
Y1T-24-32SPZ R1.1/2"X11 R2"X11 26.5 30 715 65
Y1T-32SPZ R2"X11 R2"X11 30 30 75 65
B #% £ THREAD &~ DIMENSIONS
PART NO. E A s s1 52
Y95-04Z G1/4"X19 8 - 145 17 19
Y9S-06Z G3/8"X19 9 155 19 22
Y95-08Z G1/2"X14 12 19 22 27
Y95-12Z G3/4"X14 135 235 32 32
Y95-16Z G1"X11 16 25 " 36 41
Y95-20Z G1.1/4"X11 18.6 30 50 50
Y9S-24Z G1.1/2"%X11 19 325 55 55
Y9S-32Z G2"X11 228 355 70 70

95 96|



® ®
” I id s ADAPTER %) BSP And BSPT Thread Fitting it % #23k ADAPTER  z%) BSP And BSPT Thread Fitting ” i

>
w
NN
e

74° % WP 74° Lo _Ia o 1J9

JJICHMRL74°
EKHIICHMRLT4° 50 . EHIICIMRELL74°5 M 90° T

JIC MALE 74° CONE St
s1 e tipdiog e sl JIC MALE 74° CONE 90° ELBOW
&2 . 2 THREAD 72 5F DIMENSIONS
Y1J-02Z 5/16"X24 5/16'X24 114 114 29 12 PARTNO, E F A B S1
¥14-02-03Z 5/16'X24 A8'%24 14 122 295 12 Y1J9-02Z 5/16"X24 5/16"X24 205 20.5 1
Y1J-03Z 3/8"X24 3/8"X24 122 122 30.5 12 A0 e Fom = = =
it 7116720 7H167X20 14 14 35 12 ¥1J9-042 7/16"X20 7116"X20 245 245 1
¥1J-04-052 7116"X20 1/2°X20 14 14 35 14
Y1J-04-06Z 7116'X20 916'X18 14 14 35.9 17 iioone ey 1127X20 266 266 14
¥1J-04-08Z 7/16"X20 3/4"X16 14 16.7 38.5 22 ¥1J9-05-06Z 1/2"X20 9/16"X18 28.6 26.9 14
10052 12°%X20 1/2'X20 14 14 35 14 ¥1J9-06Z 916"X18 9116"X18 26.9 26.9 14
Y1J-05-06Z 1/2"X20 9/16"X18 14 14.1 35.9 17 Y¥1J9-06-087 9/16"X18 3/4"X16 30 32 19
Y1J-05-08Z 1/2'X20 34X16 14 6.7 383 2
Y1J-0510Z 1/2"X20 7I8"X14 14 19.3 42.7 24 s i i i e =
Y1J-06Z 9/16'X18 9/16'X18 14.1 141 36 17 hEOnE 34X 16 3/4'X16 32 32 19
¥1J-06-08Z 9/16"X18 3/4"X16 14.1 16.7 38.4 22 ¥1J9-08-10Z 3/4"X16 7/8"X14 34.8 37.8 22
Y14-06-10Z 9/16'X18 78" X14 141 19.3 42.8 24 ¥1J9-10Z 7/8"X14 7/8"X14 37.8 378 22
Y1J-06-122 9/16"X18 1.1/16"X12 14.1 21.9 47.2 30 YAJ9-10-122 T T T Py 2
USRS SEXIG S4TX1D deilf 167 il = Y1J9-12Z 1.1/16"X12 1.1/16"X12 442 44.2 27
Y1J-08-10Z 3/4'X16 78X 14 16.7 19.3 44 24 - -
Y1J08-12Z 3416 T116'X12 16.7 21.9 498 30 i i EICiE (2 1.3116%12 s 475 30
Y1J-08-16Z 3/4"X16 1.5/16"X12 16.7 23.1 51 36 Y1J8-16Z 1.5/16"X12 1.5/16"X12 49 49 33
Y1J-10Z 7/8"%14 78X 14 193 193 18 24 Y1J9-20Z 1.5/8"X12 1.5/8"X12 555 55.5 e
Y1J-10-12Z 7/8"X14 1A/16"X12 19.3 21.9 51 30 Y119-247 1.7/8"X12 D = S 48
¥1J10-16Z 7/8"x14 1.5/16'X12 193 231 532 36 R, T T = = =
Y1127 1111612 14/16"X12 21.9 21.9 55 30
Y1J-12-14Z TAI16'X12 1.3/16'X12 219 226 555 32
Y1J-12-162 141612 1.5/16"X12 219 23.1 55.8 36
Y1142 1.3116'X12 1.3/16'X12 226 226 56.1 2
Y1J-14-162 1.3116"X12 1.5/16"X12 226 231 565 36
Y1162 1.516°X12 1.5/16'X12 23.1 231 57 36
Y1J-16-20Z 1.5/16"X12 1.5/8"X12 23.1 243 60.3 46
Y1J-16-242 1516°X12 1.7/8"X12 231 275 555 50
Y1J-20Z 1.5/8"X12 1.5/8"X12 243 243 615 46
¥1J-20-242 1.5/8'%X12 1.7/8"X12 243 275 66.8 50
¥1J-20-322 1.5/8"X12 2.1/2°X12 243 339 75 65
Y1242 178'X12 17/8'X12 275 275 70 50
Y1J-24-322 1.7/8"X12 2.1/2'X12 275 339 78.5 65
Yi1-322 2.1/2'X12 2112'X12 339 339 86.5 65

97 98|



2]

‘ ’ ® ‘ , ®
i $23k ADAPTER  # BSP And BSPT Thread Fitting L #:5 ADAPTER 2 BSP And BSPT Thread Fitting

A A‘L B 1JB-WD %g o7
TWW%W—F JICHMBETA S % D@ % 1JG

A & CYEL TN giog e s |
|5 JIC MALE 74° CONE / BSP S1 EHIJICIMRL74° 4 /REIMBELOFE
o1 MALE CAPTIVE SEAL JIC MALE 74° CONE / BSP MALE O-RING
e # £ THREAD OF; M O-RING J2 5+ DIMENSIONS
&= # 4L THREAD JiZ # CAPTIVE J < DIMENSIONS PART NO. E F Fo A B L 1
Sesiddiace E E P i g e Sk Y1JG-04-02Z 7116'X20 | G1/8"x28 07.97X1.88 14 76 | 205 | 14
¥1JB-04-02WDZ 716'X20 | G1/8"x28 WD-B02 14 8 205 | 14 e S e = 7 oo
Y14B-04WDZ (HBX207 &2 GHaTX10 WR-ROS % defEicas BhrltielD Y1JG-04-06Z 716'X20 | G3/8'X19 0113 i i T 24
Y1JB-04-06WDZ 716'X20 | G3/8"x19 WD-B06 14 2 T aspien TS 5 B Ty 7S D I R
Y1JB-04-08WDZ 7M6'X20 | G12'X14 WD-B08 14 | agolileioy V1 IG.0B047 11220 PTTETS B ¥ ¥ T
Y1JB-05-04WDZ 1/2'X20 G1/4"X19 WD-B04 14 TRETRET Vo e o s oS TR P e =
Y1JB-0506WDZ d2Ex29 SRiotY MVEE06 4 ferNe i BT Y1JG-05-08Z 1/2"X20 G1/2'X14 017.86X2.62 14 o ey ] [y
Y1JB-06-02WDZ 916'x18 | G128 WD-B02 14.1 5 31.1 17 e T ryTYeS =R e T YR e
Y1JB-06-04WDZ 916’18 | G14"X19 WD-B04 e TERED 1 IGoor e Gtk e o WY T o
Al bl Ebnlin] s s bl 1% =9 &E Y1JG-06-082 9MeX18 | G12'X14 017.86X2.62 14.1 e
Y1JB-06-08WDZ 91618 | Gi/2X14 WD-B08 141 | 14 [ 304 | 27 N{IG0a 042 S ip T S T ) s
Y¥1JB-08-04WDZ 3/4"X16 G1/4"X19 WD-B04 167 [ 12 38 22 Ty R T oo TS T o
bl el it Calalis SUExD oI i MRS s AR Y1JG-08Z 3/4"X16 G1/2'X14 017.86X2.62 EEEETEET
Y1JB-08WDZ 3/4"X16 G1/2'X14 WD-B08 167 | 14 42 27 ) ST IO o P SEPE T =
Y1JB-10-08WDZ 7/8'X14 G1/2'X14 WD-B08 193 | 14 [ a5 | 27 AR e B Gl e P e
Y1JB-10-12WDZ 7/8"X14 G3/4"X14 WD-B12 193 B e o e = Py A e s B =
Y1JB-12-08WDZ 111612 | G12'x14 WD-B08 219 | 14 | 485 [ 30 Y1JGA0:12Z s e s v TR pes
A il B L ad2o LR SR R P Y1JG-12-08Z 111612 [ G12'x14 017.86X2.62 210 | 1u-fars | w0
Y1JB-12-16WDZ 1416"X12_ | G1"X11 WD-B16 219 | 18 56 41 IIBADY TSR P e W g %8
¥1JB-16-12WDZ 15/16'X12 | Gam"x14 WD-B12 gaa-| @8 | =7 | 2 T T PETERTeS T e e e e o
YAUB-16WDZ TalBR2 f| = et RIS 2 e U el Y¥1JG-12-20Z 1.416°%12 | G1.1/4"X11 0222 219 | 20 57 50
Y1JB-16-20WDZ 1516'X12 | G1.1/4"X11 WD-B20 e e 50 50 o P e o1 ) SR T e
Y1JB-20-16WDZ 1.5/8"X12 G1"X11 WD-B16 243 | 18 58 46 Y1JG-162 15rrees I ol pre T T T 0
Y1JB-20WDZ 15812 | G1.1/4"X11 WD-B20 243 | 20 60 50 SR PEPTES  e s T e R [
Y1J8-20-24WDZ 1.58'x12 | G121 WD-B24 243 | 22 63 55 TR e T it R PTTEE EE
Y1JB-24-20WDZ 17/8'%12 | G1.1/4"X11 WD-B20 275 |20 [ Es1 | so 1G22 P R 0% R T 55 %0
Y1JB-24WDZ 17812 | G112°%1 WD-B24 T ETREEET Y1JG-24-162 T a1l 021F TR s
Y1JG-24-20Z 17812 | G114X11 0222 2t5 | 20 | e55 | 50
Y1JG-242 170812 | G1.1/2%X11 0224 275 | 215 | 64 60
P FHRSU SISO 1179-1 LIILALEFS. Note: F thread end fit with ISO1179-1 port.

199 100 |



® ®
” I i yrs:3. ADAPTER %) BSP And BSPT Thread Fitting it % #23k ADAPTER  z%) BSP And BSPT Thread Fitting “ i

1JG9-0G D 1N

w(Dw J IR JICHMRGT4°5ME | TR ESMBLL
EHIJICHMRGL74°GMEE | , JIC MALE 74° CONE / NPT MALE
L ALAEEEIMELOF B 90° & s1 \F
74 JIC MALE 74° CONE /
e ADJUSTABLE BSP MALE O-RING SEAL 5 ™ & THEEAD SRR

90° ELBOW S : L 2 2 : 2
Y1JN-02Z 5/16"X24 Z1/8"X27 1.4 10.5 28 12
Y1JN-04-02Z 7/16"X20 Z1/8"X27 14 10.5 31 12
Y1JN-04Z 7/16"X20 Z1/4"X18 14 15 36.2 17
e 4% 21 THREAD OJ:# O-RING R/ DIMENSIONS Y1JN-04-06Z 7/16"X20 Z3/8"X18 14 15 36.2 19
PART NO. E F Fifi A B S1 S2 Y1JN-04-08Z 7/16"X20 Z1/2"X14 14 19.5 415 24
¥1JG9-04-020GZ 7/16"X20 G1/8"X28 07.97X1.88 245 | 255 11 14 ¥1JN-05-02Z 1/2"X20 Z1/8"X27 14 105 31 14
Y1JG9-04-060GZ 7/16"X20 G3/8"X19 0113 275 | 368 16 22 Y1JN-05-04Z 1/2"X20 Z1/4"X18 14 15 36.2 17
¥1JG9-040GZ 7116'x20 | G1a'x19 o111 266 | 315 | 14 19 X1N-05-062 i2inz0 LR L 2 962 s
¥1JG9-05-040GZ 112°X20 G1/4"X19 o1 265 | 318 | 14 19 :E:_g:gi; 9}’12;331‘; ilﬁ;‘(:; 11“1 119: ;l 2 f‘;
¥1JG9-05-060GZ 1/2"X20 G3/8"X19 . 0113 28 35.5 16 22 T S TR v oz ey o7
¥1JG9-05-080GZ 1/2"X20 G1/2"X14 017.86X2.62 32 43.2 22 27 oy 011618 S i T T o
¥1JG9-06-040GZ 9/16"X18 G1/4"X19 o111 269 | 313 14 19 R0 3/4"X16 Z1/4°X18 967, 15 389 22
Y1JG9-06-080GZ 9/16"X18 G1/2'X14 017.86X2.62 325 | 432 22 27 Y1JN-08-06Z 3/4"X16 Z3/8"X18 16.7 15 38.9 22
Y1JG8-060GZ 9/16"X18 G3/8"X19 0113 285 | 358 16 22 Y1JN-08Z 3/4"X16 Z1/2"X14 16.7 19.5 44 24
¥1JG9-08-040GZ 3/4"X16 G1/4"X19 o111 32 335 19 19 Y1JN-08-12Z 3/4"X16 Z3/4"X14 16.7 19.5 46.5 30
Y¥1JG9-080GZ 3/4"X16 G1/2'X14 017.86X2.62 348 | 432 22 27 Y1JN-10-062 7I8"%14 Z3/8"X18 19.3 15 43.2 24
e X6 GaEx19 ona 2 268 P % Y1JN-10-08Z 7/8"X14 Z1/2°X14 19.3 19.8 48 24
Y1JG9-08-120GZ 34'X16 | GIA"X14 ong 379 | 493 | 27 32 : j::;;i; 1 Z ’22:;;2 i?z:;: l:'g ::'2 5';93 :g
Y1JG9-10-060GZ 7/8"X14 G3/8"X19 0113 378 | 392 22 22 T e orem T s X o
Y¥1JG9-10-080GZ 7/8"X14 G1/2'X14 017.86X2.62 378 | 432 22 27 e TG TS 78 T oS 5
Y1JG9-10-120GZ 7/8"X14 G3/4"X14 o119 4 49.3 27 32 Y1JN-12-20Z 1.1/16"X12 Z1.1/4"X11.5 21.9 26.5 61 46
¥1JG9-120GZ 1.116"X12 | G3/4"x14 0119 442 | 493 27 32 Y1JN-14-12Z 1.3/16"X12 Z3/4"X14 226 19.8 53.1 32
Y1JG9-12-080GZ 1.1/16"X12 | G1/2"X14 017.86X2.62 442 | 465 27 27 Y1JN-16-12Z 1.5/16"X12 Z3/4"X14 23.1 19.8 53.5 36
¥1JG9-12-160GZ 1.1116"X12 G1"X11 0217 48 53 33 41 Y1JN-16Z 1.5/16"X12 Z1"X11.5 23.1 246 58.4 36
SR PETTEE PP 0217 20 53 = e Y1JN-16-20Z 1.5/16"X12 Z1.1/4"X11.5 23.1 254 61 46
Y1JG9-16-120GZ 15M16"X12 | G3/4"X14 0119 49 53 33 32 :: jﬁ;ﬁf;i 11~55":86;X1" 22 Z;’fﬁ’? ;-5 33; ;:'5 65.5 50
- - -20- 5/8" A 7 6 61 46
¥1JG9-16-200GZ 1516"X12 | G1.1/4"X11 0222 54 59.5 41 50 R R SR . = = %
Y1JG9-200GZ 15/8'X12 | G1.1/4"X11 0222 555 | 595 41 50 e R TR ST oy o ets s
Y1JG9-20-160GZ 1.5/8°X12 GI"X11 0217 555 | S8 G A Y1JN-24-207 1.7/8"X12 Z1AAX11 5 275 254 675 50
Y1JG9-24-160GZ 1.7/8"X12 G1"X11 0217 62.5 63 48 a4 Y1JN-24Z 1.7/8"X12 Z1.1/2"X11.5 275 26.2 68.1 50
Y1JG9-24-200GZ 1.7/8"X12 G1.1/4"X11 0222 62.5 63 48 50 Y1JN-24-32Z 1.7/8"X12 Z2"X11.5 27.5 275 72 65
Y1JG9-240GZ 17/8'X12 | G1.1/2"X11 0224 62.5 63 48 55 Y1JN-32Z 2.1/2"X12 72'X11.5 33.9 26.9 79 85
7E: £ 51S0 1179-13 LIILALEF .  Note: F thread end fit with 1ISO1179-1 port. Y1JN-32-20Z 2.1/2"X12 Z1.1/4"X11.5 33.9 265 775 65
Y1JN-32-24Z 2.1/2"X12 Z1.1/2°X11.5 33.9 275 785 65

|101 102]



® ®
” I i3k ADAPTER 21 BSP And BSPT Thread Fitting i % 23k ADAPTER  z%) BSP And BSPT Thread Fitting (, i

£h—
y . 1JN9 g
7
74° >4 : JICHMBLI7A° SN [ I TR HEESMBLL 90°25
fiaEi==r JICHMREIT4° S | A HEESMRLL 90° T JIC MALE 74° CONE / LONG NPT MALE 90° ELBOW
e JIC MALE 74° CONE / NPT MALE 90° ELBOW
A ®e 4% £ THREAD /2 5F DIMENSIONS
PART NO. E F A B S1
® 8 42 4 THREAD J2 <} DIMENSIONS Y1JN9-04-02L.Z 7/16"X20 Z1/8"X27 24.5 30 1"
PART NO. E E. A B S1 Y1JN9-04LZ 7/16"X20 Z1/4"X18 26.6 40.1 14
Y1JN9-02Z 5/16"X24 Z1/8"X27 21 21 1 Y1JN9-05-02LZ 1/2"X20 Z1/8"X27 26.6 31 14
Y1JN9-03-02Z 3/8"X24 Z1/8"X27 22 21 k) Y1JN9-05-04LZ 1/2"X20 Z21/4"X18 26.6 40.1 14
Y1JN9-04Z 7/16"X20 Z1/4"X18 25.6 255 14 Y1JN9-06-04LZ 9/16"X18 Z1/4"X18 26.9 40.1 14
Y1JNg-04-02Z 7116"X20 Z1/8"X27 24.5 21 11 Y1JN9-06-08L.Z 9/16"X18 Z1/2"X14 32 55.1 22
Y1JN9-04-06Z 7/16"X20 Z3/8"X18 29.5 3 19 Y1JN9-08-06LZ 3/4"X16 Z3/8"X18 32 46.2 19
Y1JNS-05-02Z 1/2"X20 Z1/8"X27 26.6 285 14 Y1JN9-08LZ 3/4"X16 Z1/2"X14 348 651 22
Y1JN9-05-04Z 1/2"X20 Z1/4"X18 256 255 14 Y1JN9-10-08LZ 7/8"X14 Z1/2"X14 378 55.1 22
Y1JN9-05-06Z 1/2"X20 Z3/18"X18 29.5 31 19 Y1JN9-12-08L.2 1.1/16"X12 Z1/2"X14 442 56.9 27
Y1JNS-06Z 9/16"X18 Z3/8"X18 29 31 19 Y1JN9-12LZ 1.1/16"X12 Z3/4"X14 442 62 27
Y1JNS-06-04Z 9/16"X18 Z1/4"X18 258 255 14 Y1JNS-16-12LZ 1.5116"X12 Z3/4"X14 49 69.9 33
Y1JN9-06-08Z 9/16"X18 Z1/2"X14 32 36.7 22 Y1JN9-16LZ 1.5/16"X12 Z1"X11.5 49 76.5 33
Y1JN9-08Z2 3/4"X16 Z1/2"X14 348 37.3 23 Y1JN9-20LZ 1.5/8"X12 Z1.1/4"X11.5 L 93.7 41
Y1JNQ-08-04Z 3/4"X16 Z1/4"X18 32 28.5 19 Y1JIN9-24L.7 1.7/8"X12 Z1.1/2"X11.5 625 104.1 48
Y1JN9-08-06Z 3/4"X16 Z3/8"X18 32 31 19 Y1JN9-32LZ 2.1/2"X12 Z2"X11.5 78 122.2 63
Y1JN9-08-12Z 3/4"X16 Z3/4"X14* 379 44 27
Y1JN9-10-06Z 7/8"X14 23/8"X18 37.8 32.5 22
Y1JN9-10-08Z 7/8"X14 Z1/2"X14 37.8 37.3 22
Y1JNS-10-12Z 718"X14 Z23/4"X14 41 44 27
Y1JN9-10-16Z 7/18"X14 Z1"X11.5 445 50 33
Y1JNG-12Z 1.1/16"X12 Z3/4"X14 442 44 27
Y1JN9-12-08Z 1.1/16"X12 Z1/2"X14 44.2 40 27
Y1JN9-12-16Z 1.1/16"X12 Z1°X11.5 49 50 33
Y1JNS-12-20Z 1.1116"X12 Z1.1/4"X11.5 52.5 54.5 41
Y1JN9-14-12Z 1.3/16"X12 Z3/4"X14 47.5 45 30
Y1JINO-14-16Z 1.3/16"X12 Z1"X11.5 48.5 50 33
Y1JNS-16Z 1.5/16"X12 Z1"X11.5 49 50 33
Y1JNS-16-12Z 1.5/16"X12 Z3/4"X14 49 51 33
Y1JINO-16-20Z 1.5/16"X12 Z21.1/4"X11.5 54 60.5 41
Y1JN9-16-24Z 1.5/16"X12 21.1/2"X11.5 58 63 48
Y1JN9-20Z 1.5/8"X12 Z1.1/4"X11.5 555 54.5 41
Y1JNS-20-16Z 1.5/8"X12 Z1"X11.5 555 59.6 41
Y1JIN9-20-24Z 1.5/8"X12 Z1.1/2"X11.5 59.4 63 48
Y1JNO-24Z 1.7/8"X12 Z1.1/2"X11.5 62.5 63 48
Y1JN9-24-20Z 1.7/8"X12 Z1.1/4"X11.5 625 63 48
Y1JN9-32-24Z 2.1/2"X12 Z1:1/2°X11.5 754 67.5 63
Y1JN9-32Z 2.1/2"X12 Z2"%X11.5 75.4 67.5 83

|103 104 |



' ’ ® ®
1L %3k ADAPTER 25 BSP And BSPT Thread Fitting it % #:3k ADAPTER %) BSP And BSPT Thread Fitting ( , ;

o 1J0 7
w2 X AJ
EHINICHMRLI74°5ME | SAE |
74=(>é - SMREITHOR B2 H51ISO 11926-3 o %J l £ ICHMBL T4 SNE =i
J%B.“_‘ JIC MALE 74° CONE / SAE O-RING i [ JIC MALE 7 4° CONE T_EE
$1 BOSS L-SERIES I1SO 11926-3 74“% JJ[ I l\ ” og7a°
®e % 7 THREAD OJF:il O-RING JU s DIMENSIONS A C

PART NO. E F Fifi A B L St
Y1J0-04-02Z 7/16"X20 5/16"X24 0902 14 9.5 275 12
Y1J0-04-03Z 7/16"X20 3/8"X24 0903 14 754 | 275 14

¥1J0-04Z 716"X20 7/16"X20 0904 14 9.1 31 14
Y1JO-04-05Z 7/16"X20 1/2'X20 0905 14 9.1 31 17 e # 4 THREAD /st DIMENSIONS
Y1J0-04-06Z 7/16"X20 9/16"X18 0906 14 10 327 17 PART NO. e F P A B c 1
¥1J0-04-08Z 7/16"X20 3/4"X16 0908 14 1.4 33 22

Y1JO-05Z 1/2"X20 1/2"%X20 0905 14 9.1 31 17 YAJ-02Z 5/16"X24 5/16"X24 5/16"X24 21 21 21 "
¥1J0-05-04Z 1/2"X20 7/16"X20 0904 14 9.1 31 14 YAJ-03Z 3/8"X24 3/8"X24 3/8"X24 22 22 22 1
Y1J0-05-06Z 1/2°X20 9/16"X18 0906 14 10 327 17

¥ . "X20 7/16"X20 24, 245 245 1
Y1JO-05-08Z 1/2"X20 3/4"X16 0908 14 14 34.7 22 GRS ats jilp 2 5

Y1JO-06Z 9/16"X18 9/16"X18 0906 14.1 10 33 17 YAJ-04-06-04Z 7116"X20 9/16"X18 7/16"X20 26.6 26.9 26.6 14
Y1JO-06-04Z 9/16"X18 7/16"X20 0904 14.1 9.1 322 17 YAJ-05-04-05Z 1/2"X20 7/16"X20 1/2"X20 26 26.6 26 14
Y¥1JO-06-052 9/16"X18 1/2"X20 0905 14.1 9.1 322 17

3 - 5 26 26 26 14
Y¥1J0-06-08Z 9/16"X18 3/4"X16 0908 141 114 33 22 ol e 1Ex20 Yoxm
Y1JO-06-10Z 9/16"X18 7/8"X14 0910 14.1 12.7 37.9 27 YAJ-06-04-062 9/16"X18 7/16"X20 9/16"X18 26.9 26.6 26.9 14
Y¥1J0-06-12Z 9/16'X18 1.1/16'X12 0912 14.1 15.1 40 32 YAJ-06Z 9/16"X18 9/16"X18 9/16"X18 26.9 26.9 26.9 14
Y1JO-08Z 3/4"X16 3/4"X16 0908 16.7 1.1 375 22 =
YAJ-06-08- 9/16"X18 3/4"X16 9/16"X18 3 32 30 19
Y1J0-08-04Z 3/4"X16 7/16"X20 0904 16.7 9.1 36.2 22 sealici] - - - -
Y1J0-08-06Z 3/4"X16 9/16"X18 0906 167 | 9.93 a7 22 YAJ-08Z 3/4"X16 3/4"X16 3/4"X16 32 32 32 19
Y1J0-08-10Z 3/4"X16 7/8"X14 0910 . 16.7 127 | 405 27 YAJ-08-06-06Z 3/4"X16 9/16"X18 9/16"X18 32 30 30 19
Y1J0-08-12Z 3/4"X16 1.1/16"X12 0912 16.7 15.1 44.7 32 VA 0B-06-08Z A 916'X18 4X16 2 20 2 19
Y1J0-08-14Z 3/4"X16 1.3/16"X12 0914 16.7 15.1 43 36 - - -

Y1JO-102 718"X14 TR o010 193 19.7 43 = YAJ-08-10-08Z 3/4"X16 7/8"X14 3/4"X16 34.8 37.8 34.8 22
Y1JO-10-08Z 7/8"X14 3/4"X16 0908 03 1.1 415 24 YAJ-08-12-08Z 3/4"X16 1.116"X12 3/4"X16 37.9 442 a7.9 27
Y1J0-10-12Z 7/8"X14 1.1/16"X12 0912 19.3 15.1 47.2 a2 YAL10Z 7%14 718"X14 P~ 5748 378 378 22
Y1JO-10-14Z 7/8"X14 1.3/16"X12 0914 19.3 15.1 455 36 - = =

Y1J0-127 1.0116'%12 | 1.1/16'X12 0912 219 | 154 50 32 YAJ-10-08-08Z 7/8"X14 3/4"X16 3/4"X16 37.8 348 348 22
Y1JO-12-08Z 1.1116"X12 3/4"X16 0908 219 1A 49.2 30 YAJ-10-08-10Z 7/8"X14 3/4"X16 7/8"X14 37.8 34.8 37.8 22
¥1J0-12-10Z 1.1/16"%12 7/8"X14 0910 21.9 127 | 50.8 30 YAI10-12-102 Z/evia A6 %12 e Y e o] 27
Y1J0-12-14Z 1.116"X12_| 1.3/16"X12 0914 21.9 15.1 48 36 - . -

Y1J0-12-162 TAEXAZ [ 51D 0916 g e 71 38 YAJ-12Z 1.1/16"X12 1.116"X12 1.116"X12 442 44.2 44.2 27

Y1JO-14Z 1.316"%12_| 1.3/16"X12 0914 226 151 50.5 36 YAJ-12-08-12Z 1.1116"X12 3/4"X16 1.1/16"X12 442 37.9 44.2 27
v:ngnz 13’”"::; :-;:12";‘(12 0912 220 Bt RS0 B2 YAJ-12-10-12Z 1.1116"X12 7/8"X14 11/16'X12 | 442 41 44,2 27
Y1JO-14-16Z 1.3/16" 5/16"X1 0916 226 | 1541 50.5 38 = =

T LEIETAD | 1562 =T T T e 38 YAJ-12-16-12Z 1.1116"X12 1.5/16"X12 1.1/16"X12 48 49 48 33
Y1J0-16-12Z 1.516"X12_| 1.1/16"X12 0912 231 151 52 36 YAJ-14Z 1.3/16"X12 1.3/16"X12 1.3/16"X12 475 475 475 30
Y1J0-16-14Z 1.516"X12 | 1.3/16"X12 0914 231 15.1 49 36 YAI16Z 1516'X12 1516 %12 TEM6%12 29 29 29 3
Y1JO-16-20Z 1.5/16"X12 1.5/8"X12 0920 231 15.1 52.7 50 = = .

110207 1 5/8"%12 1.5/8"X12 o 243 15.1 = 20 YAJ-16-12-16Z 1.5(16"X12 1.116"%12 1.5/16"X12 49 48 49 33
¥1JO-20-16Z 1.5/8"X12 1.5/16"X12 0916 243 | 151 565 46 YAJ-20Z 1.5/8"X12 1.5/8"%12 1.5/8"X12 56.5 565 56.5 41
¥1J0-20-24Z 1.5/8"X12 1.7/8"X12 0924 243 15.1 56.8 55 YAJ-20-16-20Z 1.5/8"X12 1.5/16"X12 1.5/8"X12 56.5 54 56.5 41

Y1J0-24Z 1.7/8"X12 1.7/8"X12 0924 215 15.1 60 55 - = = =
10024207 T T 0820 T 5 ] e YAJ-24Z 1.7/8"X12 1.7/8"X12 1.7/8"X12 625 625 62.5 48
Y1J0-24-327 1.7/8"X12 2.1/2"X12 0932 275 15.1 64.1 70 YAJ-32Z 2.1/2"X12 2.1/2"X12 2.1/2"X12 78 78 78 63

Y1J0-32Z 2.1/2"X12 2.1/2"X12 0932 33.9 15.1 70.5 70

|105 106 |



® ®
” I 5ty s ADAPTER &) BSPAnd BSPT Thread Fitting L% 23k ADAPTER  #) BSP And BSPT Thread Fitting ” i

5
A B
2 % ; 1F
ZEHJICHIBLT4 A =8 e =Tl =
JIC FEMALE 74° SEAT TEE I EHIORFSHMEL O B F M EH
ORFS MALE O-RING
RE # 2 THREAD J¢ ' DIMENSIONS s1
PART NO. E F G ABC | s1 $2,53,54
Y DJ-04Z 716°X20 7116"X20 7116°X20 9 11 14
Y DJ-05Z 1/2'X20 112'%20 112'X20 95 1 17 = e T e
YDJ-06Z 9/16"X18 9/16"X18 916"X18 10 14 19 PART NO. = - =y = = = g e
YDJ-08Z 3/4"X16 3/4"X16 HATX16 il is B Y1F-04Z 9/16'X18 9/116"X18 0011 0011 10 | 10 | 275 | 17
Y¥DJ-10Z 7/8"X14 7I8"X14 7/8"X14 13 22 2/ Y1F-04-06Z 9/16"X18 1116'X16 001 0012 10 | 12 | 207 | 19
YDJ12Z 11612 | 141612 1.116'X12 14.5 24 32 VBT S e ot B T G e
YDJ-16Z 1516'X12 | 1.5/16"X12 1.516"X12 15.18 33 41 e e = T TTRRITE T
Y1F-06-08Z 1M16'X16 | 1316'X16 0012 0014 12 | 13 | 338 | 22
Y1F-06-10Z 111616 1"X14 0012 0016 12 | 155 | 38 | 27
Y1F-08Z 1316'X16 | 13/16"X16 0014 0014 13 | 13 | 354 | 22
YAF-08-10Z 13/16"X16 1"X14 0014 0016 13 | 155 | 40 | o7
Y1F08-127 1316'X16 | 1.3/16'X12 0014 0018 13| 17 | 48 | 32
YF-10Z 1"X14 1"X14 0016 |. 0016 155 | 155 | 425 | 27
Y1F-10-12Z 1"X14 1316'X12 0016 0018 155 | 17 | 455 | a2
YiF-12z 1.316'X12 | 1.3/16'X12 0018 0018 7 | 17 | 471 | 32
Y1F-12-16Z 1.316"X12 | 1.7/16"X12 0018 0021 17 | 175 | 455 | 38
Y1F-12-20Z 1.3116"X12 | 1.11/16'X12 0018 0025 17 | 175 | 505 | 48
Y1F-162 TTAEX12 | 1.7/16'X12 0021 0021 175 | 175 | 493 | a1
Y1F-16-20Z 177612 | 1.1116'X12 0021 0025 175 | 175 | 513 | 46
Y1F-16-247 1716"X12 %12 0021 0029 {7575 iss [ iss
Y1F-20Z 1TAAEXI2 | 14116°X12 0025 0025 175 | 175 | 513 | 46
Y1F-20-247 1116"X12 2'%12 0025 0029 175 | 175 | 53 | 855
Y 1F-24Z %12 %12 0029 0029 175 | 175 | 53 | 55

|107 108 |



® ®
” I 5ty s ADAPTER &) BSPAnd BSPT Thread Fitting L% 23k ADAPTER  #) BSP And BSPT Thread Fitting ” i

% L =

1)

e

wi ( = = w o

1

PNFISMBLI 244/
ﬂﬁ“ﬂ"gﬂ 240 fﬁ 1 CB 1 CB'RNW ﬁgmﬂso“f&gﬁﬂ
1c 1C-RNW METRIC MALE 240 CONE METRIC MALE 24°CONE /
1D 1D-RNW ISO 8434-1 1DB 1DB-RNW BSP 60° CONE SEAL
705 PART NO. & THREAD T4 D1 L _DIMENSIONS
| B3 {ABODY | 4i{FASSEMBLY E E JUBEOD, FepslnE| sl s s riass
£ 5 PART NO. 8 2 THREAD HF4HZ TUBE O.D. /L < DIMENSIONS Y1CB-12-02Z | 1CB-12-02RNWZ | M12X15 | G1/8"X28 6 10 8 23 | 24 | 14 | 14
#A/4BODY | 4ffASSEMBLY| E F D1 D2 M [ 1| s1]s2]|ss 1CB-12-04Z | 1CB-12-04RNWZ | M12X15 | G1/4'x19 6 12 | o | 24 [ 28 | 19 | 1a
- 2 14 14 Y 1CB-14-02Z 1CB-14-02RNWZ M14X1.5 G1/8"X28 8 10 8 23 25 14 17
Y 1C-12Z 1C-12RNWZ | M12X1.5 | M12X1.5 6 6 10 | 52 | 1 Y1CB-14-04Z | 1CB-14-04RNWZ | M14X15 | GI/4'X19 8 121 9 | 25 | 28] 19 | 17
Y1C-14Z 1C-14RNWZ | M14X1.5 | M14X1.5 8 8 11 40 14 17 17 Y1CB-14-06Z | 1CB-14-06RNWZ | M14X1.5 | G3/8"X19 8 135] 9 24 |285] 22 | 17
Y1CB-16:04Z | 1CB-16.04RNWZ | M16X15 | GI/4'X19 10 12 | 10 | 25 [ 28 | 19 | 19
3 ” 42 | 17 [ 19 | 19 6-042
Y1C-162 1C-16RNWZ | M16X1.5 | M16X15 ] 10 L i Y1CB-16.06Z | 1CB-16-06BRNWZ | M16X15 | G3/8"X19 10 135 | 125] 25 | 33 | 22 | 19
Y1C-18Z 1C-18RNWZ | M18X1.5 | M18X1.5 12 12 14 | 43| 19| 22 | 22 Y1CB-16-08Z | 1CB-16-0BRNWZ | M16X1.5 | G1/2'X14 10 16 | 11 | 26 |32 [ 27 | 19
o 1C22RNWZ | M22X15 | M22X15 | 15 15 6 | 46 | 24 | 27 | 27 Y1CB-18-04Z | 1CB-18-04RNWZ | M18X15 | G1/4'X19 12 12 | 10 | 25 | 29 | 19 | 22
Y1CB-18-062 | 1CB-18-06RNWZ | M18X15 | Ga/'x19 12 135] 10 | 25 |305] 22 | 22
Y1C-262 1C-26RNWZ | M26X15 | M26X15 | 18 18 16 ] 48 s @ ot Y1CB-18-08Z | 1CB-18-08BRNWZ | M18X15 | G1/2'X14 12 16 | 1 | 26 | 33 | 27 | 22
Y1C-30Z 1C-30RNWZ | M30X2 | M30X2 22 22 20 | 52 | 32 | 36 [ 36 Y1CB-18-12Z | 1CB-18-12RNWZ | MIBX1.5 | Ga/d'X14 2 185 1 | 26 |365] 32 | 22
28 21 54 41 41 41 Y1CB-22-06Z 1CB-22-06RNWZ M22X1.5 G3/8"X19 15 13.5 1 26 315 24 27
JiGeo0T AETIINE S [ NCIC ) N = Y1CB-22-08Z_| 1CB-22-0BRNWZ | M22X15 | Gi/2'X14 15 16 | 12 [ 27 | 34 | 27 [ 27
Y¥1C-452 1C-45RNWZ | M45X2 | M45X2 35 35 20 | 63 | 46 | 50 | 50 Y1CB-26-08Z | 1CB-26-08RNWZ | M26X1.5 | G1/2'X14 18 16 [115] 28 | 35 | 27 | 32
Y1C-52Z 1C-52RNWZ | M52x2 | Ms52x2 42 42 21 | 66 | 55 | 60 | 60 Y1CB-26-12Z | 1CB-26-12RNWZ | M26X15 | Ga/A'X14 18 185 | 115 | 28 | 355] 32 | 32
Y1CB-30-12Z | 1CB-30-12RNWZ | MB30X2 | Ga/a"x14 22 185 | 135 | 30 | 39.5] 32 | 36
Y1D-14Z 1D-14RNWZ | M14X1.5 | M14X1.5 6 6 o 0 0 T .0 Y1CB-36-16Z | 1CB-36-16RNWZ | _M36X2_ | G1"XT1 28 | 205 145 | 31 [425] a1 | a1
Y1D-16Z 1D-16RNWZ M16X1.5 | M16X1.5 8 8 18 47 17 19 19 Y1CB-45-20Z 1CB-45-20RNWZ M45X2 G1.1/4"X11 35 205 | 155 37 45.5 50 50
’ ; ; el 40 %0 17 1 a0 | 10 | 22| 22 Y1CB.52.247 | 1CB-52-24RNWZ | _M52X2__| GL.UZX11 42 |23 [ 16 | 39 [ 50 [ 55 | 60 |

HAERIEE 1-10ENE || MEIBIES | TG Y1DB-14-04Z | 1DB-14-04RNWZ | M14X15 | G1/4"X19 3 12 | 13 | 28 [ 30 | 19 ] 17
Y1D-20Z 1D-20RNWZ | M20X1.5 | M20X15 [ 12 12 19 | 51 | 22 [ 24 | 24 Y1DB-16-04Z | 1DB-16-04RNWZ | M16X1.5 | G1/4'X19 8 12 | 13 | 28 | 32 | 19 | 19
Y1D-22Z 1D-22RNWZ | M22X15 | M22X15 | 14 14 2 | 57 | 24 | 271 | 27 Y1DB-16-06Z | 1DB-16-06RNWZ | M16X1.5 | G3/8'X19 8 135 | 15 | 32 | 355] 22 | 19
YiDB-18-04Z | 1DB-18-04RNWZ | M18X15 | GI/4"'X19 10 12 [125] 29 [ 32 [ 19 | 22
YiD-24Z 1D-24RNWZ | M24X1.5 | M24X1.5 | 16 28 Gl S KL s T Y1DB-18-062 | 1DB-18-06RNWZ | M18X1.5 | Ga/g"x19 10 135 | 145 31 | 335 22 | 22
Y1D-30Z 1D-30RNWZ | M30x2 | M30x2 20 20 23 66 32 | 36 | 36 Y1DB-18-08Z | 1DB-18-08RNWZ | M18X1.5 | G1/2'X14 10 16 |145] 31 | 36 | 27 | 22
TV T s Sy - TR BT Y1DB-20-04Z | 1DB-20-04RNWZ | M20X1.5 | G1/4"X18 12 12 | 145] 31 | 34 | 22 | 24
hhabeia o iy Y1DB-20-06Z | 1DB-20-06RNWZ | M20X15 | G3/8'X18 12 | 135|145 31 |355] 22 | 24
Y1D-42Z 1D-42RNWZ [ M42X2 | M42x2 30 30 27 | 80 | 46 | S0 Y1DB-20-08Z | 1DB-20-08BRNWZ | M20X15 | G1/2°X14 12 16 | 145] 31 | 38 | 27 | 24
YiD-52Z 1D-52RNWZ | Ms2x2 | Ms2x2 a8 38 20 | 90 | 55 | 60 | 0 Y1DB-22-087 | 1DB-22-0BRNWZ | M22X15 | G1/2'X14 14 16 | 16 | 34 [ 40 | 27 | 27
Y1DB-24-062 | 1DB-24-06RNWZ | M24X1.5 | Ga/8"x19 16 13.5 | 155 | 34 | 375] 27 | 30
Y1DB-24-08Z | 1DB-24-08RNWZ | M24X1.5 | G1/2°x14 16 16 | 155 34 | 40 | 27 | 30
Y1DB-24-12Z | 1DB-24-12RNWZ | M2ax1.5 | G/4'X14 16 18.5 | 17.5| 36 | 445] 32 | 30
YiDB-30-12Z_| 1DB-30-12RNWZ | _M30X2 | Ga/ax14 20 185 [ 175] 39 485 32 | 36
Y1DB-36-08Z 1DB-36-08RNWZ M36X2 G1/2"X14 25 16 19 43 48 41 46
YiDB-36-12Z | 1DB36-12RNWZ | _M36X2 | Ga/a'X1a 25 185 19 | 43 | 505 41 | 46
Y1DB-36-16Z | 1DB-36-16RNWZ | M36X2 | G1"X11 25 | 205 | 20 | 44 | 525] 41 | 46
Y1DB4220Z | 1DB4220RNWZ | Ma2x2 | G1.1/4"X11 30 | 205|215 48 | 545] 50 | 50
Y1DB-52-24Z 1DB-52-24RNWZ M52X2 G1.1/2"X11 38 23 23 54 62 55 60

|109 110



®
SAE#:* SAE Flange

b

FL
FS
SAE MFFE=R
SAE SPLIT FLANGE CLAMP

e 24 Ji <} DIMENSIONS AE

PART NO. FLANGE SIZE Al B A h [ ™ [ N BOLT

3000PSI

YFL-08Z 1/2" 54 456 9 6.2 38.1 17.5 MBX25
YFL-12Z 3/4" 65.6 51.8 1" 6.2 47.6 222 M10X30
YFL-16Z 15 70.5 58.4 11 7.5 524 | 262 M10X30
YFL-20Z 1.1/4" 79 726 11 7.5 58.7 30.2 M10X30
YFL-24Z 1.1/2" 94 82.2 13.5 7.5 69.9 35.7 M12X35
YFL-32Z Z" 102 96.4 13.5 9 77.8 42.9 M12X35
YFL-40Z 2.1/2" 15 | 108.2 | 135 9 88.9 | 50.8 M12X40
YFL-48Z 3 134.4 | 130.6 17 9 106.4 | 61.9 M16X50

6000PSI :

YFS-08Z 1/2" 56.8 47.2 9 T2 40.5 18.2 M8X30
YFS-12Z 3/4" 70.8 60 " 8.26 50.8 23.8 M10X35
YFS-16Z 1" 81.15 | 69.6 13 9 57.2 27.8 M12X45
YFS-20NZ 1.1/4" 96.68 | 77.2 13 9.8 66.6 31.8 M12X45
YFS-20Z 1.1/4" 96.68 | 77.2 15 9.8 66.6 31.8 M14X50
YFS-24Z 1.1/2" 113.38 95 17 12 794 36.6 M16X55
YFS-32Z 2 133 113.8 21 12 96.8 44.4 M20X70

7 AT H1TITHR. The bolt need ordered another.

111




